
Material
Bestan
d Einheit

00.2515.0124 Faserlaser SPI 20W SP-20P-HS-B-A-A-A 1,00 ST
00.2533.0154 Kegelrollenlager TDO 82587/82951 4,00 ST
00.2219.5950 LIQUIFANT  FTL 160 54,00 ST
00.2559.6112 Frequenzumrichter Typ: E82MV7524B001 4,00 ST
00.2533.0174 Vorspannkeil INA VUSZ 24 084 8,00 ST
00.2553.0346 RIEMENSCHEIBE 18-RILL. ä70X   / BOHR.28 9,00 ST
00.2537.0018 Zangenarm Nr. 03438266 2,00 ST
00.1269.8110 KUGELFUEHRUNG SR 6100 8,00 ST
00.2171.2396 GF-PVC-KUGELHAHN    546 D63NW50 26,00 ST
00.2533.0170 Rollenumlaufschuh INA PR 14 089 KS 4,00 ST
00.1260.4499 NADELLAGER NA 6914 22,00 ST
00.2502.1704 LAUFRAD TEIL 230 F.RCNKU 80/250 CS 1,00 ST
00.2541.0038 Control Unit Siemens 6SL3244-0BA21-1PA0 1,00 ST
00.2553.0206 RIEMENSCHEIBE 3-RILL. ä190X54 / BOHR.75 10,00 ST
00.2580.4290 WICKELMODUL TYP: BW4040 4,00 ST
00.2222.3556 ZENTRALBAUGRUPPE 6ES7315-1AF03-OABO 3,00 ST
00.2508.1394 TRANSPORTBAND 330X4640 UNITRANS SUPERGR.10,00 ST
00.2502.1016 PUMPE FABR.ALMATEC TYP: A08 UTT 3,00 ST
00.2531.6030 PN-SCHALTGRUPPE M.ROLLE 20 D. EL=740 5,00 ST
00.2502.5210 LAMELLEN TEIL 3 FÜR CLFG 101 37,00 ST
00.2500.0672 SERVOMOTOR TYP: 1FT5064-OAK01-2-Z 1,00 ST
00.2225.0178 NÄHERUNGSSCHALTER SME-3-LED-24 16,00 ST
00.1286.5157 DESTACO-SPANNER 8007-2F-OZ 6,00 ST
00.2115.0040 KOLBENSCHIEBERVENTIL KVN DN 100 PN 16 5,00 ST
00.2115.2060 SCHIEBER M. FLANSCH OV.  PN 16 DN 150 4,00 ST
00.2531.7010 KUGELGEWINDETRIEB R 1205 G5 NR.RSS019182 1,00 ST
00.2541.0042 Kompaktregler HCS02.1E-W0054-A-03-NNNN 1,00 ST
00.2221.2082 LEISTUNGSSCHUETZ 3RT1066-6AP36 AC/DC240V3,00 ST
00.2115.0026 KOLBENSCHIEBERVENTIL KVN DN 65 PN 16 8,00 ST
00.2553.0344 RIEMENSCHEIBE 3-RILL. ä102X54 / BOHR.38 9,00 ST
00.1251.4090 SCHRAEGKUGELLAGER 7310 BECBP 21,00 ST
00.1724.6624 KOERPER F.SPRITZAPP. NR. S-116-1 9,00 ST
00.2553.0470 RIEMENSCHEIBE 2X3-R.  ä184X114/ BOHR.40 3,00 ST
00.1724.6510 VERSCHRAUBUNG PASTE    HC614-D   1/4" 70,00 ST
00.2115.2028 SCHIEBER M. FLANSCH OV.  PN 16 DN  65 7,00 ST
00.2500.0938 DREHZAHLWAECHTER TYP: ALNI 6 3,00 ST
00.1260.4494 NADELLAGER NA 6907 50,00 ST
00.2500.0680 SERVOMOTOR 3000  0,5KW  WD14  IUG14 1,00 ST
00.2578.2630 DREHMELDER V23401      110/90V 50HZ 3,00 ST
00.2556.0080 SPANNZYLINDER ä25 15,00 ST
00.2500.0650 KLAPPENSTELLMOTOR TYP: VD 1 2,00 ST
00.1251.4084 SCHRAEGKUGELLAGER 7217 BECBP 11,00 ST
00.2115.0020 KOLBENSCHIEBERVENTIL KVN DN 50 PN 16 7,00 ST
00.1251.4066 SCHRAEGKUGELLAGER 7026 ACDGA/P4A 2,00 ST
00.2508.1510 FUEHRUNGWAGEN 1671-394-10  35/90GKLN 2,00 ST
00.2115.0032 KOLBENSCHIEBERVENTIL KVN DN 80 PN 16 4,00 ST
00.2115.2380 VENTIL MIT MEMBRANE      PN 10 DN  50 4,00 ST
00.1260.4498 NADELLAGER NA 6912 19,00 ST
00.2553.0472 RIEMENSCHEIBE 2X3-R.  ä116X117/ BOHR.38 3,00 ST
00.2115.2040 SCHIEBER M. FLANSCH OV.  PN 16 DN 100 5,00 ST
00.2580.3420 DUESE TYP: F3616.924.16 94,00 ST



00.1269.8120 KUGELFUEHRUNG 15X30 5N3308/15B 7,00 ST
00.2500.0610 SCHRITTMOTOR M. GETRIEBE 10:1  WD20 1,00 ST
00.1261.8260 STUETZROLLE NUTR 2052 - INA 34,00 ST
00.2584.4168 FUEHLER IVT 5 3,00 ST
00.2521.0330 MOTOR-D/G 0,066KW 1320/I:28 B3 3,00 ST
00.2115.0050 KOLBENSCHIEBERVENTIL KVN DN 125 PN 16 2,00 ST
00.2502.0900 EURODOSIERPUMPE EMPA 2000 1,00 ST
00.1286.2150 ROLLENKETTE VIERFACH   1/2 X 5/16 15,00 M
00.2564.2684 BOER-VERSTAERKER    TYP: 7641 4,00 ST
00.2115.2052 SCHIEBER M. FLANSCH OV.  PN 16 DN 125 3,00 ST
00.2563.5110 SIEGLING-RIEMEN  80X2100 TYP: LT 10 11,00 ST
00.2500.1106 DREHMAGNET TYP: 316295 2,00 ST
00.2115.2032 SCHIEBER M. FLANSCH OV.  PN 16 DN  80 5,00 ST
00.2115.2020 SCHIEBER M. FLANSCH OV.  PN 16 DN  50 7,00 ST
00.2221.2092 LEISTUNGSSCHUETZ 3RT1076-6AP36 AC/DC240V1,00 ST
00.2553.0412 RIEMENSCHEIBE 6-RILL. ä100X80 / BOHR.42 4,00 ST
00.1581.4566 TOPFMANSCHETTE     10-20,4-8 341,00 ST
00.1253.2090 ZYLINDERROLLENLAGER NU 2310 - DIN 5412 11,00 ST
00.1261.8258 STUETZROLLE NATV 35 X - INA 16,00 ST
00.2553.0349 RIEMENSCHEIBE 4-RILL. ä115   /BOHR.42 4,00 ST
00.1261.8650 KURVENROLLE KR 22 PP 45,00 ST
00.2553.0384 RIEMENSCHEIBE 3-RILL. ä190X54 / BOHR.28 3,00 ST
00.2115.0008 KOLBENSCHIEBERVENTIL KVN DN 20 PN 16 9,00 ST
00.1280.8058 Magnetventil Festo MF-2-1/8-S-SA 4,00 ST
00.2115.2396 VENTIL MIT MEMBRANE      PN 10 DN 100 2,00 ST
00.1250.6462 RILLENKUGELLAGER 6216-2RS1 DIN 625 16,00 ST
00.2115.2016 SCHIEBER M. FLANSCH OV.  PN 16 DN  40 6,00 ST
00.1260.4550 NADELLAGER RSTO 6 TN 145,00 ST
00.1260.4480 NADELLAGER NKIS 70 11,00 ST
00.1286.5159 DESTACO-SPANNER 8007-2F 2,00 ST
00.2553.0338 RIEMENSCHEIBE 3,00 ST
00.2144.0010 MAGNETVENTIL TYP: EV225B 3,00 ST
00.1261.8050 STUETZROLLE RST 06X 109,00 ST
00.1254.8254 KEGELROLLENLAGER 33117  - DIN 720 3,00 ST
00.1261.8540 KURVENROLLE KR 19 X 36,00 ST
00.2536.0022 Busteilnehmer, 0930 DSL 108 2,00 ST
00.2553.0360 RIEMENSCHEIBE 4-RILL. ä204X51 / BOHR.38 8,00 ST
00.1250.6292 RILLENKUGELLAGER 6209-Z-DB DIN625 PAARW. 5,00 PAA
00.2144.0030 MAGNETVENTIL AHMV-R 1/2" 2/2-WEGE 4,00 ST
00.2223.4156 NÄHERUNGSSCHALTER IFA-2002-FRKG/V4A 14,00 ST
00.2225.0140 SEM-SIL.KL.GL.RICHT SKBA B 500/ 25,00 ST
00.2521.0304 MOTOR-D/G  0,016KW 1250/I=5  B5  WD12 2,00 ST
00.1250.6456 RILLENKUGELLAGER 6215-2RS DIN 625 16,00 ST
00.1260.4288 NADEL-AXIALKUGELLAGER NKX 35Z - SKF 19,00 ST
00.2223.4046 NÄHERUNGSSCHALTER IF-2002-ABOW 16,00 ST
00.2223.4052 NÄHERUNGSSCHALTER IAE-2010-FBOA 13,00 ST
00.2508.1478 ZAHNRIEMEN L=4460 MM ANTISTATISCH 2,00 ST
00.2553.0708 STOSSDÄMPFER IMPACT CUSHIONEER 1" 2,00 ST
00.2115.2390 VENTIL MIT MEMBRANE      PN 10 DN  65 2,00 ST
00.1280.8020 PN-VENTIL FESTO A-5-1/4   5/2-W. 2,00 ST
00.2570.1400 MOTOR-D/G  0,12KW  1360/20:1 B5  WD12 1,00 ST
00.1260.4492 NADELLAGER NA 4905 52,00 ST
00.2115.2394 VENTIL MIT MEMBRANE      PN 10 DN  80 2,00 ST



00.1256.2002 PENDELROLLENLAGER 21311 7,00 ST
00.2564.2670 VERSTAERKER TYP: VS 3/71  FABR. LEUZE 2,00 ST
00.2115.0014 KOLBENSCHIEBERVENTIL KVN DN 32 PN 16 5,00 ST
00.2115.0016 KOLBENSCHIEBERVENTIL KVN DN 40 PN 16 5,00 ST
00.1581.4600 TOPFMANSCHETTE HSP 1/14 644,00 ST
00.2115.0060 KOLBENSCHIEBERVENTIL KVN DN 150 PN 16 1,00 ST
00.2578.2600 LAUFWAECHTER-KONTROLLGERAET LWKD 7.41-142,00 ST
00.1260.4502 NADELLAGER RNA 6914 11,00 ST
00.2223.4050 NÄHERUNGSSCHALTER IA-2010-ABOA INDUKTIV13,00 ST
00.2223.4138 Näherungsschalter PTB03ATEX 2146 10,00 ST
00.1724.6709 KAPPE NR. S-108-11 21,00 ST
00.2553.0377 RIEMENSCHEIBE         ä135X80 / BOHR.38 2,00 ST
00.2550.1050 PARALLELGREIFER TYP: HGP-16-A-B 2,00 ST
00.1520.3390 BREITKEILRIEMEN    42X11X1720 18,00 ST
00.2144.0000 MAGNETVENTIL SVS 13/2 KD 1/2" 3,00 ST
00.1280.8090 PN-VENTIL FESTO JP-4-1/4  4/2-W. 6,00 ST
00.2223.4040 NÄHERUNGSSCHALTER IFR-08.82.05/S10-639 11,00 ST
00.1252.8110 ZYLINDERROLLENLAGER NU 2216 ECp- DIN5412 6,00 ST
00.1256.2006 PENDELROLLENLAGER 22206 C/W33 12,00 ST
00.1724.6700 RUECKSCHLAGVENTIL NR. HDP-01.24 16,00 ST
00.1280.8060 PN-VENTIL REXROTH   5776275280  4/2-W. 5,00 ST
00.2150.6000 VERSCHRAUBUNG TE 4-LLR 31,00 ST
00.2502.0902 PUMPE TYP: CEA 80/5  0,75KW  2800 U/MIN 1,00 ST
00.2556.0302 LAMELLE AUSSEN NR.3-100-093-11-001-000 2,00 ST
00.1299.9550 GELENKWELLE AUSZIEHBAR NR.416 3,00 ST
00.1269.4002 LINEARLAGEREINHEIT LUCD 30 2LS 8,00 ST
00.1280.8030 PN-VENTIL FESTO R-5-1/4   5/2-W. 4,00 ST
00.1286.2302 ROLLENKETTE DREIFACH   3/4 X 7/16 10,00 M
00.2508.1542 Zahnriemen 8T5/1140 mm Celloflex besch. 19,00 ST
00.1520.3032 SPEZIAL-KEILRIEMEN     NU-T-LINK  A/13 20,00 M
00.1261.8254 STUETZROLLE NATV 25 PP - INA 16,00 ST
00.2223.4114 NÄHERUNGSSCHALTER IFR-10.82.05  NAMUR 33,00 ST
00.2531.0288 PN-ZYLINDER WESTINGH. 300 009 6506 2,00 ST
00.1252.0190 GELENKLAGER  GE 60 ES 2RS DIN648 14,00 ST
00.1400.0196 RIVOLTA SKD 16 Kettenspray 31,00 ST
00.2225.0016 NETZGERAET SITOP-Power 6EP1436-1SL11 3,00 ST
00.1252.6150 ZYLINDERROLLENLAGER NU 1008 - DIN 5412 9,00 ST
00.1280.8035 PN-HANDHEBELVENTIL FESTO Typ: H-3-1/4-B 6,00 ST
00.1260.4500 NADELLAGER RNA 6913 9,00 ST
00.1261.8580 KURVENROLLE NUKR 80 6,00 ST
00.1259.2220 SPANNSATZ 70X110 PSV 2001 7,00 ST
00.1261.8564 KURVENROLLE KPV 30 PP 19,00 ST
00.1724.6628 DUESENNADEL NR. S-108-36 HARTMET. 5,00 ST
00.2223.4144 NÄHERUNGSSCHALTER IN-3004 APOG 24DC 16,00 ST
00.2502.1720 GLEITRING TEIL 472 F.RCNKU 80/250 CS 2,00 ST
00.1724.6514 VERSCHRAUBUNG PASTE    HC615-D   3/8" 19,00 ST
00.2223.4068 NÄHERUNGSSCHALTER IN-2002 RBBOW 11,00 ST
00.1261.8556 KURVENROLLE KR 35 PPX 16,00 ST
00.2541.0028 Control Unit Siemens 6SL3244-0BA20-1BAO 1,00 ST
00.1724.6726 TONNENDUESEN 90 GRAD Nr.105902 38,00 ST
00.2115.6010 SCHMUTZFAENGER FLANSCH   PN 16 DN  25 15,00 ST
00.1280.8038 PN-HANDHEBELVENTIL AIRTEC 5/3-WEGE 5,00 ST
00.2217.0902 Mono-Akku, Fabr.: Ansmann 20,00 ST



00.1724.5000 HOCHDRUCK-DOSIERPISTOLE TYP: WIDO SPRAY1,00 ST
00.1261.8800 FUEHRUNGSROLLE FRNR 19 12,00 ST
00.2171.2392 GF-PVC-KUGELHAHN    546 D50NW40 7,00 ST
00.1286.3037 ROLLENKETTE DREIFACH   3/8 X 7/32 15,00 M
00.2221.2152 LEISTUNGSSCHUETZ 3RT1026-1BB40 6,00 ST
00.1724.6756 STUTZEN NR. HDP-01.10 18,00 ST
00.2571.6110 MAGNETVENTIL TYP D 018EG4 2,00 ST
00.2502.1734 WELLENHUELSE TEIL 523 F.RCNKU 80/250 CS 1,00 ST
00.2502.1722 GEGENRING TEIL 475 F.RCNKU 80/250 CS 2,00 ST
00.2223.4190 NÄHERUNGSSCHALTER IFA-2004-FRKG/US 10,00 ST
00.1251.6042 SCHRAEGKUGELLAGER 3210 DIN 628 10,00 ST
00.2115.2610 MEMBRANE ZU VENTIL ND10 NW250, QUAL."K" 3,00 ST
00.2144.0022 MAGNETVENTIL 207-A-06-B 1/4" 2/2-WEGE 6,00 ST
00.1520.3697 SCHMALKEILRIEMEN - SPB 16,5X3550 LW 18,00 ST
00.2508.1540 Zahnriemen 8T5/1200 mm Celloflex besch. 15,00 ST
00.2553.0347 RIEMENSCHEIBE 4-RILL. ä75X50/BOHR.35 2,00 ST
00.1261.8256 STUETZROLLE NATR 17 PPX - INA 18,00 ST
00.2214.5322 KLEMMADAPTER 24-POLIG 10,00 ST
00.2552.8012 STOSSDÄMPFER ASM 3/8 X 1, HUB: 25,4 MM 4,00 ST
00.2223.3442 NÄHERUNGSSCHALTER IN-2004-RBBOW 10,00 ST
00.2553.0390 RIEMENSCHEIBE 6-RILL. ä164X75 / BOHR.42 6,00 ST
00.2504.6006 FILTERMEDIUM ROLLE  SP 500  B=2M/L=20MM 40,00 M2
00.1281.0050 PN-RUECKSCHLAGVENTIL  FESTO 1/4 10,00 ST
00.2115.0010 KOLBENSCHIEBERVENTIL KVN DN 25 PN 16 4,00 ST
00.2115.2370 VENTIL MIT MEMBRANE      PN 10 DN  40 2,00 ST
00.1280.8094 PN-VENTIL HERION 2631021  5/2-W. 2,00 ST
00.2533.0162 Zylinderrollenlager NJ 222 2,00 ST
00.2144.0012 MAGNETVENTIL SVS 40/2 KD  CONCORDIA 1,00 ST
00.1280.8064 PN-VENTIL FESTO JMC-4-1/4 4/2-W. 2,00 ST
00.2536.0008 GREIFERSCHLITTEN SLT-16-40-P-A-CC 1,00 ST
00.2554.2094 MITNEHMERNASE 2,00 ST
00.2502.2006 MEMBRANE NR.15 AUSF.PTFE  DEPA DL25FA 3,00 ST
00.2580.3810 LAGERBOCK F.SCHUBSTANGE WARENBEWEGUNG2,00 ST
00.2508.1476 ZAHNRIEMEN L= 900 MM ANTISTATISCH 5,00 ST
00.1280.8072 PN-VENTIL FESTO MFH-5-1/8 5/2-W. 6,00 ST
00.1251.6048 SCHRAEGKUGELLAGER 3212A-2RS1 TN9-MT33 5,00 ST
00.2115.2570 MEMBRANE ZU VENTIL     TYP U   DN  50 11,00 ST
00.1260.4264 NADEL-AXIALKUGELLAGER NKX 30Z - SKF 12,00 ST
00.1261.8802 FUEHRUNGSROLLE FRN 19 6,00 ST
00.2223.4194 NÄHERUNGSSCHALTER IN-3004-BPKG/AS 12,00 ST
00.2580.4098 LAUFRAD NR.233  F. SSP-20-13/2-0,55-0,75 8,00 ST
00.2536.0020 SENSORBOX EINGAENGE IBD 8/16E T5 2,00 ST
00.2223.4036 NÄHERUNGSSCHALTER IW-3008-APKG 9,00 ST
00.1261.8648 KURVENROLLE KR 16 PPX 22,00 ST
00.1280.9004 REGULIERVENTIL M2H25F  PN16 1,00 ST
00.2131.2228 Wartungseinheit LRF-1/4-D-MINI-KC;185733 5,00 ST
00.2531.0340 HY-ZYLINDER HYDAIR ZU100-S-50-550-DBB 1,00 ST
00.2222.6590 RELAIS MURR TYP: RMME11/24VDC/24VAC 20,00 ST
00.1281.2688 HOCHDRUCKSCHLAUCH 12X2 30,00 M
00.2225.0174 NÄHERUNGSSCHALTER SMEO-1-LED-24 10,00 ST
00.2553.0208 RIEMENSCHEIBE 3-RILL. ä126X115/ BOHR.42 4,00 ST
00.1261.8210 STUETZROLLE NATR 5 PPX - INA 38,00 ST
00.1284.4030 HUBZAEHLER      TYP: H 400.010 AO 2 A 4,00 ST



00.1280.8122 PN-VENTIL FESTO VS-4-1/8  TYP: 3394 3,00 ST
00.1257.0640 AX.RILLENKUGELLAGER DIN 711 - 513 12 6,00 ST
00.1724.6614 TOPFMANSCHETTE NR. S-101-10 70,00 ST
00.2531.0284 HY-ZYLINDER REXROTH CD 250 B50/36-200B 1,00 ST
00.2171.2368 GF-PVC-KUGELHAHN    546 D63-2'' 4,00 ST
00.2150.5070 ERM-ANSCHLUSSSTUTZEN EL15-PL 23,00 ST
00.2502.5094 STAUBABSCHEIDER VAKUUMD. TYP: ZFP 14511 3,00 ST
00.1280.8128 PN-VENTIL HOERBIG. S9311-1/4  3/2-W. 6,00 ST
00.2553.0382 RIEMENSCHEIBE 6-RILL. ä100X80 / BOHR.38 2,00 ST
00.2221.2040 LEISTUNGSSCHUETZ 3RT1036-1AP00 4,00 ST
00.2225.0142 GLEICHRICHTER ABM      TYP: 7942 S G30 15,00 ST
00.2223.2004 GRENZTASTER AUFBAU TYP: NO1 R 7,00 ST
00.1724.6760 ZYLINDERFLANSCH NR.103128 10,00 ST
00.2531.0026 PARKER-PRESSARMATUR TYP:1CA48-18-10 15,934,00 ST
00.2554.0158 KUPPLUNGSTEIL G NR. Z01169 2,00 ST
00.2222.3550 DIGITALAUSGABE Nr.: 6ES7322-1BH01-OAAO 2,00 ST
00.1263.0206 TIMKEN-KEGELROLLENLAGER IR 3779, AR 3720 10,00 ST
00.1280.8078 PN-VENTIL FESTO JMFH-5/2-D-1-S C 4,00 ST
00.1280.8130 PN-ZEITVERZOEG.VENT.FESTO VZB-3-1/4 3/2W 2,00 ST
00.2171.2388 GF-PVC-KUGELHAHN    546 D40NW32 7,00 ST
00.2223.4102 NÄHERUNGSSCHALTER IEA-3001-BPOG INDUKT.16,00 ST
00.1252.8098 ZYLINDERROLLENLAGER NU 2206 - DIN 5412 13,00 ST
00.2531.0454 SCHNECKENRADSATZ NR:321030/321130 RECHTS6,00 ST
00.2221.2030 LEISTUNGSSCHUETZ 3RT1035-1AP00 5,00 ST
00.1724.6728 TONNENDUESEN 120 GRAD 29,00 ST
00.1280.8056 PN-VENTIL FESTO MPYE-5-3/8-010 B 1,00 ST
00.1280.8104 DRUCKREGELVENTIL hoerb. xreii-10 1,00 ST
00.2508.1498 ZAHNRIEMEN BRECOFLEX 16T10/2540 9,00 ST
00.1281.0020 PN-BREMSVENTIL KNORR MB 1201 1,00 ST
00.1251.4080 Schrägkugellager 7216 BEGAF-SKF 3,00 ST
00.1250.8256 RILLENKUGELLAGER 6308-2Z DIN 625 11,00 ST
00.2552.3100 SPANNRING 20X42X20  F.HYDR.ZYLINDER 9,00 ST
00.1724.6618 UEBERWURFMUTTER NR. S-101-5 20,00 ST
00.2586.0407 ANTRIEBSRIEMEN 1473 15,00 ST
00.1250.6450 RILLENKUGELLAGER 6214     DIN 625 12,00 ST
00.2520.1926 MOTOR-D  0,37KW  1400 B3  WD14 1,00 ST
00.2541.0568 Nadellager NA 4832-C3 1,00 ST
00.1250.4450 RILLENKUGELLAGER 6014-2RS1C3 12,00 ST
00.2502.5162 ROTOR F. CLFG 61V NR.1486741 1,00 ST
00.2533.0158 Zylinderrollenlager NU 2224 1,00 ST
00.2508.1193 ZAHNRIEMEN SYNCHROFLEX 10T5/1500 28,00 ST
00.2552.5552 PRISMENLAUFSCHIENE 80X60X500 F.10MM KUG.2,00 ST
00.1260.4250 NADEL-AXIALKUGELLAGER NKX 20 - SKF 15,00 ST
00.2554.2234 SCHMIERVERTEILER 3-FACH  NR.35643 4,00 ST
00.1724.6742 PISTOLENKOERPER NR. HDP-01.01 5,00 ST
00.2580.4050 GLEITRING-DICHTUNG NR.433 G4 KSB 2,00 ST
00.1251.0706 RILLENKUGELLAGER 62308-2RS1 - SKF 14,00 ST
00.1251.6034 SCHRAEGKUGELLAGER 3208 DIN 628 11,00 ST
00.2521.0328 MOTOR-D/G 0,066KW 1320/I:56 B3 1,00 ST
00.2541.0036 Frequenzumrichter 6SL3224-OBE22-2UA0 1,00 ST
00.2502.1730 FEDER TEIL 477 F.RCNKU 80/250 CS 2,00 ST
00.1280.8054 PN-VENTIL FESTO MFH-5/3E-1/8-B  5/3-W. 3,00 ST
00.2150.5066 ERM-ANSCHLUSSSTUTZEN EL12-PL 25,00 ST



00.1261.8230 STUETZROLLE NATR 8 PPX - INA 32,00 ST
00.1280.8024 PN-VENTIL FESTO LRN-1/4-F-B 3,00 ST
00.1251.6026 SCHRAEGKUGELLAGER 3206 DIN 628 18,00 ST
00.1520.3136 SCHMALKEILRIEMEN - SPZ 1237 LW 68,00 ST
00.1724.6550 HAHNEN        PASTE    ZZ381-D  1/4" 8,00 ST
00.1286.2130 ROLLENKETTE DREIFACH   1/2 X 5/16 15,00 M
00.2508.1484 ZAHNRIEMEN BRECOFLEX 16T10/2780 7,00 ST
00.2502.5160 ROTOR F. CLFG 41V NR.667968 1,00 ST
00.2533.0150 Ax.RILLENKUGELLAGER DIN 711 - 512 24 2,00 ST
00.1280.8052 PN-VENTIL REXROTH   5776075280  5/2-W. 3,00 ST
00.2580.4604 FLACHSTRAHL-KUGELDUESE WF17 GRUEN 17,00 ST
00.1280.8126 PN-VENTIL HOERBIG. S9581 RF1  5/2-W. 4,00 ST
00.1260.4506 NADELLAGER RNA 6917 4,00 ST
00.2553.0724 STOSSDÄMPFER TYP: YSR-20-28 2,00 ST
00.2521.0326 MOTOR-D/G 0,066KW 1320/I:75 B3 1,00 ST
00.2225.0170 MAGNETSPULE 24V/11W     TYP: MSG-24 15,00 ST
00.2521.0318 MOTOR-D/G 0,066KW 1320/I:12 B3 1,00 ST
00.2502.1484 GLEITRING-DICHTUNG 024 Typ: 114 R 3,00 ST
00.1261.8546 KURVENROLLE KR 26 22,00 ST
00.2531.0224 FALTENBALG 45Z 5,00 ST
00.2582.1146 REFLEKTOR TYP: PL 30 20,00 ST
00.2531.0446 SCHNECKENRAD NR. 321007 - 28 ZAEHNE 13,00 ST
00.2541.0514 Motor-D/G VF49F P71 B14 0,37KW o.Bremse 1,00 ST
00.1256.2300 PENDELROLLENLAGER 22213 CCK 4,00 ST
00.2508.1441 Zahnriemen 8T5/760 Celloflex 14,00 ST
00.1280.8066 PN-VENTIL FESTO MFH-5-3,3 5/2-W. 7,00 ST
00.1281.2380 VERSCHRAUBUNG-STOP TYP: 7881 1717 3/8 6,00 ST
00.1286.2310 ROLLENKETTE ZWEIFACH   3/4 X 7/16 12,00 M
00.2509.0012 WEGEVENTIL REXROTH 4WE6E6X/EG24N9K4 1,00 ST
00.2502.1044 GLEITRING-DICHTUNG RITZ-P. 40-160 N3/2 3,00 ST
00.2171.2384 GF-PVC-KUGELHAHN    342 D32NW25 6,00 ST
00.2171.2376 GF-PVC-KUGELHAHN    546 D20NW15 10,00 ST
00.1260.4490 NADELLAGER NA 4906 22,00 ST
00.1286.2410 ROLLENKETTE T.47 159 GLIEDER.NR.20261000 4,00 ST
00.2502.5122 ROTOR F. CL40 NR.502882 1,00 ST
00.2552.5308 INDUSTRIESTOSSDAEMPFER 370/12/40 2,00 ST
00.1251.0694 Rillenkugellager 61900-2Z 35,00 ST
00.1724.6622 SPINDEL NR. S-108-10 20,00 ST
00.2502.1068 PUMPWERK KOMPL. LUTZ-P. TYP: PP-41-R-DL 1,00 ST
00.2531.0046 PARKER-PRESSARMATUR TYP:1CF48-18-10 15,931,00 ST
00.2531.0156 ZAHNRIEMENSCHEIBE NR.005760 2,00 ST
00.1724.6704 VENTILNADEL F.HOCHDRUCK-DOSIERPISTOLE 7,00 ST
00.1260.4260 NADEL-AXIALKUGELLAGER NKX 25Z - SKF 13,00 ST
00.1259.2190 SPANNSATZ 25X50 RFN 7012 17,00 ST
00.2552.5122 FALTENBALG 65X260 MM 5,00 ST
00.1261.8028 STUETZROLLE NA 2201 PPX - INA 17,00 ST
00.1254.8210 KEGELROLLENLAGER 32212A - DIN 720 4,00 ST
00.2180.0166 RKZ-BAND DRUCKLUFT AUSF.5 (D<50 MM) 60,00 M
00.2225.0118 SCHALTGERAET TYP: SG-RS 131/220V 4,00 ST
00.2531.0043 PARKER-PRESSARMATUR TYP:1CF48-12-6   9,5 52,00 ST
00.2502.5120 ROTOR F. CL60 NR.503406 1,00 ST
00.1724.6722 DUESE WOLFRAM-KARBID 0 GRAD 26,00 ST
00.2150.5062 ERM-ANSCHLUSSSTUTZEN EL 8-PL 26,00 ST



00.2171.2340 GF-PVC-KUGELHAHN    TYP 546 3/8Z 9,00 ST
00.2531.6010 FOERDERROLLE-FRIKTION  3.8 DC.JAA.L81 11,00 ST
00.1256.2298 PENDELROLLENLAGER 22209 CK 8,00 ST
00.2564.3430 SIEGLING-RIEMEN 120X4780 TYP: 80 LT 20 1,00 ST
00.1520.3720 KEILRIEMEN - XPA 2650 LW 26,00 ST
00.1520.2914 KEILRIEMEN - 5 V 1600 11,00 ST
00.2115.0006 KOLBENSCHIEBERVENTIL KVN DN 15 PN 16 3,00 ST
00.2150.6004 VERSCHRAUBUNG NL 6 DIN 2353-ST-GT 36,00 ST
00.2150.5040 ERM-DF.SCHWENK-VERSCHR.DSVW 28 PLR 14,00 ST
00.1269.8112 KUGELUMROLLKOERPER USD-K3-99 2,00 ST
00.1580.4119 WELLENDICHTRING BADUO 40X65X20 72NBR90218,00 ST
00.2531.0024 PARKER-PRESSARMATUR TYP:1CA48-15-8  12,770,00 ST
00.2223.4094 NÄHERUNGSSCHALTER IIA-3010-BPOG INDUKT.11,00 ST
00.2115.2512 MEMBRANE ZU VENTIL     TYP U   DN  25 15,00 ST
00.2502.1724 GEGENRINGTRAEGER TEIL 476 F.RCNKU 80/250 2,00 ST
00.2553.0219 LUEFTERFLUEGEL NR. 520.1600.02   ä45 4,00 ST
00.2115.2366 VENTIL MIT MENBRANE      PN 10 DN  32 2,00 ST
00.1520.3139 SCHMALKEILRIEMEN - SPZ 1320 LW 60,00 ST
00.2174.0132 PE BLINDKAPPEN         PN  6  DA110 KURZ 10,00 ST
00.2223.4098 NÄHERUNGSSCHALTER IGA-3005-BPOG INDUKT.12,00 ST
00.2580.4606 FLACHSTRAHLDUESE R1/4" TEILE-NR.069523 11,00 ST
00.2218.1278 AKKU GIGASET SL3 10,00 ST
00.1281.2620 ROTATIONSVERTEILER GF-3/8 5,00 ST
00.2502.5036 LAMELLE (ROTOR) FUER CL40 50,00 ST
00.1724.6730 DUESE WOLFRAM-KARBID 0-45 GRAD 25,00 ST
00.2223.4064 NÄHERUNGSSCHALTER IN-2002 RABOW 6,00 ST
00.1724.6716 VENTILSITZ NR. HDP-01.29 15,00 ST
00.1263.0204 TIMKEN-KEGELROLLENLAGER IR 3780, AR 3720 8,00 ST
00.2564.2678 VERSTAERKER TYP: VS 9/4.1 2,00 ST
00.1280.8004 -N-VENTIL FESTO JMEH-5/2-4,0 3,00 ST
00.2553.1702 LUEFTERFLUEGEL TYP: MEC 132V540 8,00 ST
00.2541.0566 Rillenkugellager 61832-C3 1,00 ST
00.1253.0140 ZYLINDERROLLENLAGER NU 2209 - DIN 5412 6,00 ST
00.1286.2122 ROLLENKETTE ZWEIFACH   1/2 X 5/16 15,00 M
00.2508.1442 ZAHNRIEMEN 8T5/1380 CELLOFLEX 7,00 ST
00.1252.0200 GELENKLAGER  GAC 35 F 7,00 ST
00.2531.0244 ABSENKVENTIL TYP: 1 B 12-P4W-8 SV 1,00 ST
00.1250.2072 RILLENKUGELLAGER 618/8   DIN 625 57,00 ST
00.2564.3422 SIEGLING-RIEMEN 100X5945 TYP: 80 L ENDL. 1,00 ST
00.1251.6020 SCHRAEGKUGELLAGER 3204-2RS DIN 628 12,00 ST
00.1269.8100 KUGELFUEHRUNGSSEGMENT MIT 5MM KUGELN 4,00 ST
00.1251.6044 SCHRAEGKUGELLAGER 3212A DIN628 (METALL) 4,00 ST
00.1280.8132 PN-ZEITVERZOEG.VENT.FESTO VZA-3-1/43/2W 1,00 ST
00.2180.0164 RKZ-BAND DRUCKLUFT AUSF.6 (D>50 MM) 115,00 M
00.1263.0200 TIMKEN-KEGELROLLENLAGER IR 358, AR 354A 8,00 ST
00.2505.0010 MEMBRANE NR.88015169  600 50M04 NW 50 2,00 ST
00.1250.4388 RILLENKUGELLAGER 6013-2Z  DIN 625 10,00 ST
00.2115.2606 MEMBRANE ZU VENTIL ND10 NW150, QUAL."K" 4,00 ST
00.1251.0704 RILLENKUGELLAGER 62208-2RS/C3-SKF 13,00 ST
00.1252.0038 PENDELKUGELLAGER 1303  DIN 630 22,00 ST
00.2221.2010 LEISTUNGSSCHUETZ 3RT1017-1AP00 9,00 ST
00.1250.8418 RILLENKUGELLAGER 6313     DIN 625 4,00 ST
00.1724.6540 HAHNEN        PASTE    ZZ382-D  3/8" 5,00 ST



00.2223.4100 NÄHERUNGSSCHALTER IFA-3002-BPKG INDUKT.11,00 ST
00.1281.3450 DROSSELRUECKSCHLAG-VERSCHRAUBUNG M5  D418,00 ST
00.1520.3062 KEILRIEMEN - SPZ 1312 49,00 ST
00.1250.4014 RILLENKUGELLAGER 6000-2RS DIN 625 92,00 ST
00.1279.0052 GELENKKOPF SAKAC 25M 4,00 ST
00.1724.6764 ZYLINDER NR.101168 10,00 ST
00.2536.0014 NÄHERUNGSSCHALTER SME-10-SQ-LED-24 10,00 ST
00.1280.8040 PN-VENTIL WESTINGH. 5710051100  4/2-W. 7,00 ST
00.1280.8092 PN-VENTIL HERION 8021750  3/2-W. 2,00 ST
00.2115.2364 VENTIL MIT MEMBRANE      PN 10 DN  25 2,00 ST
00.1251.0268 RILLENKUGELLAGER 4208     DIN 625 7,00 ST
00.2554.2140 BOLZEN  8X53 MM  F.STOESSELVERSTELLUNG 6,00 ST
00.2171.2360 GF-PVC-KUGELHAHN    546 D50-11/2Z 3,00 ST
00.1281.0016 Rückschlagventil Festo HGL-3/8-QS-10 6,00 ST
00.1260.4496 NADELLAGER NA 6910 3,00 ST
00.1257.0026 AX.RILLENKUGELLAGER DIN 711 - 511 06 31,00 ST
00.1261.8220 STUETZROLLE NATR 6 PPX - INA 25,00 ST
00.2221.2154 LEISTUNGSSCHUETZ 3RT1016-1BB41 9,00 ST
00.2223.4044 NÄHERUNGSSCHALTER IGA-2005-ABOA INDUKT.5,00 ST
00.2531.0044 PARKER-PRESSARMATUR TYP:1CF48-15-8  12,733,00 ST
00.1252.6130 ZYLINDERROLLENLAGER NU 208 - DIN 5412 11,00 ST
00.1724.5010 RUECKSCHLAGVENTIL NR.11.160.0 8,00 ST
00.1250.4210 RILLENKUGELLAGER 6006-2RS DIN 625 57,00 ST
00.2115.2578 MEMBRANE ZU VENTIL     TYP U   DN  65 3,00 ST
00.2502.1462 GLEITRING-DICHTUNG NUO28S1 N1181  KSB 1,00 ST
00.2150.6030 VERSCHRAUBUNG NL 28 DIN 2353-ST-GT 10,00 ST
00.1251.0700 RILLENKUGELLAGER 62207-2RS/C3-SKF 12,00 ST
00.2502.1700 WELLE TEIL 210 F.PUMPE RCNKU 80/250 CS 1,00 ST
00.2552.5304 BREMSBELAG F. BREMSE KEB 03.08 8,00 ST
00.2508.1538 Zahnriemen PowerGrip GT3  1800 8MGT 30mm 5,00 ST
00.1724.5042 ZYLINDERDECKEL NR.11.150.3 6,00 ST
00.1263.0210 TIMKEN-KEGELROLLENLAG. IR511946,AR511910 5,00 ST
00.1281.2624 SCHALLDÄMPFER U-1/4 Nr.2316 102,00 ST
00.2171.2344 GF-PVC-KUGELHAHN    546 D20-1/2'' 7,00 ST
00.1251.4086 SCHRAEGKUGELLAGER 7306 BECB 8,00 ST
00.1254.8204 KEGELROLLENLAGER 32208A - DIN 720 12,00 ST
00.1299.9532 WELLENGELENK DIN 808-G-E  8X13 NR.10002 14,00 ST
00.1280.8048 DRUCKVENTIL FESTO LRMA QS-8 Nr.153497 5,00 ST
00.1520.2912 KEILRIEMEN - 5 V 1500 9,00 ST
00.2221.4150 HILFSSCHUETZ 3RH1122-1BB40 9,00 ST
00.2144.0024 MAGNETVENTIL BEST.NR: 134324 3/4" 2,00 ST
00.1280.8034 PN-HANDHEBELVENTIL FESTO 5/2-W. H-5-1/4B 2,00 ST
00.1263.0202 TIMKEN-KEGELROLLENLAGER IR 344A, AR 332 8,00 ST
00.1724.5048 KARTUSCHENKOERPER Teil 1 NR.11.1864 7,00 ST
00.1261.8550 KURVENROLLE KR 32 PPXA 11,00 ST
00.1581.8216 NUTRING 35-50-10 20,00 ST
00.2508.1444 ZAHNRIEMEN 8T5/1075 CELLOFLEX 12,00 ST
00.2552.8040 STOSSDÄMPFER TYP: FA 1008 P1-B 6,00 ST
00.2531.6002 FOERDERROLLE-UNIVERSAL 1.7 AC.JAA.LAE 7,00 ST
00.1520.3250 SCHMALKEILRIEMEN - SPA 12,5X1357 LW 31,00 ST
00.1253.0136 ZYLINDERROLLENLAGER NU 2207 - DIN 5412 7,00 ST
00.1252.5136 Zylinderrollenlager NU 212 ECP-SKF 4,00 ST
00.2223.4062 NÄHERUNGSSCHALTER IBE-2020-FBOW 5,00 ST



00.2223.4152 Näherungsschalter IFM; IF5337 (minus) 7,00 ST
00.1253.0174 ZYLINDERROLLENLAGER N 310  - DIN 5412 2,00 ST
00.1260.4262 NADEL-AXIALKUGELLAGER NKX 45Z - SKF 5,00 ST
00.1279.0050 GELENKKOPF SIKAC 25M 3,00 ST
00.1250.6386 RILLENKUGELLAGER 6212-2Z  DIN 625 11,00 ST
00.2170.6060 GF-PVC-UE.-VERSCHR. 330D32-1'' 18,00 ST
00.1280.8032 PN-ELEKTR.SCHALTER FESTO PEN-M5 2,00 ST
00.2502.1172 LAUFRAD F.DICKOW-PUMPE WPC 251 1,00 ST
00.2223.4112 NÄHERUNGSSCHALTER IGA-3005-ANKG INDUKT.9,00 ST
00.2225.0026 TRANSFORMATOR typ: ist 473/26 400/230v 3,00 ST
00.1724.6724 DUESE WOLFRAM-KARBID 0-20 GRAD 20,00 ST
00.1251.4082 SCHRAEGKUGELLAGER 7211 BECB 4,00 ST
00.1251.8550 PENDELKUGELLAGER 2201-2RS DIN 630 12,00 ST
00.1280.8062 PN-VENTIL FESTO JMFH-5-1/4 5/2-W. 2,00 ST
00.1263.0260 TIMKEN-KEGELROLLENLAGER 23691 9,00 ST
00.1260.4270 NADELLAGER NKI 28/30 15,00 ST
00.1520.3256 SCHMALKEILRIEMEN - SPA 1382 LW 42,00 ST
00.1250.6262 RILLENKUGELLAGER 6208-2Z  DIN 625 20,00 ST
00.1251.6036 SCHRAEGKUGELLAGER 3209 DIN 628 4,00 ST
00.1286.2935 ROLLENKETTE ZWEIFACH   5/8 X 3/8 15,00 M
00.2170.6040 ROHRVERSCHRAUBUNG DIN 8063-V2-63 PVC 13,00 ST
00.1260.4265 NADELLAGER NKI 25/30 24,00 ST
00.2552.3062 GEW.BUCHSE 32X55X21  F.ZU160-FV+A-50/300 8,00 ST
00.1251.0692 RILLENKUGELLAGER 61806-2RS 12,00 ST
00.2580.4084 LEITRAD NR.171  F. SSP-20-13/2-0,55-0,75 4,00 ST
00.2234.6060 RUNDUMLEUCHTE          RKLE 220V 2,00 ST
00.2115.2510 MEMBRANE ZU VENTIL     TYP U   DN  20 5,00 ST
00.1520.3030 SPEZIAL-KEILRIEMEN     NU-T-LINK  Z/10 10,00 M
00.1254.8208 KEGELROLLENLAGER 33210  - DIN 720 8,00 ST
00.2219.5804 IMPULSZAEHLER   TYP: F 504.65 H 3,00 ST
00.1252.8102 ZYLINDERROLLENLAGER NU 2208 - DIN 5412 5,00 ST
00.1280.8096 PN-VENTIL HERION 2636000.0247 5/2-W. 2,00 ST
00.1724.5004 KOLBENFUEHRUNG KOMPL. NR.11.012.4 6,00 ST
00.2508.1452 ZAHNRIEMEN BRECOFLEX 16T5/900 5,00 ST
00.1251.6534 SCHRAEGKUGELLAGER 3308 DIN 628 3,00 ST
00.2223.4110 NÄHERUNGSSCHALTER IFA-3002-APKG INDUKT. 8,00 ST
00.1724.6768 ZYLINDERKOPF NR. HDP-01.18 6,00 ST
00.1281.0054 ABLUFTDROSSEL TYP: GRE-1/4 22,00 ST
00.1261.8250 STUETZROLLE NATV 15 PP - INA 12,00 ST
00.1260.4491 NADELLAGER NA 4903 20,00 ST
00.2554.2232 SCHMIERVERTEILER 2-FACH  NR.35642 4,00 ST
00.1250.4008 RILLENKUGELLAGER 63000-2RS DIN625 26,00 ST
00.2171.2372 GF-PVC-KUGELHAHN    546 D16WW10 7,00 ST
00.1281.2197 KUPPLUNGSDOSE  1823376000  M.AUSSENGEW.19,00 ST
00.1520.3022 KEILRIEMEN-VOLTA    VM 10 45,00 M
00.1250.6338 RILLENKUGELLAGER 6210-2RS/C3 DIN625 14,00 ST
00.1257.0074 AX.RILLENKUGELLAGER DIN 711 - 511 18 7,00 ST
00.2171.2380 GF-PVC-KUGELHAHN    546 D25NW20 5,00 ST
00.1251.0696 RILLENKUGELLAGER 61902-2RS 21,00 ST
00.1250.8324 RILLENKUGELLAGER 6310-Z   DIN 625 8,00 ST
00.1252.6146 ZYLINDERROLLENLAGER NU 1006 - DIN 5412 10,00 ST
00.1281.0046 DROSSELRÜCKSCHLAGVENTIL GRLA-1/8-PK6 16,00 ST
00.1251.0708 RILLENKUGELLAGER 62306-2RS1 DIN625 7,00 ST



00.1520.2860 KEILRIEMEN 25 X 3750 DIN 2215 8,00 ST
00.1280.8010 PN-VENTIL FESTO VL/O-3-1/2 3/2-W. 2,00 ST
00.1253.0086 ZYLINDERROLLENLAGER NUP313 - DIN 5412 2,00 ST
00.1520.2910 KEILRIEMEN - 5 V 1400 9,00 ST
00.1280.8162 SCHNELLENTLUEFTUNGSVENTIL FESTO SEU-1/46,00 ST
00.1520.3262 SCHMALKEILRIEMEN - xPA 12,5X1600 LW 26,00 ST
00.1520.3020 KEILRIEMEN-VOLTA    VM 8 50,00 M
00.2531.0444 SCHNECKENRAD NR. 321318 6,00 ST
00.2502.5104 SCHMIERPUMPE Teil 52 f.CLFG 41 1,00 ST
00.1260.4850 INNENRING    55X60X25 25,00 ST
00.1724.6620 SKALENRING NR. S-108-5 9,00 ST
00.2554.0156 ANLAUFSCHEIBE Z 22931 5,00 ST
00.1260.4820 INNENRING IR 20X25X30 - SKF 36,00 ST
00.2223.4192 NÄHERUNGSSCHALTER IGA-2008-FRKG/US 8,00 ST
00.1280.8046 PN-VENTIL HERION 2622100.0150.024.00 2,00 ST
00.1281.3000 STECKANSCHLUSS GERADE D4-L29,7-A10 93,00 ST
00.1261.8048 STUETZROLLE RNA 2203-2RSX - INA 11,00 ST
00.1724.6715 DUESE WOLFRAM-KARBID 0-65 GRAD 18,00 ST
00.1520.3120 SCHMALKEILRIEMEN - SPZ 9,5X1137 LW 42,00 ST
00.2531.6008 FOERDERROLLE-FESTANTR. 3.5 DC.JAA.L81 7,00 ST
00.2502.5118 LAMELLE (LAUFRING) NR.502248 FUER CL40 110,00 ST
00.2553.1600 LUEFTERFLUEGEL NR. C 160 MT  ä44 9,00 ST
00.1281.0056 PN-RUECKSCHLAGVENT.REXROTH 5MK-15-G-1,21,00 ST
00.2223.3440 NÄHERUNGSSCHALTER IN-3004-BPKG 24DC 6,00 ST
00.2533.0090 Nutring 230x150x15 - NA300 1,00 ST
00.2223.4060 NÄHERUNGSSCHALTER IB-2020-ABOW 4,00 ST
00.2150.4020 VERSCHRAUBUNG GL 15 DIN 2353-ST-GT 22,00 ST
00.1251.8614 PENDELKUGELLAGER 2209K DIN 630 10,00 ST
00.1582.6115 ABSTREIFER AS 140-155-9/12 16,00 ST
00.1253.2082 ZYLINDERROLLENLAGER NU 2307 - DIN 5412 6,00 ST
00.1253.0130 ZYLINDERROLLENLAGER NU 308 - DIN 5412 12,00 ST
00.1260.4840 INNENRING IR 40X50X22 - SKF 24,00 ST
00.2223.4108 NÄHERUNGSSCHALTER IIA-3010-ANKG INDUKT. 7,00 ST
00.1724.6702 STOESSEL NR. HDP-01.15 7,00 ST
00.1724.6610 KOPF NR. S-101-3A 5,00 ST
00.2225.0206 NÄHERUNGSSCHALTER SME-10-SL-LED-24 7,00 ST
00.2564.2606 SIEGLING-RIEMEN  90X3190 1,00 ST
00.2554.2194 SICHERUNGSKEIL T.6  F.HUBVERSTELLUNG 1,00 ST
00.1724.5018 ANSCHLUSS-STUECK NR.11.171.6 15,00 ST
00.2553.0252 BREMSE F.MOTOR TYP: SR 240L-80L/6BR03 1,00 ST
00.1261.8560 KURVENROLLE KR 40 PPX 5,00 ST
00.1281.0040 DROSSELRÜCKSCHLAGVENTIL FESTO GR-1/8-B 6,00 ST
00.1261.8240 STUETZROLLE NATR 12 PPX - INA 9,00 ST
00.2552.8028 OELDAEMPFER            MC 600 M 2,00 ST
00.1257.0340 AX.RILLENKUGELLAGER DIN 711 - 512 11 8,00 ST
00.1286.2160 ROLLENKETTENSTRANG 12B1 DIN8187 6,00 ST
00.2536.0016 ADAPTER F.GREIFER 2027-ME-004 1,00 ST
00.2222.5090 PUFFER-LI-BATTERIE     TYP DIS  AH 10,5 7,00 ST
00.2553.0241 LUEFTERFLUEGEL NR. 145.10974     ä45 3,00 ST
00.2531.0448 SCHNECKENRAD NR. 321010 7,00 ST
00.1281.3030 WINKELEINSCHRAUBANSCHLUSS D4 46,00 ST
00.1581.4560 TOPFMANSCHETTE DUO 12-100-35 7,00 ST
00.1254.8100 PENDELROLLENLAGER 21310 A 4,00 ST



00.1520.3696 SCHMALKEILRIEMEN - SPB 3000 LW 8,00 ST
00.1250.8388 RILLENKUGELLAGER 6312-C3 2RS DIN 625 4,00 ST
00.1251.6018 SCHRAEGKUGELLAGER 3204 DIN 628 14,00 ST
00.2580.3620 MEMBRANDRUCKPUFFER FÜR A=650 MM 1,00 ST
00.2214.5162 KLEMMADAPTER           10 POLIG 9,00 ST
00.1257.0014 AX.RILLENKUGELLAGER DIN 711 - 511 03 31,00 ST
00.2554.2054 GUMMIPUFFER  ä45X72  TEIL NR.39 4,00 ST
00.1251.8114 PENDELKUGELLAGER 1209K DIN 630 12,00 ST
00.1580.2348 WELLENDICHTRING BAUMX7 30X47X7 FKM 10,00 ST
00.2552.3060 GEW.BUCHSE 40X65X24  F.ZU-FV+A-63/300 6,00 ST
00.2554.1362 FUEHRUNGSSCHIENE FS 35/89.10.16-01 1,00 ST
00.1260.4054 NADELLAGER NKI  7/12 23,00 ST
00.2502.5124 LAMELLE (LAUFRING) NR.502367 FUER CL60 100,00 ST
00.2531.0030 PARKER-PRESSARMATUR TYP:1CE48-8-4    6,3 60,00 ST
00.1724.6638 GEWINDEBUCHSE NR. S-116-3 35,00 ST
00.2581.3999 KURVENROLLE NUKR 40 4,00 ST
00.1724.5022 ZYLINDER NR.11.148.1 5,00 ST
00.2170.6036 ROHRVERSCHRAUBUNG DIN 8063-V2-50 PVC 15,00 ST
00.1281.0058 ABLUFTDROSSEL TYP: GRE-1/8 19,00 ST
00.1280.8044 PN-VENTIL HERION 4032400.0000 4/3-W. 1,00 ST
00.1520.2904 KEILRIEMEN - 3 V 850 X 2159 22,00 ST
00.2509.0014 WEGEVENTIL REXROTH 4WE6HA6X/EG24N9K4 1,00 ST
00.2564.2676 LICHTSCHRANKE EMPF.  TYP: LS72 E.3000 2,00 ST
00.2531.0154 ZAHNRIEMENSCHEIBE NR.0005759 2,00 ST
00.1584.4458 O-RING 45,0 X 3,0 47,00 ST
00.1253.0150 ZYLINDERROLLENLAGER NU 2211 EC - DIN5412 3,00 ST
00.2556.0350 PUMPE TYP: M110 NR. 187527 1,00 ST
00.1286.2700 ROLLENKETTE ZWEIF. 8MM X 1/8  D5205B-2 10,00 M
00.1286.2120 ROLLENKETTE EINFACH    1/2 X 5/16 25,00 M
00.1281.2950 KNIESTÜCK AG M8x1; 504201K 33,00 ST
00.1520.3760 KEILRIEMEN - XPZ 1287 LW 32,00 ST
00.1257.0130 AX.RILLENKUGELLAGER DIN 711 - 511 32 1,00 ST
00.2115.6008 SCHMUTZFAENGER FLANSCH   PN 16 DN  20 6,00 ST
00.2553.0474 RIEMENSCHEIBE 2X3-R.  ä116X117/ BOHR.42 2,00 ST
00.1281.3064 WINKELSCHWENKVERSCHRAUBUNG 1/8  D8 49,00 ST
00.1252.6066 ZYLINDERROLLENLAGER NU 204 - DIN 5412 9,00 ST
00.1254.8198 KEGELROLLENLAGER 32004X - DIN 720 18,00 ST
00.1260.4300 NADEL-AXIALKUGELLAGER AX 3,5 8 16 23,00 ST
00.1520.3024 KEILRIEMEN-VOLTA 650 VH17 20,00 M
00.2502.5012 LAMELLE (ROTOR) NR.502366 FUER CL60 31,00 ST
00.1250.8386 RILLENKUGELLAGER 6312-2Z  DIN 625 4,00 ST
00.1299.9538 WELLENGELENK DIN 808-G-D 20X40 2,00 ST
00.2225.0136 VARISTOR DC 24V  3RT1916-1BB00 34,00 ST
00.1261.8586 KURVENROLLE NUKRE 72 2,00 ST
00.2554.2196 SICHERUNGSBOLZEN F.HUBVERSTELLUNG 9,00 ST
00.1724.5040 KARTUSCHENKOERPER NR.11.008.6 7,00 ST
00.2221.4050 HILFSSCHUETZ 3RH1140-1BB40 8,00 ST
00.1253.2092 ZYLINDERROLLENLAGER NU 2311 - DIN 5412 3,00 ST
00.1520.2856 KEILRIEMEN 25 X 3150 DIN 2215 9,00 ST
00.1254.8150 KEGELROLLENLAGER 30310  - DIN 720 6,00 ST
00.1281.3352 DROSSELRUECKSCHLAG-VERSCHRAUBUNG 1/4 D810,00 ST
00.2553.0697 ANKERPLATTE B42 ZU BREMSMAGNET ZFB5 3,00 ST
00.1280.8033 PN-HANDHEBELVENTIL PREMATIC VHB-3/2 2,00 ST



00.2171.2352 GF-PVC-KUGELHAHN    546 D 32-1'' 2,00 ST
00.2531.0020 PARKER-PRESSARMATUR TYP:1CA48-8-4    6,3 50,00 ST
00.2150.9040 ERM-GER.REDUZIERUNG    GR 14-10 S 7,00 ST
00.2217.0070 TRAFO ABB Typ: GZAH004072P0020 8,00 ST
00.2531.0440 SCHNECKENRAD A31, 24 ZAEHNE  NR.321024 6,00 ST
00.2553.0300 WELLENMUTTER          M16X1,5 33,00 ST
00.2144.0020 MAGNETVENTIL 281-A-25-B-MS1-220/50-F-000 1,00 ST
00.2531.0100 ZAHNRIEMENSCHEIBE-HTD P40-8M-40/CB 18P9 2,00 ST
00.2531.6012 FOERDERROLLE-FRIKTION  3.8 DC.JAA.L81 6,00 ST
00.1260.4482 NADEL-KUGELLAGER NKIB 5906 - SKF 6,00 ST
00.1520.3240 SCHMALKEILRIEMEN - SPA 12,5X1257 LW 21,00 ST
00.2553.0454 BELAGTRAEGER F.BREMSE/MOTOR DT132S4BM 2,00 ST
00.2221.2150 LEISTUNGSSCHUETZ 3RT1024-1BB40 4,00 ST
00.2170.6032 ROHRVERSCHRAUBUNG DIN 8063-V2-40 PVC 16,00 ST
00.1580.6032 WELLENDICHTRING B2  60X80X10 72NBR902-SI 30,00 ST
00.2580.4600 FLACHSTRAHL-KUGELDUESE WF 7 SCHWARZ 8,00 ST
00.1250.4274 RILLENKUGELLAGER 6008-2RS DIN 625 19,00 ST
00.1520.3152 SCHMALKEILRIEMEN - SPZ 1887 LW 22,00 ST
00.1250.6242 RILLENKUGELLAGER 6207-2RS DIN 625 19,00 ST
00.2531.0042 PARKER-PRESSARMATUR TYP:1CF48-10-6   9,5 20,00 ST
00.2554.1350 SCHEIBENBREMSE POS.36 3,00 ST
00.1281.2240 KUPPLUNG G1/4 M.INNENGEWINDE 6,00 ST
00.2580.4060 GLEITRING-DICHTUNG NR. NP1-18WR KOMPL. 2,00 ST
00.1254.8300 KEGELROLLENLAGER 639209 - DIN 720 15,00 ST
00.1250.8298 RILLENKUGELLAGER 6309-2Z  DIN 625 7,00 ST
00.2582.2218 LICHTSCHRANKE EMPF. TYP: S50-PA-2-F01-PP 4,00 ST
00.2533.0076 Wellendichtring A 380x420x20 2,00 ST
00.1279.0040 GELENKKOPF SAKAC 20M 4,00 ST
00.1250.8254 RILLENKUGELLAGER 6308-2RS DIN 625 10,00 ST
00.2508.1405 KEILRIPPENRIEMEN RB PL 954; 5 RIPPEN 8,00 ST
00.2221.4120 HILFSSCHUETZ 3RH1140-1BB40 6,00 ST
00.1520.3268 SCHMALKEILRIEMEN - xPA 1657 LW 19,00 ST
00.1209.9144 SPANNELEMENT  20 X 25 X 6,3 RFN 8006 57,00 ST
00.1250.3010 RILLENKUGELLAGER 393433-2Z 17,00 ST
00.1259.2200 SPANNSATZ 45X75 RFN 7012 6,00 ST
00.2553.0450 BREMSE F.MOTOR TYP: AF71S4 6,00 ST
00.1250.8322 RILLENKUGELLAGER 6310     DIN 625 8,00 ST
00.1280.8008 PN-VENTIL FESTO VO-3-1/8 3/2-W. 3,00 ST
00.2541.0564 Zylinderrollenlager NNCL-4916-V 1,00 ST
00.2133.1950 MANOMETER HAHN         1/2" 9,00 ST
00.1250.6420 RILLENKUGELLAGER 6213-2RS1 DIN 625 5,00 ST
00.1251.8562 PENDELKUGELLAGER 2205  DIN 630 11,00 ST
00.2500.0930 RELAIS OMRON TYP: MY4 24V DC 20,00 ST
00.1250.6046 RILLENKUGELLAGER 6201-2RS DIN 625 51,00 ST
00.2531.0190 PARKER-SCHRAUBSCHLAUCH TYP: 421SN-6 22,00 M
00.2221.2020 LEISTUNGSSCHUETZ 3RT1026-1AP00 3,00 ST
00.2212.8080 SCHMELZEINSAETZE       16 A FF 100,00 ST
00.1251.8014 PENDELKUGELLAGER 1201  DIN 630 10,00 ST
00.1281.2904 POLYAMIDROHR WVN 715-RO;  8x1,25 25,00 M
00.2501.6322 MEMBRANE POS.56 1,00 ST
00.1281.0060 PN-RUECKSCHLAGVENTIL FESTO GR-1/4 6,00 ST
00.1724.5006 KOLBEN NR.11.147.3 6,00 ST
00.1257.0624 AX.RILLENKUGELLAGER DIN 711 - 513 06 8,00 ST



00.2531.0326 DRUCKSCHALTER F. VAKUUM TYP: 7DVOEF 1,00 ST
00.1281.3350 DROSSELRUECKSCHLAG-VERSCHRAUBUNG 1/4 D69,00 ST
00.1252.6114 ZYLINDERROLLENLAGER NU 207 - DIN 5412 7,00 ST
00.2531.0036 PARKER-PRESSARMATUR TYP:1CE48-18-10 15,913,00 ST
00.1584.4182 O-RING 18,64 X 3,53 - N - NBR70 36,00 ST
00.2531.0192 PARKER-SCHRAUBSCHLAUCH TYP: 421SN-8 27,00 M
00.2150.5016 ERM-DF.SCHWENK-VERSCHR.DSVW 12 PLR 14,00 ST
00.1281.2608 SCHALLDAEMPFER    3/8" NR. 0014700 11,00 ST
00.1260.4400 NADELLAGER NKIB 5902 8,00 ST
00.1281.3010 KNIESTUECK M.KEGEL.GEW. NR.504201K 35,00 ST
00.2223.4070 NÄHERUNGSSCHALTER KB-2020-ABOW/KB0001 2,00 ST
00.1250.6340 RILLENKUGELLAGER 6210-2Z/C3 11,00 ST
00.2150.4212 WINKEL-EINSCHR.STUTZEN EINSTB.  EVW12 PL29,00 ST
00.1724.6758 UEBERWURFMUTTER NR. HDP-01.11 36,00 ST
00.1520.3692 SCHMALKEILRIEMEN - SPB 1500 LW 17,00 ST
00.2171.4048 GF-PVC-SCHLAUCHTUE. D 1/2'' 13,00 ST
00.1281.3404 DROSSELRUECKSCHLAG-VERSCHRAUBUNG 1/8 D89,00 ST
00.1580.4580 WELLENDICHTRING N.MUSTER 3/8Z 12,00 ST
00.1581.8294 NUTRING 55-80-18 21,00 ST
00.1279.0080 GELENKSTANGENKOPF SI 30 ES  M30X2 4,00 ST
00.1279.0042 GELENKKOPF SIKAC 20M 3,00 ST
00.2171.2110 PVC-MEMBRANVENTIL   3/4 ZOLL 4,00 ST
00.2508.1462 ZAHNRIEMEN 25T10/1460 5,00 ST
00.2531.0146 ZAHNRIEMENSCHEIBE ST 50T20/25-2 1,00 ST
00.1580.4600 WELLENDICHTRING BC  48X72X10 14,00 ST
00.1253.0066 ZYLINDERROLLENLAGER NU 304 - DIN 5412 11,00 ST
00.2580.3622  FILTEREINSATZ ROLL+PLEAT 458 RNP-50P 2,00 ST
00.1281.2948 DURCHGANGSSTÜCK AG M16x1,5; 410004DK 46,00 ST
00.1584.4078 O-RING 7,52 X 3,53 90,00 ST
00.2553.0256 SCHEIBENBREMSE SB2 195 V 1,00 ST
00.2144.0026 MAGNETVENTIL BEST.NR: 134320 1/2" 2,00 ST
00.1520.3691 SCHMALKEILRIEMEN - SPB 1450 12,00 ST
00.2531.0032 PARKER-PRESSARMATUR TYP:1CE48-10-6   9,5 35,00 ST
00.1584.4707 O-RING 85,0 X 6,0 23,00 ST
00.1724.5036 UEBERWURFMUTTER NR.11.002.7 13,00 ST
00.2225.0192 NÄHERUNGSSCHALTER 3RG4131-GAO00 2,00 ST
00.1724.6634 STOPFEN NR. S-101-17 33,00 ST
00.1280.8134 PN-ZEITVERZOEG.VENT.FESTO VZOB-3-1/4 3/2 1,00 ST
00.1254.8206 KEGELROLLENLAGER 32010X - DIN 720 8,00 ST
00.2580.4412 PUMPENRAD NR.7627076 F.KREISELPUMPE 3,00 ST
00.2212.8432 SICHERUNGEN NH00 SIBA  35 A 11,00 ST
00.2502.5102 VORRING FUER VAKUUMERZEUGER 4,00 ST
00.1520.3694 SCHMALKEILRIEMEN - SPB 2240 LW 12,00 ST
00.2170.6052 GF-PVC-UE.-VERSCHR. D20-1/2 ZOLL 25,00 ST
00.2225.0014 NETZGERAET SITOP-POWER 6ES73071EA010AA01,00 ST
00.1259.2202 SPANNSATZ 40X65 PSV 2001 5,00 ST
00.1250.4326 RILLENKUGELLAGER 6011-2Z  DIN 625 7,00 ST
00.2531.0222 FALTENBALG NR.644  LEDER 2,00 ST
00.1261.8264 STUETZROLLE NUTR 20  - INA 5,00 ST
00.1724.5050 KARTUSCHENKOERPER Teil 2 NR.11.1872 5,00 ST
00.1281.3062 WINKELSCHWENKVERSCHRAUBUNG 1/8  D6 48,00 ST
00.1280.8076 PN-FUSSVENTIL FESTO 5/2-W. F-5-1/4 B 1,00 ST
00.1281.3070 WINKELSCHWENKVERSCHRAUBUNG M5 47,00 ST



00.2502.5108 AUFNAHMERING F.VAKUUMERZEUGER 2,00 ST
00.1250.2168 RILLENKUGELLAGER 629-2RS1 DIN 625 49,00 ST
00.1520.3160 SCHMALKEILRIEMEN - SPZ 2500 LW 15,00 ST
00.2508.1536 Zahnriemen PowerGrip GT3  775 5MGT; 15mm 10,00 ST
00.1261.8020 STUETZROLLE NA 2200 2RSX - INA 6,00 ST
00.1280.8080 PN-FUSSVENTIL FESTO 5/2-W. FP-5-1/4-B 1,00 ST
00.1281.3504 DROSSELRUECKSCHLAG-VERSCHRAUBUNG D8 8,00 ST
00.2531.6004 FOERDERROLLE-UNIV.   1.7 AC.JAA.LAE/J18F 6,00 ST
00.1724.5024 ZYLINDERFLANSCH NR.11.141.4 5,00 ST
00.2225.0194 NÄHERUNGSSCHALTER 3RG4141-GAO00 2,00 ST
00.1261.0080 NADELHUELSE HK 1812 59,00 ST
00.1251.2030 SCHULTERKUGELLAGER E 8 DIN 615 19,00 ST
00.1281.2622 SCHALLDÄMPFER U-3/8 Nr.2309 45,00 ST
00.1520.3292 KEILRIEMEN - SPA 2882 LW 9,00 ST
00.2553.0230 PN-VENTIL BOSCH 0820005150 3/2-W. 3,00 ST
00.2223.4146 NÄHERUNGSSCHALTER IIB-3010-ANKG INDUKT. 5,00 ST
00.2508.1192 ZAHNRIEMEN SYNCHROFLEX 16T5/815 11,00 ST
00.1259.6302 GLEITLAGER-IGUS GFM-081014-10 201,00 ST
00.1254.8201 KEGELROLLENLAGER 32011X - DIN 720 7,00 ST
00.2133.1256 Manometer Festo MAP-40-6-1/8-EN; 161127 11,00 ST
00.2223.2122 ENDTASTER-EINS.M.STOESSEL 3SE3020-1A 14,00 ST
00.1724.5002 VENTILKOLBEN NR.11.004.3 4,00 ST
00.2502.1732 ABSTANDSRING TEIL 504 F.RCNKU 80/250 CS 1,00 ST
00.2504.6008 FILTERMEDIUM ROLLE PSB-300-S  B=2M/L=20M 23,00 M2
00.1281.2662 VAKUUM-SCHLAUCH   NW  8 X 2,5 40,00 M
00.1281.0014 Rückschlagentil HA-1/4-QS-8 9,00 ST
00.1281.2816 EINSCHRAUBANSCHLUSS GERADE NR: 3101061965,00 ST
00.1580.4602 WELLENDICHTRING AC  48X72X10 DIN 3760-SI 13,00 ST
00.1520.2498 KEILRIEMEN 17 X 1800 DIN 2215 13,00 ST
00.1281.0094 WELLENMUTTER    KM 6  M30X1,5 20,00 ST
00.1280.8106 PN-VENTIL FESTO VS-3-1/8  3/2-W. 2,00 ST
00.1250.4322 RILLENKUGELLAGER 6010-2RS DIN 625 10,00 ST
00.1520.2530 KEILRIEMEN 17 X 2800 DIN 2215 13,00 ST
00.1260.4096 NADELLAGER NKI 17/20 16,00 ST
00.1250.6138 RILLENKUGELLAGER 6204-2Z  DIN 625 31,00 ST
00.1281.2906 POLYAMIDROHR WVN 715-RO; 10x1,5 20,00 M
00.2556.0200 ROLLE 8X16X38 19,00 ST
00.1260.4510 NADELLAGER RNA 4917 2,00 ST
00.2223.2094 GRENZTASTER TYP: AT11-1-I  1S+1OE 10,00 ST
00.1250.0400 RILLENKUGELLAGER MR 137 2Z 37,00 ST
00.2580.4086 GEHAEUSE NR.1  F. SP20-07 2,00 ST
00.1280.8110 PN-VENTIL FESTO RS-3-1/8  3/2-W. 2,00 ST
00.1257.0076 AX.RILLENKUGELLAGER DIN 711 - 511 24 4,00 ST
00.1281.3050 WINKELSCHWENKVERSCHRAUBUNG 1/4  D6 38,00 ST
00.2556.0314 FILZROHR ä48Xä56X500 QUALITAET F4 5,00 ST
00.2150.4126 VERSCHRAUBUNG KL 20 DIN 2353-ST-GT 15,00 ST
00.1520.3220 KEILRIEMEN - SPAX 1007 LW 21,00 ST
00.2223.4104 NÄHERUNGSSCHALTER IN-3004 BPKG 4,00 ST
00.1279.0046 GELENKKOPF SIKAC 22M 3,00 ST
00.1261.0020 NADELHUELSE HK 0810 60,00 ST
00.2115.2508 MEMBRANE ZU VENTIL     TYP U   DN  15 15,00 ST
00.1252.8082 ZYLINDERROLLENLAGER NU 2205 - DIN 5412 5,00 ST
00.2115.2556 MEMBRANE ZU VENTIL     TYP U   DN  32 18,00 ST



00.2508.1184 ZAHNRIEMEN SYNCHROFLEX 12T5/900 12,00 ST
00.2171.2348 GF-PVC-KUGELHAHN    546 D25-3/4'' 3,00 ST
00.2150.5074 ERM-ANSCHLUSSSTUTZEN EL18-PL 5,00 ST
00.1251.4070 SCHRAEGKUGELLAGER 7206 BECBP 5,00 ST
00.1280.8074 PN-VENTIL FESTO MOCH-3-1/8 3/2-W. 2,00 ST
00.1580.4604 WELLENDICHTRING BC  50X80X10 15,00 ST
00.1520.3370 BREITKEILRIEMEN    35X11X1430 8,00 ST
00.2552.8042 STOSSDÄMPFER TYP: MC 225 M 2,00 ST
00.2214.5222 GEHAEUSEUNTERTEIL      16 POLIG 16,00 ST
00.2508.1199 Zahnriemen 16AT5/760 Megadyne 7,00 ST
00.2170.6064 GF-PVC-UF.-VERSCHR. 330 D40-11/4 12,00 ST
00.1520.3693 SCHMALKEILRIEMEN - SPB 2500 9,00 ST
00.2580.3610 KORBRAKEL MIT LAGERSITZ 1,00 ST
00.1581.6384 NUTRING 32-44-10 PRAEDIFA PROFIL Q3 13,00 ST
00.1269.8102 KUGELFUEHRUNGSSEGMENT MIT 10MM KUGELN4,00 ST
00.1582.6226 QUAD-RING  20,00 X 3,50 49,00 ST
00.2531.6006 FOERDERROLLE-M.SICKE 1.7 AC.JAD.LAE/J18F 5,00 ST
00.2222.5088 PUFFER-LI-BATTERIE     TYP CIS  AH 5,2 3,00 ST
00.1520.2552 KEILRIEMEN 17 X 4250 DIN 2215 9,00 ST
00.2150.2130 VERSCHRAUBUNG EL 28 DIN 2353-ST-GT 6,00 ST
00.2170.4064 GF-PVC-UE.WINKEL    90G.D50-11/2 16,00 ST
00.1520.3695 SCHMALKEILRIEMEN - SPB 2650 LW 8,00 ST
00.2171.1108 MUFFE DIN 8063-MGI40 21,00 ST
00.1260.4098 NADELLAGER PNA 17/35 7,00 ST
00.1580.8810 WELLENDICHTRING A 135X108X11 4,00 ST
00.1281.2312 VERSCHRAUBUNG LCK-1/4-PK-6 41,00 ST
00.1257.0018 AX.RILLENKUGELLAGER DIN 711 - 511 04 18,00 ST
00.2150.4016 VERSCHRAUBUNG GL 12 DIN 2353-ST-GT 22,00 ST
00.1250.4114 RILLENKUGELLAGER 6003-2RS DIN 625 34,00 ST
00.1250.4020 RILLENKUGELLAGER 6001-2Z  DIN 625 37,00 ST
00.2223.2098 GRENZTASTER TYP: AT11-S-I  1S+1OE 9,00 ST
00.1520.2544 KEILRIEMEN 17 X 3550 DIN 2215 9,00 ST
00.1581.4562 TOPFMANSCHETTE DUO 10-40-25 H 10,00 ST
00.2170.6048 UE-VERSCHR. D16 3/3 23,00 ST
00.1261.8570 KURVENROLLE NUKR 52 2,00 ST
00.1252.6148 ZYLINDERROLLENLAGER NU 1007 - DIN 5412 5,00 ST
00.2225.0176 NÄHERUNGSSCHALTER SMEO-1-S-LED-24 3,00 ST
00.2222.1006 motorschutz-relais  3-12 a 3,00 ST
00.1252.6156 ZYLINDERROLLENLAGER NU 1011 - DIN 5412 4,00 ST
00.2552.5034 NADELLAGER NKI  5/16 TN 24,00 ST
00.2150.5036 ERM-DF.SCHWENK-VERSCHR.DSVW 22 PLR 6,00 ST
00.1582.9096 NUTRING 50-60-7,5 PRAEDIFA 5,00 ST
00.1520.3278 SCHMALKEILRIEMEN - xpA 1907 LW 16,00 ST
00.2502.5052 GUMMIPUFFER NR.710001 FUER CL40 19,00 ST
00.1280.8100 PN-VENTIL FESTO SV-5-M5-B 5/2-W. 3,00 ST
00.2508.1418 ZAHNRIEMEN SYNCHROFLEX 50T10/1750 2,00 ST
00.1583.8190 LIPPENRING  42/68-80-8,5 27,00 ST
00.2502.5002 VAKUUMREGULIERVENTIL NR.313392 FUER CL402,00 ST
00.2115.2586 MEMBRANE ZU VENTIL     TYP U   DN  80 3,00 ST
00.1724.6750 NIPPEL NR.101036 13,00 ST
00.2508.1402 KEILRIPPENRIEMEN 12 PL 1422 2,00 ST
00.1520.3290 KEILRIEMEN - SPA 2500 LW 9,00 ST
00.2171.2440 GF-PVC-RUECKSCHLVEN 303 D 25 MM 4,00 ST



00.1520.2550 KEILRIEMEN 17 X 4000 DIN 2215 6,00 ST
00.1256.2310 PENDELROLLENLAGER 22310 CC/C3 2,00 ST
00.1281.2618 SCHALLDÄMPFER U-1 Nr.2312 4,00 ST
00.2531.0242 PN-RUECKSCHLAGVENT.REXROTH MK-10-G-1,0 1,00 ST
00.2552.8010 STAHLSCHEIBENDICHTUNG 25X47 LSTO 47,00 ST
00.1582.6048 ABSTREIFER AS  22-28-5/9 30,00 ST
00.2554.2230 SCHMIERVERTEILER 1-FACH  NR.35641 4,00 ST
00.2150.4012 VERSCHRAUBUNG GL 10 DIN 2353-ST-GT 37,00 ST
00.2564.3400 SIEGLING-RIEMEN  90X3330 1,00 ST
00.2171.3016 GF-PVC.SCHN.FAENGER D 32 MM 3,00 ST
00.1582.6092 ABSTREIFER AS  50-60-7/10 21,00 ST
00.1279.0024 GELENKKOPF SIKAC 16M / VZ019 4,00 ST
00.1280.7102 PN-WANDLER FESTO VPE-1/8-2N-SW 2,00 ST
00.1281.2700 KUNSTSTOFFSCHLAUCH NYLON ROHR BRAUN102,00 M
00.1251.6542 SCHRAEGKUGELLAGER 3311 DIN 628 1,00 ST
00.1260.4100 NADELLAGER NKI 12/20 12,00 ST
00.1250.6140 RILLENKUGELLAGER 6204-2RS DIN 625 27,00 ST
00.2214.5172 GEHAEUSEUNTERTEIL      10 POLIG 17,00 ST
00.1251.4076 SCHRAEGKUGELLAGER 7208 BG 5,00 ST
00.2150.4200 WINKEL-EINSCHR.STUTZEN EINSTB.  EVW 6 PL 19,00 ST
00.1280.8042 DRUCKREGELVENTIL HERION 0745752.0000 4,00 ST
00.1254.8114 KEGELROLLENLAGER 30205  - DIN 720 4,00 ST
00.1250.4050 RILLENKUGELLAGER 6001-2RS DIN 625 36,00 ST
00.2207.4922 SCHWEISSLEITUNG     NSLFFOEU 20,00 M
00.2531.3500 KUEHLMITTEL-SEGMENTSCHLAUCH 1/4"  504021 4,00 M
00.1281.2952 KNIESTÜCK AG M10x1; 504202K 21,00 ST
00.1279.0010 GELENKKOPF SIKAC 10M 10,00 ST
00.1520.3298 SCHMALKEILRIEMEN - SPA 1632 LW 15,00 ST
00.2170.4076 WINKEL DIN 8063-W2-20 66,00 ST
00.1254.8134 KEGELROLLENLAGER 30210A - DIN 720 6,00 ST
00.2554.2146 BOLZEN 10X49 MM  F.STOESSELVERSTELLUNG 8,00 ST
00.2581.3850 O-RING 115,0 X 5,0  WERNERT TEIL 251 6,00 ST
00.1260.4086 NADELLAGER NK 17/16 22,00 ST
00.1281.0042 PN-RUECKSCHLAGVENTIL FESTO GRL-M5 8,00 ST
00.1281.3052 WINKELSCHWENKVERSCHRAUBUNG 1/4 D12 18,00 ST
00.2150.4116 VERSCHRAUBUNG KL 12 DIN 2353-ST-GT 24,00 ST
00.2221.2262 MAGNETSPULE F. AC 50HZ/110V 13,00 ST
00.1281.3016 T-STECKANSCHLUSS NR.3104 0600 30,00 ST
00.1279.0090 GELENKKOPF GT DIN648 M30X2L NR.632-730IL 2,00 ST
00.1279.0092 GELENKKOPF GT DIN648 M30X2  NR.632-630IR 2,00 ST
00.1251.6030 SCHRAEGKUGELLAGER 3207 DIN 628 4,00 ST
00.1260.4090 NADELLAGER NK  8/12 TN 28,00 ST
00.1251.4072 SCHRAEGKUGELLAGER 7206 BEP DIN628 10,00 ST
00.2508.1469 Zahnriemen Synchroflex 15T5/620 10,00 ST
00.1281.2628 SCHALLDÄMPFER U-1/8 Nr.2307 61,00 ST
00.2582.2214 LICHTSCHRANKE SENDER TYP:S50-PA-2-G00-XG3,00 ST
00.1263.0220 TIMKEN-KEGELROLLENLAGER 32620 10,00 ST
00.1580.6028 WELLENDICHTRING BA  70X90X10  DIN3760-SI 14,00 ST
00.1520.2524 KEILRIEMEN 17 X 2500 DIN 2215 9,00 ST
00.1520.3230 SCHMALKEILRIEMEN - SPA 1180 LW 21,00 ST
00.1250.2360 RILLENKUGELLAGER 16006-2Z DIN625 11,00 ST
00.1520.3296 SCHMALKEILRIEMEN - SPA 12,5X2582 LW 8,00 ST
00.1250.4306 RILLENKUGELLAGER 6009-2RS DIN 625 9,00 ST



00.1520.2526 KEILRIEMEN 17 X 2650 DIN 2215 7,00 ST
00.1520.3286 KEILRIEMEN - SPA 2300 LW 9,00 ST
00.2207.4916 SCHWEISSLEITUNG     NSLFFOEU 38,00 M
00.2150.5060 ERM-ANSCHLUSSSTUTZEN EL 6-PL 9,00 ST
00.1520.3674 SCHMALKEILRIEMEN - SPA 3350 LW 7,00 ST
00.1252.0180 GELENKLAGER  GE 30 ES DIN648 11,00 ST
00.1279.0018 GELENKKOPF SIKAC 12M 5,00 ST
00.1251.8554 PENDELKUGELLAGER 2202  DIN 630 6,00 ST
00.1280.8140 PN-ROLLENHEBELVENTIL FESTO RO-3-PK3 6,00 ST
00.1251.8000 PENDELKUGELLAGER 129/TN DIN630 11,00 ST
00.2508.1494 ZAHNRIEMEN SYNCHROFLEX 16T10/1780 4,00 ST
00.2578.2702 GRIFFOBERTEIL H-TASTE-CSO KPL. 5,00 ST
00.2171.2452 GF-PVC-RUECKSCHLVEN 303 D 63 MM 2,00 ST
00.2170.4040 WINKEL DIN 8063-W1-63 18,00 ST
00.1257.0338 AX.RILLENKUGELLAGER DIN 711 - 512 09 7,00 ST
00.1250.2080 RILLENKUGELLAGER 623-2RS  DIN 625 35,00 ST
00.1520.3352 BREITKEILRIEMEN    24X8X653,5W3 2,00 ST
00.1259.6280 BUNDBUCHSE-GLYCODUR  PBG 25-28-21,5 F 32,00 ST
00.1261.8262 STUETZROLLE NATR 30 PP 3,00 ST
00.1584.4070 O-RING 7,0 X 2,0 - N - NBR70 210,00 ST
00.2508.1403 KEILRIPPENRIEMEN PL 2070L 12 RIPPEN 2,00 ST
00.1299.9534 WELLENGELENK DIN 808-G-E 12X25 NR.10013 4,00 ST
00.1253.2080 ZYLINDERROLLENLAGER NU 2306 - DIN 5412 5,00 ST
00.2207.4920 SCHWEISSLEITUNG     NSLFFOEU 25,00 M
00.1724.5038 DUESEN-MUTTER NR.11.001.9 11,00 ST
00.1280.8124 PN-VENTIL HOERBIG. S9581-1  5/2-W. 1,00 ST
00.1520.2534 KEILRIEMEN 17 X 3000 DIN 2215 8,00 ST
00.1520.2536 KEILRIEMEN 17 X 3150 DIN 2215 8,00 ST
00.1281.3502 DROSSELRUECKSCHLAG-VERSCHRAUBUNG D6 6,00 ST
00.2533.0068 Wellendichtring A 190x220x16 4,00 ST
00.1756.0068 WERKZEUGHALTER 190MM  6 AUFHAHMEN 12,00 ST
00.1581.6086 NUTRING 10-20-7,3 30,00 ST
00.1281.3060 WINKELSCHWENKVERSCHRAUBUNG 1/8  D4 42,00 ST
00.2150.2128 VERSCHRAUBUNG EL 22 DIN 2353-ST-GT 7,00 ST
00.1252.0074 PENDELKUGELLAGER 1306  DIN 630 7,00 ST
00.2170.6072 GF-PVC-UE.-VERSCHR. 330 D63-2'' 6,00 ST
00.2150.4220 WINKEL-EINSCHR.STUTZEN EINSTB.  EVW15 PL16,00 ST
00.2133.1210 MANOMETER 0-  1 BAR  100MM  R1/2 9,00 ST
00.2170.4036 WINKEL DIN 8063-W1-50 30,00 ST
00.1724.6713 ZAHNSCHEIBE NR. S-108-4 12,00 ST
00.1724.6720 NUTRING 12-18-6 37,00 ST
00.1250.6342 RILLENKUGELLAGER 6211-2RS DIN 625 6,00 ST
00.1299.9524 ELASTOMER-FEDER   50X100 BOHRUNG 17 6,00 ST
00.1520.2466 KEILRIEMEN 17 X 1300 DIN 2216 13,00 ST
00.2171.1088 GF-PVC-MUFFEN       D 2'' 13,00 ST
00.1281.2336 VERSCHRAUBUNG TCK-1/8-PX-4 14,00 ST
00.1580.2660 WELLENDICHTRING B2  35X52X10 72NBR902-SI 10,00 ST
00.1520.3340 SCHMALKEILRIEMEN - SPA 12,5X2000 LW 11,00 ST
00.1584.4972 O-RING 90,0 X 5,0 VITON 80 SHORE 35,00 ST
00.2541.0562 O-Ring 165x2,5 - NBR70 50,00 ST
00.2553.0240 LUEFTERFLUEGEL NR. V132R     ä35 5,00 ST
00.1250.4116 RILLENKUGELLAGER 6005-2RS DIN 625 21,00 ST
00.2150.2124 VERSCHRAUBUNG EL 18 DIN 2353-ST-GT 13,00 ST



00.1251.8574 PENDELKUGELLAGER 2206  DIN 630 8,00 ST
00.1252.6138 ZYLINDERROLLENLAGER NU 214 - DIN 5412 3,00 ST
00.2580.4096 LAUFRAD NR.2  F. SP20-07 3,00 ST
00.1250.4298 RILLENKUGELLAGER 6009-2Z  DIN 625 11,00 ST
00.1250.4464 RILLENKUGELLAGER 6022     DIN 625 1,00 ST
00.2150.4204 WINKEL-EINSCHR.STUTZEN EINSTB.  EVW 8 PL 29,00 ST
00.1254.8220 KEGELROLLENLAGER 32006X - DIN 720 8,00 ST
00.1520.2656 KEILRIEMEN 20 X 3150 DIN 2215 6,00 ST
00.1299.9530 WELLENGELENK DIN 808-G-E 10X22 NR.302 4,00 ST
00.2223.4048 NÄHERUNGSSCHALTER IN-2004-ABOA 2,00 ST
00.2553.0205 SCHEIBENBREMSE K2NM KEB 01.31.210 1,00 ST
00.1257.0010 AX.RILLENKUGELLAGER DIN 711 - 511 02 11,00 ST
00.2174.0012 PE-GOEMA-RED-STUECK DA50 X DA25 27,00 ST
00.1520.3048 SCHMALKEILRIEMEN - SPZ 612 LW 29,00 ST
00.2225.0198 NÄHERUNGSSCHALTER SMEO-4-K-LED-24 B 4,00 ST
00.1281.3500 DROSSELRUECKSCHLAG-VERSCHRAUBUNG D4 7,00 ST
00.2223.4158 NÄHERUNGSSCHALTER IGA-2005-FRKG 4,00 ST
00.1257.0060 AX.RILLENKUGELLAGER DIN 711 - 511 15 3,00 ST
00.2171.2120 PVC-MEMBRANVENTIL   DN 25 TYP 677 2,00 ST
00.1582.6114 ABSTREIFER AS 110-120-7/10 11,00 ST
00.1251.6520 SCHRAEGKUGELLAGER 3304 DIN 628 5,00 ST
00.1281.2192 FLEXO-KUPPLUNG Festo FK-M10X1,25 6,00 ST
00.2170.6016 ROHRVERSCHRAUBUNG DIN 8063-V2-20 PVC 20,00 ST
00.1583.8098 LIPPENRING  42/20-30-7 21,00 ST
00.1520.3138 SCHMALKEILRIEMEN - XPZ 9,5X1262 LW 18,00 ST
00.1281.3304 DOPPELSTECKNIPPEL METALL D8 54,00 ST
00.1520.3366 BREITKEILRIEMEN    37X10X950 7,00 ST
00.1281.2180 FLEXO-KUPPLUNG FK-M6 8,00 ST
00.1281.2946 DURCHGANGSSTÜCK AG M14x1,5; 301001DK 33,00 ST
00.1584.4132 O-RING 12,0 X 3,0 - N - NBR70 104,00 ST
00.2508.1464 ZAHNRIEMEN SYNCHROFLEX 25T10/1560 3,00 ST
00.1520.3706 KEILRIEMEN - XPA-2120-LW 8,00 ST
00.1584.4298 O-RING 30,0 X 3,0 - PDF ULTRATHAN 21,00 ST
00.1281.2004 KUNSTSTOFFSCHLAUCH PUN-8X1,25-BL 100,00 M
00.1520.3122 SCHMALKEILRIEMEN - SPZ 1187 LW 26,00 ST
00.2150.4130 VERSCHRAUBUNG KL 28 DIN 2353-ST-GT 10,00 ST
00.2586.0409 ANTRIEBSRIEMEN 325 3,00 ST
00.2531.0168 PARKER-SCHRAUBSCHLAUCH TYP: 421SN-10 11,00 M
00.1280.8028 PN-VENTIL FESTO LS-3-1/8  3/2-W. 1,00 ST
00.1286.2200 ROLLENKETTE EINFACH    5/8 X 3/8 15,00 M
00.1520.3280 SCHMALKEILRIEMEN - SPA 2132 LW 8,00 ST
00.2531.0034 PARKER-PRESSARMATUR TYP:1CE48-15-8  12,716,00 ST
00.2174.0026 PE-GOEMA-RED-STUECK DA90 X DA63 15,00 ST
00.2500.0940 RELAIS OMRON TYP: MY4 110/120V AC 6,00 ST
00.2551.0002 BUERSTENEINSATZ RECHTS 9089-U281 1,00 ST
00.1250.8166 RILLENKUGELLAGER 6305-2RS DIN 625 13,00 ST
00.2120.8100 DRUCKREGELVENTIL FESTO LR-1/2-D-MIDI 2,00 ST
00.1520.3282 SCHMALKEILRIEMEN - SPA 1957 LW 11,00 ST
00.2212.8438 SICHERUNGEN NH00 SIBA  80 A 6,00 ST
00.1286.2502 ROLLENKETTE EINFACH    P=6MM 8,00 M
00.1281.2610 SCHALLDAEMPFER    1/2" BAUREIHE 0014800 6,00 ST
00.1251.2038 SCHULTERKUGELLAGER E 10 DIN 615 6,00 ST
00.1250.8210 RILLENKUGELLAGER 6306-2RS DIN 625 10,00 ST



00.1281.0096 WELLENMUTTER    KM 7  M35X1,5 11,00 ST
00.1260.4836 INNENRING IR 30X35X30 - SKF 14,00 ST
00.2150.6007 VERSCHRAUBUNG NLL 8 DIN 2353 ST-GT 21,00 ST
00.1250.6170 RILLENKUGELLAGER 6205-2Z/C3 DIN 625 17,00 ST
00.2553.0211 BREMSMAGNET TYP: KEB 02.08 190V KOMPL. 1,00 ST
00.1281.2120 SCHLAUCHTUELLE  R 3/4-PN19 25,00 ST
00.1250.2214 RILLENKUGELLAGER 635-2Z  DIN 625 13,00 ST
00.1254.8214 KEGELROLLENLAGER 30209  - DIN 720 6,00 ST
00.2214.5312 GEHAUSEUNTERTEIL EINB. 24-POLIG 10,00 ST
00.1520.3128 SCHMALKEILRIEMEN - SPZ 1212 LW 20,00 ST
00.1281.2448 BLINDSTOPFEN B-3/8 84,00 ST
00.2170.6056 GF-PVC-UE.VERSCHR.  330 D25-3/4 14,00 ST
00.1581.4524 TOPFMANSCHETTE DUO 12-65-25 H 9,00 ST
00.2150.2012 ERM-GER.E.SCHR.VERS GE  8-LR 23,00 ST
00.1281.2686 SCHLAUCH PA 12X1,0 NATUR 30,00 M
00.1253.0132 ZYLINDERROLLENLAGER NU 309 - DIN 5412 3,00 ST
00.1520.3344 SCHMALKEILRIEMEN - SPA 2057 LW 11,00 ST
00.2508.1195 ZAHNRIEMEN SYNCHROFLEX 10AT5/750 9,00 ST
00.2553.0000 FILTERELEMENT C15 124/1         149X220 2,00 ST
00.1250.8030 RILLENKUGELLAGER 6300-2RS DIN 625 22,00 ST
00.1281.2614 SCHALLDÄMPFER U-3/4 Nr.2311 6,00 ST
00.1520.3224 SCHMALKEILRIEMEN - SPA 1107 LW 15,00 ST
00.2508.1197 ZAHNRIEMEN BRECO V  16T10/1390 4,00 ST
00.2223.4126 NÄHERUNGSSCHALTER ITB-3001-BPOG 3,00 ST
00.1520.3244 SCHMALKEILRIEMEN - SPA 12,5X1307 LW 13,00 ST
00.1520.3150 SCHMALKEILRIEMEN - SPZ 9,5X1787 LW 14,00 ST
00.2133.1200 MANOMETER 0- 10 BAR   63MM  R1/4 8,00 ST
00.2508.1486 ZAHNRIEMEN 8T5/990 CELLOFLEX 4,00 ST
00.2225.0012 NETZGERAET SITOP-Power 6EP1331-1SL11 1,00 ST
00.2502.5100 VORRING NR. 5 FUER CL60V 2,00 ST
00.2150.5008 ERM-DF.SCHWENK-VERSCHR.DSVW 8 PLR 16,00 ST
00.1520.3270 SCHMALKEILRIEMEN - SPA 1700 LW 13,00 ST
00.1260.4278 NADELLAGER NKI 40/20 5,00 ST
00.1257.0050 AX.RILLENKUGELLAGER DIN 711 - 511 12 5,00 ST
00.1257.0622 AX.RILLENKUGELLAGER DIN 711 - 513 05 7,00 ST
00.1581.6406 NUTRING 50 K 14,00 ST
00.1254.8222 KEGELROLLENLAGER 32018  - DIN 720 2,00 ST
00.1257.0022 AX.RILLENKUGELLAGER DIN 711 - 511 05 11,00 ST
00.1281.3090 WINKELSTECKANSCHLUSS D4 38,00 ST
00.2150.6124 VERSCHRAUBUNG QL 18 DIN 2353-ST-GT 10,00 ST
00.1252.6068 ZYLINDERROLLENLAGER NU 203 - DIN 5412 5,00 ST
00.1281.2342 VERSCHRAUBUNG TCK-1/4-PK-6 32,00 ST
00.2508.1528 Zahnriemen 18AT5/ 1050 Synchroflex 4,00 ST
00.1580.6472 WELLENDICHTRING A   80X100X10 DIN3760-SI 9,00 ST
00.2551.0000 BUERSTENEINSATZ LINKS 9089-U282 1,00 ST
00.1259.1994 TAPERLOCK SPANNBUCHSE NR.2012/22 5,00 ST
00.1580.6620 WELLENDICHTRING A   85X120X12 DIN3760 4,00 ST
00.2170.3940 GF-KLEBEFITTINGS PVC   BOGEN 90 GR. D 40 7,00 ST
00.2171.3012 GF-PVC-SCHM.FAENGER D 25 MM 3,00 ST
00.2170.4060 GF-PVC-UE.WINKEL    90G.D40/11/4 12,00 ST
00.1250.4384 RILLENKUGELLAGER 6012-2RS DIN 625 5,00 ST
00.1724.5046 REGULIERKNOPF NR.11.153.8 5,00 ST
00.1260.4846 INNENRING IR 45X50X35 - SKF 12,00 ST



00.1250.6200 RILLENKUGELLAGER 6206-2Z/C3 DIN 625 14,00 ST
00.2150.6016 VERSCHRAUBUNG NL 12 DIN 2353-ST-GT 8,00 ST
00.1520.2316 Keilriemen 13x1350 LI 12,00 ST
00.1580.2220 WELLENDICHTRING BA  28X47X10 21,00 ST
00.1582.6106 ABSTREIFER     95-105-7/10 8,00 ST
00.2223.4150 NÄHERUNGSSCHALTER IFB-3004-BPKG/US 3,00 ST
00.1724.6632 BOLZEN NR. S-101-16 14,00 ST
00.1250.8070 RILLENKUGELLAGER 6302-2RS DIN 625 22,00 ST
00.2150.5012 ERM-DF.SCHWENK-VERSCHR.DSVW 10 PLR 7,00 ST
00.1250.6306 RILLENKUGELLAGER 6209-2RS DIN 625 6,00 ST
00.1279.0000 GELENKKOPF SAKAC 6M 6,00 ST
00.1520.3710 KEILRIEMEN - XPA 2240 LW 6,00 ST
00.2554.2080 SCHRAUBENFEDER TEIL 66 ZU XOS 11,00 ST
00.1580.8624 WELLENDICHTRING B2 120X150X13 6,00 ST
00.1281.0100 WELLENMUTTER    KM 3  M17X1 41,00 ST
00.1286.5156 DESTACO-SPANNER 807 UF-OZ 2,00 ST
00.2150.5004 ERM-DF.SCHWENK-VERSCHR.DSVW 6 PLR 7,00 ST
00.1520.3690 SCHMALKEILRIEMEN - SPA 1060 LW 16,00 ST
00.1580.0740 WELLENDICHTRING BAUMX7 22X35X7 FKM 9,00 ST
00.2580.3612 RIEMENFÜHRUNG A=650 1,00 ST
00.2171.2436 GF-PVC-RUECKSCHLVEN 303 D 20 MM 3,00 ST
00.1252.0194 GELENKLAGER  SSC 16  DIN648 3,00 ST
00.2580.3804 GUMMIROLLE TYP: 555738W 3,00 ST
00.2556.0310 FILZROHR ä14Xä20X500 QUALITAET F4 2,00 ST
00.1580.8106 WELLENDICHTRING B2 100X125X13 72NBR902 8,00 ST
00.1520.3272 SCHMALKEILRIEMEN - SPA 12,5X1782 LW 10,00 ST
00.1520.2292 KEILRIEMEN 13 X 1060 DIN 2215 23,00 ST
00.1257.0322 AX.RILLENKUGELLAGER DIN 711 - 512 05 10,00 ST
00.2133.2002 SCHUTZROHR F.THERMOMETER  1/2" 100MM 6,00 ST
00.2170.4052 GF-PVC-UE.WINKEL    90GR.D25-3/4 23,00 ST
00.2150.6112 VERSCHRAUBUNG QL 10 DIN 2353-ST-GT 16,00 ST
00.1520.3046 KEILRIEMEN - SPZ 2000 LW 11,00 ST
00.1581.4557 TOPFMANSCHETTE DUO 20-140-40 2,00 ST
00.1280.8108 PN-VENTIL FESTO L-3-M5    3/2-W. 2,00 ST
00.2531.0126 ZAHNRIEMENSCHEIBE ST 38T10/18-2 NAB.40X7 2,00 ST
00.2170.3926 GF-KLEBEFITTINGS PVC   BOGEN 90 GR. D 20 25,00 ST
00.1281.0047 DROSSELRÜCKSCHLAGVENTIL GRLA-1/8-B 5,00 ST
00.1250.8226 RILLENKUGELLAGER 6307     DIN 625 6,00 ST
00.2170.3936 GF-KLEBEFITTINGS PVC   BOGEN 90 GR. D 32 15,00 ST
00.1281.3002 STECKANSCHLUSS GERADE D8-L35,5-A15 31,00 ST
00.1581.6818 NUTRING 150-180-15 4,00 ST
00.1724.6766 UEBERWURFMUTTER NR. HDP-01.17 4,00 ST
00.1251.4088 SCHRAEGKUGELLAGER 7306 B 5,00 ST
00.1281.3004 WINKELSCHWENKVERSCHRAUBUNG 1/4  D8 20,00 ST
00.2170.6028 ROHRVERSCHRAUBUNG DIN 8063-V2-32 PVC 12,00 ST
00.1281.2262 SCHNELLVERSCHRAUBUNG G1/4A-8/10 41,00 ST
00.2553.0242 LUEFTERFLUEGEL NR. 520.1320.02   ä40 3,00 ST
00.1520.3144 SCHMALKEILRIEMEN - SPZ 9,7x1600 LW 12,00 ST
00.1581.5010 NUTRING NR.1842 5,00 ST
00.1580.8700 WELLENDICHTRING B1 125X150X13 4,00 ST
00.1520.2310 KEILRIEMEN 13 X 1375DIN 2216 15,00 ST
00.1251.8074 PENDELKUGELLAGER 1206  DIN 630 6,00 ST
00.2133.1010 MEMBRANDRUCKMESSER  1577/353 3,00 ST



00.2218.1366 BATTERIE 1.55V V10  VARTA 25,00 ST
00.1254.8118 KEGELROLLENLAGER 30206  - DIN 720 6,00 ST
00.1250.4452 RILLENKUGELLAGER 6016     DIN 625 2,00 ST
00.1520.2748 KEILRIEMEN 22 X 2060 DIN 2216 6,00 ST
00.2133.1230 MANOMETER 0-  6 BAR  100MM  R1/2 TD11/06 9,00 ST
00.2541.0604 Wellendichtring B2 30x72-10 20,00 ST
00.2150.6116 VERSCHRAUBUNG QL 12 DIN 2353 15,00 ST
00.1580.6300 WELLENDICHTRING B2  70X90X10 72NBR902-SI 7,00 ST
00.1580.4552 WELLENDICHTRING BA  52X69X10 17,00 ST
00.1520.2502 KEILRIEMEN 17 X 1900 DIN 2215 9,00 ST
00.1520.2480 KEILRIEMEN 17 X 1500 DIN 2215 12,00 ST
00.1250.4136 RILLENKUGELLAGER 6004-2Z  DIN 625 21,00 ST
00.2174.0004 PE-GOEMA-RED-STUECK DA32 X DA25 25,00 ST
00.1724.5054 PISTOLENKOERPER NR. 11.101.5 1,00 ST
00.2218.1368 BATTERIE 1.55V V76  VARTA 4076 39,00 ST
00.2531.0022 PARKER-PRESSARMATUR TYP:1CA48-10-6   9,5 19,00 ST
00.2553.1056 KUPPLUNGSGUMMI TYP: N-EUPEX; B.95 10,00 ST
00.1250.2070 RILLENKUGELLAGER 618/5   DIN 625 15,00 ST
00.2171.2448 GF-PVC-RUECKSCHLEVN 303 D 50 MM 1,00 ST
00.1281.3354 DROSSELRUECKSCHLAG-VERSCHRAUBUNG 1/4 D105,00 ST
00.1582.9086 NUTRING 48-63-9 PRAEDIFA 5,00 ST
00.1281.2684 SCHLAUCH PA12 WEICH, NATUR 10 X 2 50,00 M
00.1250.2004 RILLENKUGELLAGER 607-2Z - SKF 21,00 ST
00.1281.0116 WELLENMUTTER    KM12  M60X2 12,00 ST
00.2214.5130 GEHAEUSEOBERTEIL M.STOPFB.VERSCHR.6-POL13,00 ST
00.1582.2186 NUTRING 80-100-15 3,00 ST
00.1582.9020 NUTRING 16-24-6 PRAEDIFA 10,00 ST
00.1281.0044 DROSSELRÜCKSCHLAGVENTIL GRLA-1/4 B 4,00 ST
00.1281.3110 SIGNAL-VERSCHRAUBUNG NR.78180410 3,00 ST
00.1580.6020 WELLENDICHTRING B1  60X72X8 72NBR902-SIM12,00 ST
00.1281.2252 WINKELSTUECK M.DICHTUNG G-3/8 - A/I 20,00 ST
00.2174.0032 PE-GOEMA-RED-STUECK DA110 X DA63 8,00 ST
00.1250.8510 RILLENKUGELLAGER 687     DIN 625 12,00 ST
00.1582.9080 NUTRING 40-50-9 PRAEDIFA 5,00 ST
00.1520.2342 KEILRIEMEN 13 X 2240 DIN 2215 11,00 ST
00.1261.0012 NADELHUELSE BK 0609A 30,00 ST
00.1520.3279 SCHMALKEILRIEMEN - SPA 1932 LW 9,00 ST
00.2207.4918 SCHWEISSLEITUNG     NSLFFOEU 23,00 M
00.2223.2618 ANTRIEBSKNOPF       3SX3 122 4,00 ST
00.1280.8014 PN-VENTIL FESTO VL-2-1/4  2/2-W. 1,00 ST
00.1280.8120 PN-VENTIL FESTO J-3-PK3   3/2-W. 2,00 ST
00.2171.2432 GF-PVC-RUECKSCHLVEN 303 D 16MM 5,00 ST
00.1280.8116 PN-ROLLENHEBELVENTIL FESTO RO-3-1/4-B 1,00 ST
00.2541.0720 Wellendichtring BAUMX7 60x110x10 1,00 ST
00.1281.0098 WELLENMUTTER    KM 8  M40X1,5 17,00 ST
00.1520.2520 KEILRIEMEN 17 X 2360 DIN 2215 7,00 ST
00.1251.8002 PENDELKUGELLAGER 1200  DIN 630 6,00 ST
00.1580.8165 WELLENDICHTRING B2 145X165X13  72NBR902 4,00 ST
00.1260.2010 NADELKAEFIG K10X14X10TN - SKF 51,00 ST
00.1582.6118 ABSTREIFER AS  40-52-5/8 28,00 ST
00.1581.4530 TOPFMANSCHETTE DUO 12-70-30 6,00 ST
00.1724.6752 DRUCKSCHRAUBE NR.101044 14,00 ST
00.1251.6022 SCHRAEGKUGELLAGER 3205 DIN 628 5,00 ST



00.2223.4124 NÄHERUNGSSCHALTER IFR-14.24.45 1,00 ST
00.1281.2800 EINSCHRAUBANSCHLUSS GERADE D=4  1/8" 36,00 ST
00.1251.8578 PENDELKUGELLAGER 2206-2RS DIN630 4,00 ST
00.2564.2640 SIEGLING-RIEMEN  90X3270 1,00 ST
00.1582.6094 ABSTREIFER 80-90-7/10 26,00 ST
00.1580.6025 WELLENDICHTRING A   60X80X8 DIN 3760-SI 17,00 ST
00.2531.0120 ZAHNRIEMENSCHEIBE AL 14T5/ 61-0 D=35 2,00 ST
00.1250.2056 RILLENKUGELLAGER 609-2RS1-SKF 25,00 ST
00.1583.8092 LIPPENRING  42/17-25-5,5 20,00 ST
00.1260.4828 INNENRING IR 25X30X20 - SKF 17,00 ST
00.2150.4208 WINKEL-EINSCHR.STUTZEN EINSTB.  EVW10 PL18,00 ST
00.1520.3222 SCHMALKEILRIEMEN - SPA 967 LW 15,00 ST
00.2150.6122 VERSCHRAUBUNG QS 16 DIN 2353-ST-GT 6,00 ST
00.1584.4640 O-RING 76,0 X 4,0 - N - NBR70 18,00 ST
00.2170.4048 GF-PVC-UE-WINKEL    90GR.D20-1/2 22,00 ST
00.2508.1415 ZAHNRIEMEN BRECO 50T10/2000 2,00 ST
00.1251.6526 SCHRAEGKUGELLAGER 3306 DIN 628 4,00 ST
00.1580.6474 WELLENDICHTRING B1  85X105X10 10,00 ST
00.1250.2150 RILLENKUGELLAGER 628/8-2Z DIN625 10,00 ST
00.2508.1408 ZAHNRIEMEN BRECO 187L-075 6,00 ST
00.2150.4124 VERSCHRAUBUNG KL 18 DIN 2353-ST-GT 8,00 ST
00.2508.1496 ZAHNRIEMEN SYNCHROFLEX 16T10/890 5,00 ST
00.1281.0406 NUTMUTTER SELBSTS. GUP 80X2 5,00 ST
00.1254.8218 KEGELROLLENLAGER 32008X - DIN 720 6,00 ST
00.1251.0684 RILLENKUGELLAGER 61801-2RS 7,00 ST
00.2150.6130 VERSCHRAUBUNG QL 28 DIN 2353-ST-GT 4,00 ST
00.2172.6016 PE EINLEGETEILE        PN 10  D  32 LANG 18,00 ST
00.2170.4072 WINKEL DIN 8063-W2-16 40,00 ST
00.1520.2318 KEILRIEMEN 13 X 1600 DIN 2215 12,00 ST
00.1582.6220 STUETZRING 18,00 X 1,50 72,00 ST
00.2131.0424 PRESSLUFTKUPPLUNG   M.I-GEWINDE 6,00 ST
00.2171.0152 GF-PVC-RED.KURZ     D 32-20 52,00 ST
00.2531.0450 SCHNECKENRAD NR. 322011 - 11:1 2,00 ST
00.2553.0375 RIEMENSCHEIBE 4-RILL. ä129X52 1,00 ST
00.2174.0104 PE BLINDKAPPEN         PN 10  DA 25 KURZ 24,00 ST
00.1724.6754 FEDERTELLER NR.101052 24,00 ST
00.1520.2640 KEILRIEMEN 20 X 1090 DIN 2216 11,00 ST
00.1259.6136 GLEITLAGER-GLYCODUR  GLY.PG 16-18-15 F 56,00 ST
00.1580.0904 WELLENDICHTRING BA  23X40X10 72NBR902-SI 31,00 ST
00.1582.6222 QUAD-RING  18,00 X 3,50 61,00 ST
00.1281.2338 VERSCHRAUBUNG TCK-1/4-PK-4 28,00 ST
00.2170.4032 WINKEL DIN 8063-W1-40 17,00 ST
00.2541.0582 O-Ring 280,0x3,0 - NBR872 10,00 ST
00.1581.6020 NUTRING 60 K 7,00 ST
00.2150.5024 ERM-DF.SCHWENK-VERSCHR.DSVW 15 PLR 8,00 ST
00.2508.1181 ZAHNRIEMEN SYNCHROFLEX 10T10/920 5,00 ST
00.2541.0544 Wellendichtring B2 135x165x13/10 3,00 ST
00.2171.1064 GF-PVC-MUFFEN       D 3/8' 18,00 ST
00.1580.4416 WELLENDICHTRING B2  45X72X10 12,00 ST
00.1580.8100 WELLENDICHTRING B2SL 90X110X13 8,00 ST
00.1251.8026 PENDELKUGELLAGER 1202  DIN 630 4,00 ST
00.1254.8250 KEGELROLLENLAGER 32218  - DIN 720 1,00 ST
00.2214.5330 GEHAEUSEOBERTEIL M.STOPFB.VERSCHR.24-POL10,00 ST



00.1281.0052 PN-RUECKSCHLAGVENTIL FESTO GGO-1/4-3/8 1,00 ST
00.1251.6522 SCHRAEGKUGELLAGER 3305 DIN 628 8,00 ST
00.1580.2912 WELLENDICHTRING B2  38X62X10 72NBR902-SI 13,00 ST
00.1250.8230 RILLENKUGELLAGER 6307-2Z  DIN 625 6,00 ST
00.1582.6112 ABSTREIFER     40-48-4/7 30,00 ST
00.1281.2300 VERSCHRAUBUNG LCK-1/8-PK-4 45,00 ST
00.2554.1000 MICROSCHALTER TYP: F1T8+EZ 7,00 ST
00.1251.0682 RILLENKUGELLAGER 61801 9,00 ST
00.1254.8216 KEGELROLLENLAGER 30208  - DIN 720 4,00 ST
00.2150.4120 VERSCHRAUBUNG KL 15 DIN 2353-ST-GT 13,00 ST
00.1580.4090 WELLENDICHTRING B2  40X56X10 72NBR902-SI 15,00 ST
00.1520.2540 KEILRIEMEN 17 X 3350 DIN 2215 5,00 ST
00.2508.1456 ZAHNRIEMEN SYNCHROFLEX 25T10/630 3,00 ST
00.2508.1526 Zahnriemen 14AT5/860 Synchroflex 4,00 ST
00.1280.8018 PN-VENTIL FESTO VL-5-PK-4 5/2-W. 1,00 ST
00.2556.0182 SCHMIERVERTEILER TYP: VPA-C6/P 4,00 ST
00.1520.3112 SCHMALKEILRIEMEN - SPZ 9,5X1112 LW 15,00 ST
00.1286.2126 ROLLENKETTE EINFACH    3/8 X 7/32 8,00 M
00.1581.4540 TOPFMANSCHETTE DUO 12-80-30/5 7,00 ST
00.1582.6046 ABSTREIFER     25-33-4/7 18,00 ST
00.2170.4092 WINKEL DIN 8063-W2-50 17,00 ST
00.2171.1068 GF-PVC-MUFFEN       D 1/2'' 17,00 ST
00.2553.0314 LUEFTERFLUEGEL NR. N 4.061.01/V23MR  ä24 3,00 ST
00.2214.5142 STECKEREINSATZ         HAN 3A 13,00 ST
00.1281.0128 WELLENMUTTER    KM 2  M15X1 33,00 ST
00.2133.1008 MANOMETER GLYZ. 0-100 BAR  63MM R1/4 4,00 ST
00.2550.0034 Vitrea-Oel M100; Nr. 0088014 3,00 L
00.2508.1466 ZAHNRIEMEN SYNCHROFLEX 32AT10/890 2,00 ST
00.2170.0040 PVC HART-ROHR 63 X 4,7 DIN 8062 9,00 M
00.1520.2522 KEILRIEMEN 17 X 2400 DIN 2216 6,00 ST
00.1724.6572 LUFTABLASSVENTIL       QC 24-25    1/4" 3,00 ST
00.1281.0120 WELLENMUTTER    KM13  M65X2 13,00 ST
00.1724.6748 FUEHRUNGSBUECHSE NR. HDP-01.02 6,00 ST
00.1280.7100 PN-WANDLER FESTO VPE-1/8-SW 1,00 ST
00.2553.1628 LUEFTERFLUEGEL NR. BV 90     ä19 7,00 ST
00.1250.8202 RILLENKUGELLAGER 6306-2Z  DIN 625 6,00 ST
00.1580.4530 WELLENDICHTRING BASL 50X85X13 72NBR902 10,00 ST
00.2531.0158 ZAHNRIEMENSCHEIBE 6F 27AT5/15-2 12,00 ST
00.1260.4102 NADELLAGER NKI 12/16 7,00 ST
00.2531.0442 SCHNECKENRAD 34 ZAEHNE  NR.321317 2,00 ST
00.1281.2184 FLEXO-KUPPLUNG FK-M8 5,00 ST
00.2541.0580 Wellendichtring B2 100x120x13 10,00 ST
00.2170.4096 WINKEL DIN 8063-W2-63 9,00 ST
00.1580.2365 WELLENDICHTRING BA  30X55X10 72NBR902-SI 17,00 ST
00.1724.5016 TEFLON-DICHTUNG NR. 11.175.9 51,00 ST
00.1281.2942 DURCHGANGSSTÜCK AG M10x1, M8x1; 404006DK38,00 ST
00.1581.6084 NUTRING 10-18-5 10,00 ST
00.1257.0326 AX.RILLENKUGELLAGER DIN 711 - 512 06 7,00 ST
00.1580.6471 WELLENDICHTRING B2  75X100X12 72NBR902 7,00 ST
00.1520.3148 SCHMALKEILRIEMEN - SPZ 1737 LW 12,00 ST
00.1583.8170 LIPPENRING V612/70-90-18 6,00 ST
00.1582.6110 ABSTREIFER AS 120-130-7/10 7,00 ST
00.2502.5092 PATRONE TYP: C 1049 NR.730512 6,00 ST



00.1281.2840 WINKELEINSCHRAUBANSCHLUSS M5, D=6 20,00 ST
00.2553.0380 RIEMENSCHEIBE 6-RILL. ä129X77 1,00 ST
00.2531.0186 PARKER-SCHRAUBSCHLAUCH TYP: 421SN-4 11,00 M
00.1580.8440 WELLENDICHTRING B2 118X140X13 6,00 ST
00.2508.1457 ZAHNRIEMEN SYNCHROFLEX 25AT10/700 3,00 ST
00.2508.1432 ZAHNRIEMEN 16AT5/750 4,00 ST
00.2531.0212 FALTENBALG TH-59 NR.001983600 8,00 ST
00.1260.4280 NADELLAGER NKI 35/30 5,00 ST
00.1257.0034 AX.RILLENKUGELLAGER DIN 711 - 511 08 8,00 ST
00.1583.8130 LIPPENRING  10/25-45-15-12,5 15,00 ST
00.1724.5020 NIPPEL MIT MUTTER NR.111767 12,00 ST
00.1250.6074 RILLENKUGELLAGER 6202-2Z  DIN 625 17,00 ST
00.1281.2944 DURCHGANGSSTÜCK AG M10x1; 406004DK 27,00 ST
00.2171.1084 GF-PVC-MUFFEN       D11/2'' 10,00 ST
00.2531.0138 ZAHNRIEMENSCHEIBE ST 40AT10/32-2DR 1,00 ST
00.1580.4412 WELLENDICHTRING BA  45X62X10 14,00 ST
00.2214.5120 GEHAEUSEUNTERTEIL GESCHLOSSEN  6-POLIG 7,00 ST
00.1581.6250 NUTRING 20-30-8 11,00 ST
00.1281.0092 WELLENMUTTER    KM 5  M25X1,5 13,00 ST
00.2160.6112 PRESSLUFTSCHLAUCH IMP. 13X5 16,00 M
00.1520.2104 KEILRIEMEN 8 X 425 DIN 2215 50,00 ST
00.1583.8210 LIPPENRING V648/82-100-12 4,00 ST
00.2174.0108 PE BLINDKAPPEN         PN 10  DA 32 KURZ 15,00 ST
00.1252.0186 GELENKLAGER  GE 50 ES DIN648 4,00 ST
00.1520.3342 SCHMALKEILRIEMEN - SPA 2032 LW 5,00 ST
00.2171.1096 MUFFE DIN 8063 - MGI 20 18,00 ST
00.1520.3284 KEILRIEMEN - SPA 1557 LW 7,00 ST
00.2174.0116 PE BLINDKAPPEN         PN 10  DA 50 KURZ 7,00 ST
00.2150.2018 VERSCHRAUBUNG DS 14 DIN 2353-ST-GT 10,00 ST
00.2225.0022 TRANSFORMATOR typ: ist 473/21 220/380v 1,00 ST
00.2212.8220 SICHERUNGSEINSATZ-NH GR. 0/63 A  3NA1118 21,00 ST
00.2508.1459 ZAHNRIEMEN SYNCHROFLEX 25T10/780 3,00 ST
00.1580.4403 WELLENDICHTRING B2  45X60X10 72NBR902-SI 12,00 ST
00.1251.8558 PENDELKUGELLAGER 2204  DIN 630 4,00 ST
00.1257.0318 AX.RILLENKUGELLAGER DIN 711 - 512 04 5,00 ST
00.1520.3264 SCHMALKEILRIEMEN - SPA 1432 LW 7,00 ST
00.2150.5112 SCHWENKVERSCHRAUBUNG S12 PB400 HW12 PSR6,00 ST
00.1520.3228 SCHMALKEILRIEMEN - SPA 1157 LW 8,00 ST
00.2170.3930 GF-KLEBEFITTINGS PVC   BOGEN 90 GR. D 25 15,00 ST
00.1520.3218 SCHMALKEILRIEMEN - SPA 957 LW 14,00 ST
00.1281.0041 DROSSELRÜCKSCHLAGVENTIL GR-QS-6 4,00 ST
00.2171.1112 MUFFE DIN 8063-MGI50 11,00 ST
00.1582.6078 ABSTREIFER     40-50-5/8 15,00 ST
00.1724.6762 FEDERTELLER NR. HPD-01.13 10,00 ST
00.1580.8157 WELLENDICHTRING B2 135X160X15 72NBR902 3,00 ST
00.1520.2516 KEILRIEMEN 17 X 2240 DIN 2215 6,00 ST
00.2171.2100 PVC-MEMBRANVENTIL   1/2 ZOLL 3,00 ST
00.2553.0218 LUEFTERFLUEGEL NR. 3198867   ä25 4,00 ST
00.1520.3276 SCHMALKEILRIEMEN - SPA 1732 LW 8,00 ST
00.1520.2862 KEILRIEMEN 25 X 3950 DIN 2216 3,00 ST
00.1581.6507 NUTRING 55-65-5 10,00 ST
00.1281.2940 DURCHGANGSSTÜCK AG M8x1; 404003DK 35,00 ST
00.2174.0000 PE-GOEMA-RED-STUECK DA32 X DA20 19,00 ST



00.2170.6010 ROHRVERSCHRAUBUNG DIN 8063-V2-16 PVC 17,00 ST
00.2170.8032 T-STUECK DIN 8063-T40 14,00 ST
00.2508.1183 ZAHNRIEMEN SYNCHROFLEX 10T10/1080 5,00 ST
00.1281.2234 STECKNIPPEL G 1/4 M.AUSSENGEWINDE 17,00 ST
00.2541.0556 AX.RILLENKUGELLAGER DIN 711 - 511 20 1,00 ST
00.1281.2616 SCHALLDÄMPFER U-M5 41,00 ST
00.1257.0030 AX.RILLENKUGELLAGER DIN 711 - 511 07 8,00 ST
00.2553.0224 LUEFTERFLUEGEL NR. V112R     ä28 9,00 ST
00.2170.4010 WINKEL DIN 8063-W1-16 52,00 ST
00.1281.2136 SCHLAUCHTUELLE  R 1/2-13 MM 23,00 ST
00.1581.6412 NUTRING 40-60-10 9,00 ST
00.1250.6294 RILLENKUGELLAGER 6209-2Z/C3 DIN625 4,00 ST
00.1581.6280 NUTRING 30-40-10 9,00 ST
00.2174.0010 PE-GOEMA-RED-STUECK DA40 X DA32 16,00 ST
00.1279.0016 GELENKKOPF SAKAC 12M 3,00 ST
00.1250.6048 RILLENKUGELLAGER 6201-2Z/C3 20,00 ST
00.2170.4088 WINKEL DIN 8063-W2-40 17,00 ST
00.2508.1190 ZAHNRIEMEN SYNCHROFLEX 16T5/455 6,00 ST
00.1583.8150 LIPPENRING  31/70-85-11,5 4,00 ST
00.2133.1006 MANOMETER-KLEIN     TYP 01/L6/10 9,00 ST
00.1582.2184 NUTRING 80-100-10 10,00 ST
00.2133.1016 DRUCKMESSGERAET 0-40 BAR NR. L133.0334 2,00 ST
00.1520.2476 KEILRIEMEN 17 X 1400 DIN 2215 9,00 ST
00.1580.4414 WELLENDICHTRING BA  45X72X8 7,00 ST
00.1520.3274 SCHMALKEILRIEMEN - xPA 1882 LW 6,00 ST
00.1281.2350 VERSCHRAUBUNG LCK-M5-PK-4 23,00 ST
00.1581.6278 NUTRING 30-40-5 15,00 ST
00.1582.6082 ABSTREIFER     48-60-7/10 15,00 ST
00.2174.0124 PE BLINDKAPPEN         PN  6  DA 75 KURZ 3,00 ST
00.1520.3096 SCHMALKEILRIEMEN - SPZ 987 LW 16,00 ST
00.2170.8040 T-STUECK DIN 8063-T63 8,00 ST
00.2170.4068 GF-PVC-UE.WINKEL    90GR.D63-2 5,00 ST
00.1520.2464 KEILRIEMEN 17 X 1250 DIN 2215 10,00 ST
00.2150.4024 VERSCHRAUBUNG GL 18 DIN 2353-ST-GT 6,00 ST
00.2171.1140 GF-PVC-KAPPEN       D 2'' 11,00 ST
00.1281.2232 STECKNIPPEL G 1/8 M.AUSSENGEWINDE 14,00 ST
00.1250.2134 RILLENKUGELLAGER 626-2RS1/C3 DIN 625 14,00 ST
00.2212.8324 SICHERUNGSEINSATZ-NH GR. 1/80 A  3NA1220 15,00 ST
00.1582.6050 ABSTREIFER AS  30-40-7/10 15,00 ST
00.1582.2178 NUTRING 75-95-10 4,00 ST
00.1724.5030 STUTZEN NR.11.170.8 4,00 ST
00.2502.5144 LAMELLE TEIL 3 FUER CLFG61V-83765904 1,00 ST
00.2120.8066 REDUZIERVENTIL FESTO TYP: LR-1/4 2,00 ST
00.2554.1210 TRAGROLLENEINSATZ TYP: TRE-3.470/6201 35,00 ST
00.2218.1354 KNOPFBATTERIE CR 2025   3 V 46,00 ST
00.1261.0074 NADELHUELSE HK 1612 - SKF 22,00 ST
00.1281.2444 BLINDSTOPFEN B-1/4 68,00 ST
00.1580.6450 WELLENDICHTRING B2  75X95X13 72NBR902-SI 6,00 ST
00.1724.6568 SICHERHEITSVENTIL      6 BAR       1/4" 3,00 ST
00.1580.4420 WELLENDICHTRING BASL 45X90X10 72NBR902 9,00 ST
00.1260.4094 NADELLAGER NK 10/12 9,00 ST
00.2223.4086 NÄHERUNGSSCHALTER IGB-3005-BPKG 2,00 ST
00.1581.6090 NUTRING 12-25-8 11,00 ST



00.1580.6200 WELLENDICHTRING BA  65X90X10 9,00 ST
00.1251.3002 Nilosringe 6010 AV 26,00 ST
00.2531.0140 ZAHNRIEMENSCHEIBE ST 40AT10/28-2DR 1,00 ST
00.1580.4504 WELLENDICHTRING BA  50X65X8 11,00 ST
00.2531.0033 PARKER-PRESSARMATUR TYP:1CE48-12-6   9,5 15,00 ST
00.2150.4128 VERSCHRAUBUNG KL 22 DIN 2353-ST-GT 5,00 ST
00.2170.8036 T-STUECK DIN 8063-T50 13,00 ST
00.1250.2146 RILLENKUGELLAGER 627     DIN 625 18,00 ST
00.2508.1490 ZAHNRIEMEN SYNCHROFLEX 16T10/1750 2,00 ST
00.2564.2608 SIEGLING-RIEMEN  80X2070 TYP: LT 1 B 1,00 ST
00.1520.2494 KEILRIEMEN 17 X 1750 DIN 2216 7,00 ST
00.1520.3208 SCHMALKEILRIEMEN - SPA 12,5X882 LW 10,00 ST
00.1580.2152 WELLENDICHTRING B2  25X47X10 72NBR902-SI 9,00 ST
00.2553.1680 LUEFTERFLUEGEL TYP: CS 132 8,00 ST
00.2171.1100 MUFFE DIN 8063 - MGI 25 15,00 ST
00.1281.3008 WINKELEINSCHRAUBANSCHLUSS SCHWENKBAR 1/823,00 ST
00.2170.4080 WINKEL DIN 8063-W2-25 20,00 ST
00.2174.0028 PE-GOEMA-RED-STUECK DA90 X DA75 8,00 ST
00.1580.0572 WELLENDICHTRING B2  17X40X10 DIN 3760-SI 10,00 ST
00.1259.2520 SPANNHUELSEN H 313 DIN 5415 6,00 ST
00.1250.4138 RILLENKUGELLAGER 6004-2RS DIN 625 12,00 ST
00.1281.2676 SCHLAUCH PA12 WEICH, NATUR  8 X 2 40,00 M
00.1580.2352 WELLENDICHTRING B2  30X50X12 72NBR902-SI 13,00 ST
00.2553.1752 BUCHSE F.LUEFTERFL. TYP: CS71/80-16 19,00 ST
00.1281.3452 DROSSELRUECKSCHLAG-VERSCHRAUBUNG M5  D63,00 ST
00.1584.4551 O-RING 60,0 X 2,5 22,00 ST
00.1281.0104 WELLENMUTTER    KM 9  M45X1,5 9,00 ST
00.2171.1240 GF-PVC-DOPPELNIPPEL D 2'' 11,00 ST
00.1250.2350 RILLENKUGELLAGER 16004-2Z/C3 7,00 ST
00.1520.2358 KEILRIEMEN 13 X 3150 DIN 2216 6,00 ST
00.2212.6670 SICHERUNGSELEMENTE  D 02 F.HUTSCHIENE 20,00 ST
00.1580.2148 WELLENDICHTRING B2  25X50X10 72NBR902-SI 14,00 ST
00.1581.8153 NUTRING 25-40-11 8,00 ST
00.1580.6290 WELLENDICHTRING BA  70X85X7 9,00 ST
00.2150.6128 VERSCHRAUBUNG QL 22 DIN 2353-ST-GT 5,00 ST
00.1281.2664 VAKUUM-SCHLAUCH   NW 10 X 2,9 20,00 M
00.1520.2450 KEILRIEMEN 17 X 1120 DIN 2215 8,00 ST
00.1252.0170 GELENKLAGER  GE 25 ES DIN648 6,00 ST
00.1581.8077 NUTRING 15-25-8 14,00 ST
00.1580.8400 WELLENDICHTRING B2 110X130X13 5,00 ST
00.1580.6206 WELLENDICHTRING A   65X100X10 7,00 ST
00.1584.4912 O-RING 140,0 X 6,0 - N - NBR70 6,00 ST
00.1520.3146 SCHMALKEILRIEMEN - SPZ 1700 LW 9,00 ST
00.1281.2606 SCHALLDAEMPFER  R 1/2" 10,00 ST
00.2225.0172 NÄHERUNGSSCHALTER SMEO-1-220 1,00 ST
00.1281.0090 WELLENMUTTER    KM 4  M20X1 18,00 ST
00.1580.4514 WELLENDICHTRING B1  50X70X10 11,00 ST
00.1251.0680 RILLENKUGELLAGER 61800-2Z/C3 6,00 ST
00.2150.4030 VERSCHRAUBUNG GL 28 DIN 2353-ST-GT 3,00 ST
00.1260.4838 INNENRING IR 30X35X20 - SKF 12,00 ST
00.1580.6038 WELLENDICHTRING BA  60X90X10 10,00 ST
00.2221.4046 HILFSSCHUETZ 3RH1140-1AP00 2,00 ST
00.1250.2345 RILLENKUGELLAGER 16002-2Z  DIN 625 8,00 ST



00.1250.8068 RILLENKUGELLAGER 6302-2Z  DIN 625 15,00 ST
00.1286.2930 KETTENGLIED 2FACH 5/8 X 3/8  GEKROEPFT 15,00 ST
00.2150.5032 ERM-DF.SCHWENK-VERSCHR.WH 18 KDFA3C 3,00 ST
00.2133.1000 MANOMETER 0- 60 BAR   63MM  R1/4 7,00 ST
00.2171.1136 GF-PVC-KAPPEN       D 11/2'' 11,00 ST
00.2150.4104 VERSCHRAUBUNG KL 6 DIN 2353-ST-GT 17,00 ST
00.1259.6250 GLEITLAGER-GLYCODUR  PBG  8-10-9,5 F 74,00 ST
00.2170.4084 WINKEL DIN 8063-W2-32 24,00 ST
00.1520.2514 KEILRIEMEN 17 X 2200 DIN 2216 6,00 ST
00.1520.3346 SCHMALKEILRIEMEN - SPA 2082 LW 6,00 ST
00.2174.0034 PE-GOEMA-RED-STUECK DA110 X DA75 6,00 ST
00.1520.3140 KEILRIEMEN - SPZ 1362 LW 9,00 ST
00.1580.0783 WELLENDICHTRING B2  20X40X10 72NBR902-SI 18,00 ST
00.1520.2314 KEILRIEMEN 13 X 1500 DIN 2215 9,00 ST
00.1520.3288 SCHMALKEILRIEMEN - SPA 2360 LW 5,00 ST
00.1581.8112 NUTRING 20-26-4 14,00 ST
00.2218.1378 BATTERIE 9V VARTA   E-BLOCK 25,00 ST
00.2174.0128 PE BLINDKAPPEN         PN  6  DA 90 KURZ 2,00 ST
00.1581.6158 NUTRING 16-22-4 11,00 ST
00.1259.6226 GLEITLAGER-GLYCODUR  GLY.PG 25-28-25 F 17,00 ST
00.1281.2052 DRUCKLUFTSCHLAUCH M-PE 10/12 25,00 M
00.1280.7110 PN-VENTIL FESTO "UND-GL."  NW3 ZK-1/8 B 2,00 ST
00.1584.4146 O-RING 14,0 X 2,5 103,00 ST
00.1580.8640 WELLENDICHTRING B2 120X160X15 4,00 ST
00.1254.8202 KEGELROLLENLAGER 32206A - DIN 720 4,00 ST
00.2541.0572 O-Ring 80,0x3,0 - NBR872 100,00 ST
00.1583.8216 LIPPENRING  C1/95-107-8,5 6,00 ST
00.2171.4040 GF-PVC-SCHLAUCHTUE. D 1/4'' 37,00 ST
00.1520.2298 KEILRIEMEN 13 X 1168 DIN 2216 6,00 ST
00.2541.0528 O-Ring 140x3  - NBR70 50,00 ST
00.1520.3142 SCHMALKEILRIEMEN - SPZ 1462 LW 8,00 ST
00.2553.0358 RIEMENSCHEIBE 3-RILL. ä116X115/ BOHR.42 2,00 ST
00.1580.2700 WELLENDICHTRING B1  35X47X9 12,00 ST
00.2133.2030 BIMET.THERMOMETER  TD 51/08  0-120 GR. 15,00 ST
00.1581.6028 NUTRING 80 K 4,00 ST
00.1520.3350 BREITKEILRIEMEN  - SPA 21,5X9X765 4,00 ST
00.1279.0082 GELENKSTANGENKOPF SIL 30 ES M30X2 1,00 ST
00.1581.6098 NUTRING 12 K 17,00 ST
00.2150.4028 VERSCHRAUBUNG GL 22 DIN 2353-ST-GT 5,00 ST
00.1520.2036 KEILRIEMEN 5 X 600 DIN 2215 18,00 ST
00.1254.8142 KEGELROLLENLAGER 30212  - DIN 720 2,00 ST
00.1581.6430 NUTRING 42-55-6,5 11,00 ST
00.1251.2058 SCHULTERKUGELLAGER E 15 DIN 615 5,00 ST
00.2171.1032 MUFFE DIN 8063 - M 40 20,00 ST
00.1724.5026 BUECHSE NR.11.144.9 8,00 ST
00.1580.6117 WELLENDICHTRING B2  62X85X13 72NBR902-SI 7,00 ST
00.1250.6110 RILLENKUGELLAGER 6203-2RS DIN 625 12,00 ST
00.1281.0112 WELLENMUTTER    KM11  M55X2 10,00 ST
00.1259.2306 SPANNHUELSEN H 206 DIN 5415 12,00 ST
00.2508.1453 ZAHNRIEMEN SYNCHROFLEX 25T5/575 4,00 ST
00.1250.4206 RILLENKUGELLAGER 6006-2Z  DIN 625 9,00 ST
00.2508.1194 ZAHNRIEMEN SYNCHROFLEX 12T5/365 7,00 ST
00.1580.4082 WELLENDICHTRING BA  40X55X8 11,00 ST



00.1520.2294 KEILRIEMEN 13 X 1090 DIN 2216 8,00 ST
00.1257.0054 AX.RILLENKUGELLAGER DIN 711 - 511 13 3,00 ST
00.1582.6010 ABSTREIFER     12-40-4-6 12,00 ST
00.2541.0552 O-Ring 250x4 - NBR70 10,00 ST
00.2212.7050 SICHERUNG-NEOZED       D02, 35A FF 20,00 ST
00.1251.0262 RILLENKUGELLAGER 4203A - SKF 5,00 ST
00.1582.6000 ABSTREIFER     10-16-4/6 19,00 ST
00.1520.2468 KEILRIEMEN 17 X 1320 DIN 2215 7,00 ST
00.1584.4274 O-RING 27,0 X 5,0 - N - NBR70 12,00 ST
00.1250.4266 RILLENKUGELLAGER 6008-2Z  DIN 625 11,00 ST
00.2508.1436 ZAHNRIEMEN AT10/1010 4,00 ST
00.1580.4740 WELLENDICHTRING BA  55X75X10 13,00 ST
00.1261.0010 NADELHUELSE HK 0609 - SKF 27,00 ST
00.2150.4108 VERSCHRAUBUNG KL 8 DIN 2353-ST-GT 10,00 ST
00.1520.2486 KEILRIEMEN 17 X 1600 DIN 2215 8,00 ST
00.2150.2030 VERSCHRAUBUNG DL 28 DIN 2353-ST-GT 7,00 ST
00.1257.0350 AX.RILLENKUGELLAGER DIN 711 - 512 18 1,00 ST
00.2508.1492 ZAHNRIEMEN BRECO 16T10/1750 PAZ-V 2,00 ST
00.1281.2632 RINGSTUECK LK-1/4-PK-6 16,00 ST
00.1583.8000 LIPPENRING  41/10-18-5,5 12,00 ST
00.1254.8200 KEGELROLLENLAGER 32005X - DIN 720 4,00 ST
00.2223.2320 STEUERNOCKEN TYP: U1216-10 5,00 ST
00.1580.2372 WELLENDICHTRING BA  32X52X7 13,00 ST
00.2150.0602 Erm.Reduzieranschluss Typ: RED.18/15-PL 10,00 ST
00.2212.6090 SICHERUNG-SILIZED      25 A 19,00 ST
00.1281.2194 KUPPLUNGSSTECKER Typ: KS-1/8 Nr.3492 27,00 ST
00.1259.6300 GLEITLAGER-IGUS WFM-068-10 65,00 ST
00.1281.2648 FLEXOPNEU-SCHLAUCH PX-4 15,00 M
00.2508.1191 ZAHNRIEMEN SYNCHROFLEX 16T5/500 5,00 ST
00.1257.0038 AX.RILLENKUGELLAGER DIN 711 - 511 09 3,00 ST
00.1582.2176 NUTRING 70-79-12,5 3,00 ST
00.1581.6580 NUTRING 58-70-6 7,00 ST
00.1583.8090 NUTRING 40-48-8 PRAEDIFA PROFIL 28 10,00 ST
00.1520.2317 KEILRIEMEN 13 X 1549 DIN 2216 9,00 ST
00.2171.1076 GF-PVC-MUFFEN       D 1'' 9,00 ST
00.1580.7090 WELLENDICHTRING BA  95X120X12 6,00 ST
00.2553.1666 LUEFTERFLUEGEL TYP: CS 112 8,00 ST
00.1250.8100 RILLENKUGELLAGER 6303-2RS DIN 625 9,00 ST
00.1250.4010 RILLENKUGELLAGER 63006-2RS DIN625 4,00 ST
00.2541.0534 O-Ring 75x2,5  - NBR70 100,00 ST
00.1286.2802 VERSCHLUSSGLIED NR.10 GERADE 36,00 ST
00.1281.2814 EINSCHRAUBANSCHLUSS GERADE D=8  1/8" 20,00 ST
00.2533.0106 Druckregelventil Festo LR-1/2-D-Midi 1,00 ST
00.1281.2916 EINSTECKHÜLSEN F.ROHR 10X1,5; 410603 100,00 ST
00.1260.6024 NADELLAGER NKS 50 2,00 ST
00.2150.2028 VERSCHRAUBUNG DL 22 DIN 2353-ST-GT 9,00 ST
00.1256.2200 PENDELROLLENLAGER 2203 ETN9 3,00 ST
00.1280.7112 PN-VENTIL FESTO "ODER-GL." NW3 OS-1/4 B 2,00 ST
00.1582.6052 ABSTREIFER AS  30-45-5/8 24,00 ST
00.1583.8140 LIPPENRING  42/53-63-7 9,00 ST
00.1581.8200 NUTRING 30-45-10 9,00 ST
00.1580.2356 WELLENDICHTRING B2  30X50X10 11,00 ST
00.1582.5006 ABSTREIFER-PU7 7,00 ST



00.1252.0160 GELENKLAGER  GE 8 E  DIN648 11,00 ST
00.2508.1179 ZAHNRIEMEN SYNCHROFLEX 10T5/305 7,00 ST
00.2174.0022 PE-GOEMA-RED-STUECK DA75 X DA63 7,00 ST
00.2150.9010 ERM-GER.REDUZIERUNG    GR 10-6 S 6,00 ST
00.2212.5012 SICHERUNGEN-GLASROHR DIN41571 100 MA 110,00 ST
00.1520.2506 KEILRIEMEN 17 X 2000 DIN 2215 6,00 ST
00.1580.6026 WELLENDICHTRING BA  72X95X10 6,00 ST
00.1281.2110 SCHLAUCHTUELLE  N 1/8-P 6 52,00 ST
00.2170.8016 T-STUECK DIN 8063-T20 21,00 ST
00.1580.0200 WELLENDICHTRING B1  12X20X5 13,00 ST
00.1580.6307 WELLENDICHTRING AS  70X90X10 DIN 3760-SI 5,00 ST
00.2508.1182 ZAHNRIEMEN SYNCHROFLEX 10T5/620 6,00 ST
00.1520.2509 KEILRIEMEN 17 X 2100 DIN 2216 5,00 ST
00.1520.3202 SCHMALKEILRIEMEN - SPA 12,5X800 LW 11,00 ST
00.1281.0012 PN-RUECKSCHLAGVENTIL RHD 8 PS 6,00 ST
00.2553.1690 LUEFTERFLUEGEL TYP: CS 160 3,00 ST
00.2218.1370 BATTERIE 1.5V 3014  VARTA BABY 35,00 ST
00.1581.8053 NUTRING 12-22-5 13,00 ST
00.1281.2304 VERSCHRAUBUNG LCK-1/8-PK-6 32,00 ST
00.2172.7026 PE-HART-VORSCHW.BU  DA63-NW50 6,00 ST
00.1580.8110 WELLENDICHTRING B2SL 110X140X13 4,00 ST
00.1580.4556 WELLENDICHTRING BA  56X70X8 9,00 ST
00.1581.6260 NUTRING 25-42-8,5 10,00 ST
00.1251.8132 RILLENKUGELLAGER 63004-2RS1 5,00 ST
00.2170.4028 WINKEL DIN 8063-W1-32 21,00 ST
00.1580.4548 WELLENDICHTRING BA  50X80X8 5,00 ST
00.2171.4052 GF-PVC-SCHLAUCHTUE. D 3/4'' 19,00 ST
00.1250.6106 RILLENKUGELLAGER 6203-2Z  DIN 625 12,00 ST
00.1580.2746 WELLENDICHTRING BA  35X62X7 11,00 ST
00.1257.0314 AX.RILLENKUGELLAGER DIN 711 - 512 03 6,00 ST
00.1281.0404 NUTMUTTER SELBSTS. GUP 70X2 3,00 ST
00.1520.2828 KEILRIEMEN 25 X 1800 DIN 2215 3,00 ST
00.1582.6042 ABSTREIFER     20-28-4/7 20,00 ST
00.1259.2316 SPANNHUELSEN H 211 DIN 5415 6,00 ST
00.1520.3064 SCHMALKEILRIEMEN - SPZ 9,5X850 LW 11,00 ST
00.1580.4091 WELLENDICHTRING BA  40X60X10 12,00 ST
00.1251.8134 PENDELKUGELLAGER 1211  DIN 630 5,00 ST
00.2218.1374 BATTERIE 1.5V 4003  VARTA MIKRO 80,00 ST
00.1281.2334 VERSCHRAUBUNG TCK-1/8-PK-6 24,00 ST
00.1581.6220 NUTRING 22-30-5,5 10,00 ST
00.2171.4060 GF-PVC-SCHLAUCHTUE. D 11/4'' 10,00 ST
00.1520.3700 KEILRIEMEN - XPA 1000 LW 9,00 ST
00.1580.0310 WELLENDICHTRING B1  15X35X7 DIN 3760-SI 11,00 ST
00.1259.2312 SPANNHUELSEN H 209 DIN 5415 5,00 ST
00.1581.5012 NUTRING NR.1843 2,00 ST
00.2171.1326 GF-PVC-STOPFEN      D 1/2'' 21,00 ST
00.1581.4098 TOPFMANSCHETTE     80-130-10 4,00 ST
00.1251.8086 PENDELKUGELLAGER 1207  DIN 630 4,00 ST
00.2212.5050 SICHERUNGEN-GLASROHR DIN41571  16 A 110,00 ST
00.1261.0090 NADELHUELSE HK 2016 19,00 ST
00.2171.4068 GF-PVC-SCHLAUCHTUE. D 20 MM 24,00 ST
00.1520.2454 KEILRIEMEN 17X1175 6,00 ST
00.2508.1177 ZAHNRIEMEN SYNCHROFLEX 10T5/150 7,00 ST



00.2170.8024 T-STUECK DIN 8063-T25 23,00 ST
00.2508.1428 ZAHNRIEMEN optibelt t10/440 4,00 ST
00.1250.2086 RILLENKUGELLAGER 624-2RS DIN 625 9,00 ST
00.2222.5094 PUFFERBATTERIE 6ES5980-OAE11 5,00 ST
00.1580.4120 WELLENDICHTRING A   42X62X8 DIN 3760-SI 10,00 ST
00.2223.2610 ROLLENHEBEL F. POSITIONSSCHALTER 3SE3 3,00 ST
00.1259.6210 GLEITLAGER-GLYCODUR  GLY.PG 14-16-15 A 41,00 ST
00.1281.3020 ANSCHLUSSTUECK M.KEGEL.GEW. NR.404006K28,00 ST
00.1281.2666 PVC-SCHLAUCH MIT STAHLSPIRALE LW13X3,2 10,00 M
00.1520.2500 KEILRIEMEN 17 X 1850 DIN 2216 4,00 ST
00.1251.8586 PENDELKUGELLAGER 2207  DIN 630 4,00 ST
00.1580.2165 WELLENDICHTRING BAfud2x7 25x62x10 72nbr 9,00 ST
00.1585.0150 FALTENBALG NR.440 2,00 ST
00.1520.3216 SCHMALKEILRIEMEN - SPA 932 LW 8,00 ST
00.2172.7044 PE-HART-VORSCHW.BU  DA110-NW90 4,00 ST
00.2553.1692 LUEFTERFLUEGEL TYP: CS 180 2,00 ST
00.1580.4560 WELLENDICHTRING BA  56X85X8 6,00 ST
00.1580.4510 WELLENDICHTRING B2  50X68X10 72NBR902-SI 14,00 ST
00.1281.2244 WINKELSTUECK M.DICHTUNG G-1/8 - A/I 34,00 ST
00.2531.0214 DRUCKFEDER  0,7-4,1-5,5-60 MM IF=19 24,00 ST
00.1582.6116 ABSTREIFER AS  40-50-7/10 23,00 ST
00.1269.6050 WELLENUNTERSTUETZUNG WU 50-25 1,00 ST
00.1520.2422 KEILRIEMEN 17 X 900 DIN 2215 13,00 ST
00.1257.0042 AX.RILLENKUGELLAGER DIN 711 - 511 10 4,00 ST
00.2553.0244 LUEFTERFLUEGEL NR. 2.100-1/112   ä29 5,00 ST
00.2553.1620 LUEFTERFLUEGEL NR. BV 80     ä15 12,00 ST
00.2171.1332 GF-PVC-STOPFEN      D 11/4'' 11,00 ST
00.1281.2218 VERSCHRAUBUNG CK-3/8-PK-6 29,00 ST
00.2214.5230 GEHAEUSEOBERTEIL M.STOPFB.VERSCHR.16-POL5,00 ST
00.1580.4490 WELLENDICHTRING BA  48X80X10/8 8,00 ST
00.1724.5014 DRUCKFEDER NR.11.145.7 14,00 ST
00.1520.3232 SCHMALKEILRIEMEN - SPA 1207 LW 5,00 ST
00.1580.4092 WELLENDICHTRING BA  40X62X7 72NBR902-SIM 7,00 ST
00.1281.2830 EINSCHRAUBANSCHLUSS GERADE D=10 1/4" 10,00 ST
00.1580.4400 WELLENDICHTRING B2  44X60X10 72NBR902-SI 7,00 ST
00.1580.4402 WELLENDICHTRING B2  45X65X10 72NBR902-SI 5,00 ST
00.2174.0120 PE BLINDKAPPEN         PN 10  DA 63 KURZ 3,00 ST
00.1281.2810 EINSCHRAUBANSCHLUSS GERADE D=6  1/8" 18,00 ST
00.1580.8914 WELLENDICHTRING BA  55X85X8 DIN3760-SI 9,00 ST
00.1520.2472 KEILRIEMEN 17 X 1350 DIN 2216 6,00 ST
00.1257.0006 AX.RILLENKUGELLAGER DIN 711 - 511 01 9,00 ST
00.2171.0168 GF-PVC-REDUKT.KURZ  D50-32 20,00 ST
00.1281.2936 ÜBERWURFSCHRAUBE AG M16x1,5; 410612 20,00 ST
00.2223.2100 ENDTASTER-EINS.M.STOESSEL 3SE3020-3A 4,00 ST
00.2132.1010 VAKUUMMETER -1 BIS 0 BAR R1/2 Z D=100 3,00 ST
00.1250.3000 RILLENKUGELLAGER 28390360 8,00 ST
00.1259.6256 GLEITLAGER-GLYCODUR  PBG 12-14-15 F 18,00 ST
00.1286.2925 KETTENGLIED 2FACH 5/8 X 3/8 NR.10 24,00 ST
00.2174.0020 PE-GOEMA-RED-STUECK DA75 x DA50 6,00 ST
00.1580.2296 WELLENDICHTRING BAfud2x7 25x52x7 72nbr 8,00 ST
00.1581.6262 NUTRING 25-35-8 5,00 ST
00.1581.6390 NUTRING 38-50-6 7,00 ST
00.1281.2274 VERTEILERSTUECK FR-1/8 - A/I 27,00 ST



00.1580.2163 WELLENDICHTRING B2  25X52X10 72NBR902-SI 6,00 ST
00.1581.6088 NUTRING 10-25-8 8,00 ST
00.1580.4542 WELLENDICHTRING B2  48X70X12 72NBR902-SI 7,00 ST
00.1281.3300 DOPPELSTECKNIPPEL METALL D4 39,00 ST
00.2218.1358 KNOPFBATTERIE SANYO CR 2032 3V 30,00 ST
00.1281.2804 EINSCHRAUBANSCHLUSS GERADE D=4  1/4" 22,00 ST
00.1520.3088 SCHMALKEILRIEMEN - SPZ 9,5X950 LW 9,00 ST
00.1582.6068 ABSTREIFER     30-38-4/7 11,00 ST
00.1209.9130 SPANNELEMENT  14 X 18  REN 8006 12,00 ST
00.2537.0624 Stuetzrolle NATV 17 PP - Ina 1,00 ST
00.1281.3400 DROSSELRUECKSCHLAG-VERSCHRAUBUNG 1/8 D42,00 ST
00.2150.2010 ERM-GER.E.SCHR.VERS GE  6-LR 31,00 ST
00.1259.2020 TAPERLOCK SPANNBUCHSE NR.2012/42 2,00 ST
00.1281.2314 VERSCHRAUBUNG LCX-1/4-PX-6 5,00 ST
00.1580.2360 WELLENDICHTRING B2  30X52X10 72NBR902-SI 6,00 ST
00.2171.1128 GF-PVC-KAPPEN       D 3/4'' 14,00 ST
00.2174.0112 PE BLINDKAPPEN         PN 10  DA 40 KURZ 7,00 ST
00.1580.4700 WELLENDICHTRING BA  55X70X8 6,00 ST
00.1520.2504 KEILRIEMEN 17 X 1950 DIN 2216 4,00 ST
00.1280.8102 KIPPSCHALTER H-30-S ZU VENTIL  SV-5-M5-B 2,00 ST
00.2508.1406 ZAHNFLACHRIEMEN 700 H 100 2,00 ST
00.1520.2308 KEILRIEMEN 13 X 1320 DIN 2215 9,00 ST
00.1281.2638 HOHLSCHRAUBE VT-1/4-3 7,00 ST
00.1259.6252 GLEITLAGER-GLYCODUR  PBG 10-12-12 F 38,00 ST
00.1580.2040 WELLENDICHTRING B1  25X38X7 72NBR902-SIM17,00 ST
00.1582.6012 ABSTREIFER     12-20-4/6 20,00 ST
00.1259.2514 SPANNHUELSEN H 310 DIN 5415 5,00 ST
00.2508.1499 ZAHNRIEMEN BRECOFLEX 16T10/2940 1,00 ST
00.2133.1014 MANOMETER GLYZ. 0-400 BAR 100MM 1,00 ST
00.1270.0502 KUGEL DW12 RB-12 103,00 ST
00.1580.8630 WELLENDICHTRING B2 120X150X15 3,00 ST
00.1724.6718 NUTRING 8-14,5-6 14,00 ST
00.1520.3266 SCHMALKEILRIEMEN - SPA 1482 LW 4,00 ST
00.2170.6068 GF-PVC-UE.-VERSCHR. 330D50-11/2' 2,00 ST
00.1582.6084 ABSTREIFER     50-58-5/7 5,00 ST
00.1582.6066 ABSTREIFER     32-40-4/7 11,00 ST
00.1261.0120 NADELHUELSE HK 2520 10,00 ST
00.2502.5106 SCHNECKENRAD TEIL 70 f.CLFG 41 3,00 ST
00.2553.1640 LUEFTERFLUEGEL NR. 145.20699.01  ä25 5,00 ST
00.1520.2202 KEILRIEMEN 10 X 1060 DIN 2215 11,00 ST
00.1580.8170 WELLENDICHTRING BA 100X120X12 4,00 ST
00.2551.0006 STIFT NR.: 9090-3642 7,00 ST
00.1250.8500 RILLENKUGELLAGER 676     DIN 625 7,00 ST
00.1281.3204 STOPFEN DURCHM. 8 37,00 ST
00.1281.2636 HOHLSCHRAUBE VT-1/4-2 11,00 ST
00.1281.0140 WELLENMUTTER    KM14  M70X2 5,00 ST
00.1582.6038 ABSTREIFER     18-28-5-7 12,00 ST
00.1580.0318 WELLENDICHTRING BA  15X35X10 13,00 ST
00.1251.8078 PENDELKUGELLAGER 1206K DIN 630 8,00 ST
00.1254.8110 KEGELROLLENLAGER 30204  - DIN 720 4,00 ST
00.1250.2114 RILLENKUGELLAGER 625-2Z  DIN 625 12,00 ST
00.2508.1449 ZAHNRIEMEN SYNCHROFLEX 10T5/720 4,00 ST
00.1581.6208 LIPPENRING  32/25-35-8 14,00 ST



00.1259.6144 GLEITLAGER-GLYCODUR  GLY.PG 18-20-25 F 20,00 ST
00.1580.4550 WELLENDICHTRING B2  50X80X10 72NBR902-SI 6,00 ST
00.2508.1189 ZAHNRIEMEN SYNCHROFLEX 10T5/420 5,00 ST
00.2172.7036 PE-HART-VORSCHW.BU  DA90-NW80 3,00 ST
00.1580.2651 WELLENDICHTRING A   35X47X7 DIN 3760-SI 10,00 ST
00.1580.0300 WELLENDICHTRING A   15X30X7 DIN 3760-SI 14,00 ST
00.2174.0100 PE BLINDKAPPEN         PN 10  DA 20 KURZ 12,00 ST
00.1281.2220 VERSCHRAUBUNG CK-M5-PK-3 34,00 ST
00.1724.6636 NIPPEL NR. S-101-18 13,00 ST
00.1580.0520 WELLENDICHTRING A   17X28X7 DIN 3760-SI 10,00 ST
00.2150.6104 VERSCHRAUBUNG QL 6 DIN 2353-ST-GT 11,00 ST
00.1520.2488 KEILRIEMEN 17 X 1650 DIN 2216 5,00 ST
00.1580.4088 WELLENDICHTRING B2  40X55X12 72NBR902-SI 14,00 ST
00.1281.3006 ROHRVERBINDER M.BEFEST. NR. 504004-M8X1 11,00 ST
00.1281.2470 DOPPELNIPPEL E-1/8-1/8 41,00 ST
00.2174.0036 PE-GOEMA-RED-STUECK DA110 X DA90 3,00 ST
00.1581.6008 NUTRING 15 K 4,00 ST
00.1281.2474 DOPPELNIPPEL E-1/8-1/4 45,00 ST
00.1520.2300 KEILRIEMEN 13 X 1200 DIN 2216 8,00 ST
00.2171.4044 GF-PVC-SCHLAUCHTUE. D 3/8'' 21,00 ST
00.1279.0006 GELENKKOPF SAKAC 8M 2,00 ST
00.1580.2366 WELLENDICHTRING B2  30X56X10 6,00 ST
00.2508.1185 ZAHNRIEMEN SYNCHROFLEX 10T5/340 5,00 ST
00.1581.0176 HUTMANSCHETTE  28-49-13-3 10,00 ST
00.1259.6220 GLEITLAGER-GLYCODUR  GLY.PG 22-25-30 F 15,00 ST
00.2171.1072 GF-PVC-MUFFEN       D 3/4'' 11,00 ST
00.2212.8328 SICHERUNGSEINSATZ-NH GR. 1/100A  3NA1221 9,00 ST
00.1520.2311 KEILRIEMEN 13 X 1400 DIN 2215 7,00 ST
00.2553.1710 BUCHSE F.LUEFTERFL. TYP: CS90/100-25 9,00 ST
00.2171.0164 GF-PVC-REDUNT.KURZ  D40-25 26,00 ST
00.1520.3054 KEILRIEMEN - SPZ 800 LW 12,00 ST
00.2171.1228 GF-PVC-DOPPELNIPPEL D 3/4'' 14,00 ST
00.1583.8102 LIPPENRING  32/24-32-7 7,00 ST
00.1584.4464 O-RING 48,0 x 8,0 - N - NBR70 5,00 ST
00.1281.2932 ÜBERWURFSCHRAUBE AG M10x1; 406612 40,00 ST
00.2218.1376 BATTERIE 1.5V 4006  VARTA MIGNON 68,00 ST
00.2223.2626 EINFACHSTOESSEL NR. 3SX3100 4,00 ST
00.2174.0014 PE-GOEMA-RED-STUECK DA50 X DA40 9,00 ST
00.1583.8050 LIPPENRING  42/14-22-5,5 9,00 ST
00.2223.2616 ROLLENSTOESSEL F. POSITIONSSCHALTER 3SE32,00 ST
00.1581.6380 NUTRING 32-40-4 7,00 ST
00.2225.0210 BEFESTIGUNGS-BAUSATZ SMBU-1-B NR.36173 4,00 ST
00.2150.6020 VERSCHRAUBUNG NL 15 DIN 2353-ST-GT 7,00 ST
00.2171.1124 GF-PVC-KAPPEN       D 3/8'' 15,00 ST
00.1584.4383 O-RING 38,0 X 3,5 - N - NBR70 60,00 ST
00.1580.2184 WELLENDICHTRING BA  28X38X7 72NBR902-SIM13,00 ST
00.1581.6258 NUTRING 25-17-5,5 8,00 ST
00.2580.4052 GLEITRING-DICHTUNG 016 KOHLE/KERAMIK KSB1,00 ST
00.1259.6138 GLEITLAGER-GLYCODUR  GLY.PG 18-20-20 F 19,00 ST
00.1520.3060 KEILRIEMEN - SPZ 837 LW-850 LA 8,00 ST
00.2171.1040 MUFFE DIN 8063 - M 63 8,00 ST
00.1724.5100 LUFTBLASPISTOLE TYP: LSP-1/4" D 3,00 ST
00.2171.1336 GF-PVC-STOPFEN      D 11/2'' 7,00 ST



00.1580.2664 WELLENDICHTRING BA  35X62X10 7,00 ST
00.2508.1400 ZAHNFLACHRIEMEN 1800-8 M30 1,00 ST
00.1281.0108 WELLENMUTTER    KM10  M50X1,5 6,00 ST
00.1580.6022 WELLENDICHTRING BA  60X78X10 5,00 ST
00.2531.0106 ZAHNRIEMENSCHEIBE LS 21T5/ 25-2 NAB.26X6 2,00 ST
00.2150.9008 ERM-GER.REDUZIERUNG    GR 8-6 S 3,00 ST
00.2150.2110 ERM-GERADE VERSCHR. G  6-L 12,00 ST
00.2133.2010 HEIZ.THERMOMETER       1/2" 4,00 ST
00.2133.2000 BIMET.THERMOMETER  TB100/212 0-160 GR. 1,00 ST
00.1281.2630 SCHLAUCHTUELLE  C-1/4-P-9 17,00 ST
00.1580.2020 WELLENDICHTRING BA  24X47X7 11,00 ST
00.2171.0176 GF-PVC-REDUKT.KURZ  D63-40 9,00 ST
00.1520.2306 KEILRIEMEN 13 X 1300 DIN 2216 7,00 ST
00.1584.4134 O-RING 12,42 x 1,78 -N - NBR70 26,00 ST
00.2553.1750 BUCHSE F.LUEFTERFL. TYP: CS71/80-14 10,00 ST
00.2553.0315 KETTENRAD 1/2 X 5/16 Z=18  L851106118 6,00 ST
00.2171.1226 GF-PVC-DOPPELNIPPEL D 1/2'' 13,00 ST
00.1257.0330 AX.RILLENKUGELLAGER DIN 711 - 512 07 2,00 ST
00.1583.8070 LIPPENRING  42/24-32-5,5 10,00 ST
00.2150.2120 VERSCHRAUBUNG EL 15 DIN 2353-ST-GT 9,00 ST
00.1724.5044 REGULIERSPINDEL NR.11.151.1 2,00 ST
00.1580.0902 WELLENDICHTRING B1  22X40X7 72NBR902-SIM11,00 ST
00.2171.1030 MUFFE DIN 8063 - M 32 17,00 ST
00.1581.4505 TOPFMANSCHETTE DUO  8-35-13 4,00 ST
00.1580.0220 WELLENDICHTRING B1  12X28X7 13,00 ST
00.1281.2674 SCHLAUCH PA12 WEICH, NATUR  8 X 1,5 25,00 M
00.2508.1438 ZAHNRIEMEN 8T5/940 CELLOFLEX 1,00 ST
00.2170.4024 WINKEL DIN 8063-W1-25 17,00 ST
00.1281.2900 POLYAMIDROHR WVN 715-RO,  4x0,85 20,00 M
00.2508.1352 RUNDRIEMEN PUR  5X401 ENDLOS 1,00 ST
00.1520.2214 KEILRIEMEN 10 X 1320 DIN 2215 8,00 ST
00.2171.1028 MUFFE DIN 8063 - M 25 22,00 ST
00.1580.2370 WELLENDICHTRING B1  32X50X7 11,00 ST
00.1260.4302 GEGENSCHEIBE CP 2/8/16 10,00 ST
00.1520.3050 KEILRIEMEN - xPZ 630 11,00 ST
00.1259.6218 GLEITLAGER-GLYCODUR  GLY.PG 20-23-20 F 15,00 ST
00.2172.7016 PE-HART-VORSCHW.BU. DA40-NW32 9,00 ST
00.1581.4514 TOPFMANSCHETTE DUO 10-50-25 2,00 ST
00.1251.3000 Nilosringe 6008 AV 24,00 ST
00.1260.4493 NADELLAGER NA 4904 2,00 ST
00.2171.1126 GF-PVC-KAPPEN       D 1/2'' 13,00 ST
00.2150.6028 VERSCHRAUBUNG NL 22 DIN 2353-ST-GT 2,00 ST
00.1520.2511 KEILRIEMEN 17 X 2120 DIN 2215 3,00 ST
00.1580.2354 WELLENDICHTRING A   32X45X7 DIN 3760-SI 14,00 ST
00.2170.8010 T-STUECK DIN 8063-T16 24,00 ST
00.2171.1236 GF-PVC-DOPPELNIPPEL D 11/2'' 7,00 ST
00.1281.2920 KEGELRING F.ROHR 4MM; NR. 404611 100,00 ST
00.2552.8020 ZAHNFLACHRIEMEN 150 L 050 1,00 ST
00.1520.2312 KEILRIEMEN 13 X 1475 DIN 2216 6,00 ST
00.1580.6520 WELLENDICHTRING A   80X110X10 4,00 ST
00.1583.8138 LIPPENRING  41/40-50-7 7,00 ST
00.2170.4016 WINKEL DIN 8063-W1-20 17,00 ST
00.1580.0524 WELLENDICHTRING A   17X32X7 DIN 3760-SI 18,00 ST



00.1281.2200 KUPPLUNGSDOSE  KD-3/8 4,00 ST
00.1582.9092 NUTRING 50-37-6 SIMKO 300 5,00 ST
00.1580.8600 WELLENDICHTRING B1 120X140X13 3,00 ST
00.1580.6360 WELLENDICHTRING BA  70X100X10 3,00 ST
00.1580.4003 WELLENDICHTRING A   40X52X7 DIN 3760-SI 8,00 ST
00.2225.0208 NÄHERUNGSSCHALTER SME-8-S-LED-24 1,00 ST
00.1583.8200 LIPPENRING  C1/90-102-8,5 7,00 ST
00.1582.6076 ABSTREIFER     35-45-7/10 8,00 ST
00.2171.1224 GF-PVC-DOPPELNIPPEL D 3/8'' 15,00 ST
00.1580.0703 WELLENDICHTRING B1  20X30X7 72NBR902-SIM11,00 ST
00.1580.2063 WELLENDICHTRING BA  25X40X8 72NBR902-SIM 9,00 ST
00.2553.1732 BUCHSE F.LUEFTERFL. TYP: CS112/132-40 8,00 ST
00.1581.6382 NUTRING 35-45-6 5,00 ST
00.2218.1372 BATTERIE 1.5V 3020  VARTA MONO 20,00 ST
00.2214.5220 SOCKELGEH.    HAN16 2,00 ST
00.1254.8212 KEGELROLLENLAGER 30207  - DIN 720 2,00 ST
00.1584.4846 O-RING 130,0 X 5,7 4,00 ST
00.2171.1080 GF-PVC-MUFFEN       D 11/4'' 5,00 ST
00.2214.5146 ANBAUGEHAEUSE          HAN 3A 9,00 ST
00.1281.2386 Verschraubung Festo QSMT-6-4; Nr.153369 12,00 ST
00.2170.0032 PVC HART-ROHR 40 X 3   DIN 8062 9,00 M
00.1580.2240 WELLENDICHTRING B2  28X52X10 72NBR902-SI 8,00 ST
00.1580.2666 WELLENDICHTRING BA  36X52X7 8,00 ST
00.1580.6180 WELLENDICHTRING B2  65X85X10 72NBR902-SI 4,00 ST
00.1281.2930 ÜBERWURFSCHRAUBE AG M8x1; 404612 40,00 ST
00.1520.3056 SCHMALKEILRIEMEN - SPZ 812 LW 8,00 ST
00.1582.6270 V-RING  V-250 A 2,00 ST
00.1281.2400 Befestigungswinkel HR-1/4-P; Nr.159503 11,00 ST
00.1520.2274 KEILRIEMEN 13 X 825 DIN 2216 9,00 ST
00.1281.2128 SCHLAUCHTUELLE  R 3/8-13 MM 19,00 ST
00.1581.6211 NUTRING 20-32-7,5 6,00 ST
00.2170.0036 PVC HART-ROHR 50 X 3,7 DIN 8062 8,00 M
00.1281.2680 TECALANROHR HART 10 X 1 10,00 M
00.1250.6010 RILLENKUGELLAGER 6200-2RS DIN 625 9,00 ST
00.1259.6248 GLEITLAGER-GLYCODUR  PBG  6-08-08 F 28,00 ST
00.1281.0048 Drosselrückschl.Vent. GRLA-1/8-QS-6-RS-D 2,00 ST
00.1281.2682 SCHLAUCH PA12 WEICH, NATUR 10 X 1,5 20,00 M
00.1582.6240 V-RING  V-100 5,00 ST
00.1580.2042 WELLENDICHTRING B1  25X42X7 72NBR902-SIM 9,00 ST
00.1584.4592 O-RING 63,0 X 5,3 8,00 ST
00.1281.2118 SCHLAUCHTUELLE  N 1/4-P 9 25,00 ST
00.2551.0010 ABSTREIFER NR.: 9030-3209 26,00 ST
00.1520.2222 KEILRIEMEN 10 X 1500 DIN 2215 7,00 ST
00.1281.0010 PN-RUECKSCHLAGVENT.WESTINGH.534.100.10003,00 ST
00.1584.4462 O-RING 46,0 X 2,0 - N - NBR70 23,00 ST
00.1582.6035 ABSTREIFER AS  16-26-5/8 5,00 ST
00.1259.2512 SPANNHUELSEN H 309 DIN 5415 3,00 ST
00.2133.1108 MANOMETER 0- 10 BAR   50MM  R1/4 4,00 ST
00.1259.2516 SPANNHUELSEN H 311 DIN 5415 2,00 ST
00.1520.3104 SCHMALKEILRIEMEN - SPZ 1012 LW 7,00 ST
00.1281.2812 EINSCHRAUBANSCHLUSS GERADE D=6  1/4" 12,00 ST
00.1281.2126 SCHLAUCHTUELLE  N 3/8-P 9 22,00 ST
00.1259.6192 GLEITLAGER-GLYCODUR  GLY.PG  8-10-12 F 52,00 ST



00.1259.6142 GLEITLAGER-GLYCODUR  GLY.PG 12-14-25 A 24,00 ST
00.1261.0018 NADELHUELSE HK 0808 B 16,00 ST
00.1580.2420 WELLENDICHTRING B2  33X50X10 5,00 ST
00.2171.1132 GF-PVC-KAPPEN       D 11/4'' 9,00 ST
00.2508.1196 ZAHNRIEMEN SYNCHROFLEX 16T5/400 3,00 ST
00.1250.6264 RILLENKUGELLAGER 6208-2RS DIN 625 2,00 ST
00.1583.8196 LIPPENRING  42/88-100-8,5 5,00 ST
00.1584.4154 O-RING 16,0 X 2,5 - N - NBR70 96,00 ST
00.1580.4554 WELLENDICHTRING BA  55X80X10 6,00 ST
00.1581.2562 TOPFMANSCHETTE     70-110-15 4,00 ST
00.1580.0750 WELLENDICHTRING B2  20X35X10 8,00 ST
00.1251.8140 PENDELKUGELLAGER 1212  DIN 630 1,00 ST
00.2508.1524 Zahnriemen 12AT5/920 Megadyne 1,00 ST
00.2133.1990 WASSERSACKROHR U-FORM  1/2" 3,00 ST
00.2171.1328 GF-PVC-STOPFEN      D 3/4'' 16,00 ST
00.1581.6490 NUTRING 51-63-6 7,00 ST
00.1520.2340 KEILRIEMEN 13 X 2150 DIN 2216 4,00 ST
00.2150.2258 EINSCHRAUBSTUTZEN GERADE EVGE 10-PLR-ED7,00 ST
00.1281.0400 NUTMUTTER SELBSTS. M50X1,5 2,00 ST
00.2508.1398 ZAHNRIEMEN 32AT10/840 1,00 ST
00.1580.8912 WELLENDICHTRING BA  45X80X10 DIN3760-SI 6,00 ST
00.1724.6711 DRUCKFEDER NR. S-108-9 50,00 ST
00.2171.1230 GF-PVC-DOPPELNIPPEL D 1'' 10,00 ST
00.1281.2330 VERSCHRAUBUNG TCK-1/8-PK-4 14,00 ST
00.2553.1708 BUCHSE F.LUEFTERFL. TYP: CS90/100-0 7,00 ST
00.1520.2268 KEILRIEMEN 13 X 750 DIN 2215 7,00 ST
00.1581.6097 NUTRING 12-18-4 7,00 ST
00.1584.4178 O-RING 18,0 X 2,0 93,00 ST
00.1257.0334 AX.RILLENKUGELLAGER DIN 711 - 512 08 2,00 ST
00.1580.0900 WELLENDICHTRING B1  20X52X7 72NBR902-SIM 7,00 ST
00.1584.4110 O-RING 10,0 X 3,0 - N - NBR70 21,00 ST
00.1281.2820 EINSCHRAUBANSCHLUSS GERADE D=8  1/4" 11,00 ST
00.1281.2478 DOPPELNIPPEL E-1/4-1/4 33,00 ST
00.2212.7020 SICHERUNG-NEOZED       D02, 20A 90,00 ST
00.1724.5056 VERSCHRAUBUNG NR.10.1834 4,00 ST
00.2214.5180 GEHAEUSEOBERTEIL M.STOPFB.VERSCHR.10-POL4,00 ST
00.1281.2278 VERTEILERSTUECK FR-1/4 - A/I 7,00 ST
00.1520.2072 KEILRIEMEN 6 X 400 DIN 2216 9,00 ST
00.1281.2914 EINSTECKHÜLSEN F.ROHR 8X1,25; 408603 86,00 ST
00.1281.2934 ÜBERWURFSCHRAUBE AG M14x1,5; 408612 19,00 ST
00.1581.6156 NUTRING 16-29-6 8,00 ST
00.1581.6235 NUTRING 22-35-7 8,00 ST
00.2150.6012 VERSCHRAUBUNG NL 10 DIN 2353-ST-GT 4,00 ST
00.2212.8076 GLASROHRSICHERUNG   5X20MM TRAEG 120,00 ST
00.2172.6012 PE EINLEGETEILE        PN 10  D  25 LANG 9,00 ST
00.2225.0226 BEFESTIGUNGS-BAUSATZ SMBR-25 6,00 ST
00.2170.3946 GF-KLEBEFITTINGS PVC   BOGEN 90 GR. D 50 2,00 ST
00.1261.0034 NADELHUELSE HK 1010 - SKF 14,00 ST
00.1580.2038 WELLENDICHTRING BA  25X37X7 72NBR902-SIM20,00 ST
00.2150.6008 VERSCHRAUBUNG NL 8 DIN 2353-ST-GT 4,00 ST
00.2212.8124 SICHERUNGSEINSATZ-NH GR.00/50 A  3NA1017 13,00 ST
00.2553.1770 BUCHSE F.LUEFTERFL. TYP: B112-32 7,00 ST
00.2212.8240 SICHERUNGSEINSATZ-NH GR. 0/100A  3NA1121 8,00 ST



00.2172.7008 PE-HART-VORSCHW.BU  DA20-NW15 11,00 ST
00.1584.4022 O-RING 3,0 X 1,7 23,00 ST
00.1520.3058 KEILRIEMEN - SPZ 687 LW 9,00 ST
00.1520.2490 KEILRIEMEN 17 X 1700 DIN 2215 3,00 ST
00.1580.4098 WELLENDICHTRING B2  40X72X12 72NBR902-SI 8,00 ST
00.1584.4076 O-RING 7,65 X 1,78 14,00 ST
00.1281.2902 POLYAMIDROHR WVN 715-RO;  6x1,25 15,00 M
00.2541.0578 Wellendichtring BAU 175x200x15 1,00 ST
00.1281.2222 VERSCHRAUBUNG CK-M5-PK-4 25,00 ST
00.1252.0192 GELENKLAGER  GE 20 ES DIN648 3,00 ST
00.2553.1652 LUEFTERFLUEGEL TYP: CS 80 9,00 ST
00.1520.2170 KEILRIEMEN 10 X 630 DIN 2215 8,00 ST
00.2531.4314 FUSSBEFESTIGUNG FESTO TYP: HP 50 2,00 ST
00.2505.0020 O-RING 100,0 X 4,0 - VITON 9,00 ST
00.1520.2354 KEILRIEMEN 13 X 2800 DIN 2215 3,00 ST
00.2508.1474 ZAHNRIEMEN OPTIBELT 225L-100 3,00 ST
00.1250.4242 RILLENKUGELLAGER 6007-2RS DIN 625 4,00 ST
00.1259.6260 GLEITLAGER-GLYCODUR  PBG 14-16-12 F 16,00 ST
00.2553.1730 BUCHSE F.LUEFTERFL. TYP: CS112/132-30 7,00 ST
00.1581.4564 TOPFMANSCHETTE DUO 12-75-30 3,00 ST
00.2553.0249 BUCHSE F.LUEFTERFL. TYP: CS90/100-24 7,00 ST
00.2172.7010 PE-HART-VORSCHW.BU  DA25-NW20 10,00 ST
00.2212.7024 SICHERUNG-NEOZED       D02, 25A 90,00 ST
00.1580.2345 WELLENDICHTRING B2  30X47X10 72NBR902-SI 6,00 ST
00.2207.4926 SCHWEISSLEITUNG     NSLFFOEU 3,00 M
00.1281.2452 BLINDSTOPFEN B-1/2 17,00 ST
00.1261.0036 NADELHUELSE HK 1210 10,00 ST
00.1580.2231 WELLENDICHTRING B2  28X50X10 72NBR902-SI 7,00 ST
00.1520.2252 KEILRIEMEN 13 X 560 DIN 2215 6,00 ST
00.1581.8140 NUTRING 25-40-6 6,00 ST
00.1520.2256 KEILRIEMEN 13 X 600 DIN 2215 7,00 ST
00.2508.1458 ZAHNRIEMEN SYNCHROFLEX 25T10/720 1,00 ST
00.2541.0518 O-Ring 45,7x1,5 - 72NBR872 2,00 ST
00.2541.0526 O-Ring 210x6 2,00 ST
00.2541.0530 O-Ring 255x3  - NBR70 2,00 ST
00.2541.0532 O-Ring 100x2,5  - NBR70 2,00 ST
00.2541.0538 O-Ring 233x3  - NBR72 2,00 ST
00.1259.6188 GLEITLAGER-GLYCODUR  GLY.PG  8-10-8 F 52,00 ST
00.1724.6608 RAENDELMUTTER NR. S-108-6 23,00 ST
00.1520.2182 KEILRIEMEN 10 X 800 DIN 2215 6,00 ST
00.1580.0210 WELLENDICHTRING A   12X22X7 DIN 3760-SI 8,00 ST
00.1520.2272 KEILRIEMEN 13 X 800 DIN 2215 7,00 ST
00.1724.6560 GUMMISCHLAUCH-PASTE    9X3 1/2 WD, ROT 20,00 M
00.2150.5108 SCHWENKVERSCHRAUBUNG S10 PB400 HW10 PSR3,00 ST
00.2150.0600 Erm.Reduzieranschluss Typ: RED.18/12-PL 5,00 ST
00.1281.2206 VERSCHRAUBUNG CK-1/8-PK-6; Nr.2028 34,00 ST
00.1281.2634 RINGSTUECK TK-1/4-PK-6 7,00 ST
00.1281.3100 KUPPLUNGSSTECKER TYP: KS-1/4 11,00 ST
00.2171.0166 GF-PVC-REDUKT.KURZ  D40-32 14,00 ST
00.2508.1450 ZAHNRIEMEN BRECOFLEX 10T5/660 4,00 ST
00.1281.2196 KUPPLUNGSSTECKER TYP: KS4-CK-6 11,00 ST
00.2171.1130 GF-PVC-KAPPEN       D 1 10,00 ST
00.1259.6400 ANLAUFSCHEIBE-GLYCOD. GLY.PXG 20360 1.5A24,00 ST



00.2508.1482 ZAHNRIEMEN SYNCHROFLEX 20T10/500 2,00 ST
00.1584.4704 O-RING 82,0 X 5,5 - N - NBR70 5,00 ST
00.2508.1188 ZAHNRIEMEN SYNCHROFLEX 12T5/280 3,00 ST
00.1281.2122 SCHLAUCHTUELLE  N 3/8-P 6 29,00 ST
00.1250.8134 RILLENKUGELLAGER 6304-Z   DIN 625 5,00 ST
00.2150.2116 VERSCHRAUBUNG EL 12 DIN 2353-ST-GT 11,00 ST
00.1281.2924  KEGELRING F.ROHR 8MM; NR. 408611 47,00 ST
00.1580.4500 WELLENDICHTRING B1  50X62X7 5,00 ST
00.2508.1198 ZAHNRIEMEN SYNCHROFLEX 20T5/390 2,00 ST
00.1260.4842 INNENRING IR 40X45X20 - SKF 4,00 ST
00.1281.2230 STECKNIPPEL N-M5-PK3 5,00 ST
00.1281.2912 EINSTECKHÜLSEN F.ROHR 6X1,25; 406613 110,00 ST
00.2553.1660 LUEFTERFLUEGEL TYP: CS 100 7,00 ST
00.1582.6034 LIPPENRING  41/16-24-5,5 6,00 ST
00.1581.8070 NUTRING 14-22-8 8,00 ST
00.1259.6145 GLEITLAGER-GLYCODUR  GLY.PG 20-23-30 F 10,00 ST
00.1582.6030 ABSTREIFER AS  16-22-3/4 12,00 ST
00.1583.8030 LIPPENRING  C1/14-22-5,5 9,00 ST
00.2508.1180 ZAHNRIEMEN SYNCHROFLEX 10T5/545 3,00 ST
00.2171.0178 GF-PVC-REDUKT.KURZ  D63-50 8,00 ST
00.2150.6120 VERSCHRAUBUNG QL 15 DIN 2353-ST-GT 3,00 ST
00.1520.2258 KEILRIEMEN 13 X 630 DIN 2215 6,00 ST
00.1251.0022 RILLENKUGELLAGER 6405     DIN 625 2,00 ST
00.1584.4702 O-RING 80,0 X 2,5 - N - NBR70 26,00 ST
00.1580.0110 WELLENDICHTRING B1  10X24X7 7,00 ST
00.1261.0042 NADELHUELSE HK 1214 - RS 9,00 ST
00.1580.2350 WELLENDICHTRING BA  30X47X8 72NBR902-SIM 5,00 ST
00.2171.1026 MUFFE DIN 8063 - M 20 14,00 ST
00.2133.1030 MANOMETER 0-600 BAR 1,00 ST
00.1281.2260 SCHNELLVERSCHRAUBUNG  8/10 11,00 ST
00.1259.2000 TAPERLOCK SPANNBUCHSE NR.2012/25 1,00 ST
00.1281.2316 VERSCHRAUBUNG LCK-3/8-PK-6 6,00 ST
00.1261.0098 NADELHUELSE HK 2030 5,00 ST
00.1580.0654 WELLENDICHTRING BA  19X30X7 72NBR902-SIM11,00 ST
00.1580.4122 WELLENDICHTRING B1  42X56X7 5,00 ST
00.2172.7014 PE-HART.VORSCHW.BU. DA32-NW25 7,00 ST
00.1724.5052 O-RING NR.11.105.8 19,00 ST
00.2170.8028 T-STUECK DIN 8063-T32 10,00 ST
00.2171.1024 MUFFE DIN 8063 - M 16 23,00 ST
00.2171.4064 GFPVC-SCHLAUCHTUE.  D 16 MM 15,00 ST
00.2508.1187 ZAHNRIEMEN SYNCHROFLEX 10T5/390 3,00 ST
00.1582.6230 V-RING  V-65 18,00 ST
00.1584.4032 O-RING 4,5 X 1,8 420,00 ST
00.1281.1102 SCHLAUCHVERBINDUNG L-PK-3 20,00 ST
00.2171.1330 GF-PVC-STOPFEN      D 1 11,00 ST
00.1251.2018 SCHULTERKUGELLAGER E 5 DIN 615 8,00 ST
00.1584.4610 O-RING 70,0 X 5,5 9,00 ST
00.1582.6102 ABSTREIFER     90-100-7/10 6,00 ST
00.2171.1092 MUFFE DIN 8063 - MGI 16 8,00 ST
00.2212.8130 SICHERUNGSEINSATZ-NH GR.00/63 A  3NA1018 12,00 ST
00.1261.0076 NADELHUELSE HK 1616 8,00 ST
00.1580.0569 WELLENDICHTRING B1  17X40X7 72NBR902-SIM 6,00 ST
00.2170.0028 PVC HART-ROHR 32 X 2,4 DIN 8062 9,00 M



00.2171.1340 GF-PVC-STOPFEN      D 2'' 5,00 ST
00.2172.6008 PE EINLEGETEILE        PN 10  D  20 LANG 9,00 ST
00.1281.2193 KUPPLUNGSSTECKER  1823351015 5,00 ST
00.1260.4806 INNENRING IR 10X13X12,5-SKF 10,00 ST
00.1724.6788 O-RING 54,0 X 3,0  WAHL NR. 70 9,00 ST
00.2553.1754 BUCHSE F.LUEFTERFL. TYP: CS71/80-20 7,00 ST
00.1581.6476 NUTRING 50-70-10 3,00 ST
00.1520.3072 SCHMALKEILRIEMEN - SPZ 9,5X900 LW 5,00 ST
00.1582.8120 NUTRING 25-38-7 5,00 ST
00.1520.3672 SCHMALKEILRIEMEN - SPA 12,5X3150 LW 1,00 ST
00.1259.6139 GLEITLAGER-GLYCODUR  GLY.PG 22-25-15 F 13,00 ST
00.2171.0144 GF-PVC-RED.KURZ     D 16-20 22,00 ST
00.1580.0738 WELLENDICHTRING A   20X35X7 DIN 3760-SI 7,00 ST
00.1580.2600 WELLENDICHTRING BA  34X52X10 72NBR902-SI 5,00 ST
00.2212.8016 SICHERUNGSEINSATZ   D II TRAEGE 75,00 ST
00.1582.6210 QUAD-RING  23,40 X 3,53 13,00 ST
00.2150.5104 SCHWENKVERSCHRAUBUNG S 8 PB400 HW 8 PSR3,00 ST
00.1281.2282 VERTEILERSTUECK FR-3/8 - A/I 5,00 ST
00.1520.2174 KEILRIEMEN 10 X 710 DIN 2215 5,00 ST
00.1584.4734 O-RING 94,92 X 2,62 16,00 ST
00.1580.0075 WELLENDICHTRING A    8X22X7 DIN 3760-SI 5,00 ST
00.1581.2517 TOPFMANSCHETTE     65-90-12 5,00 ST
00.1580.0100 WELLENDICHTRING BA  10X18X6 5,00 ST
00.1281.2514 REDUZIERNIPPEL D-1/4I-3/8A 30,00 ST
00.1581.0453 HUTMANSCHETTE  52-70-10-2,5 4,00 ST
00.1580.2570 WELLENDICHTRING BA  34X46X8 5,00 ST
00.1259.6216 GLEITLAGER-GLYCODUR  GLY.PG 15-17-15 F 15,00 ST
00.2531.6028 KETTENRAD 1-FACH  EKR 06 b1 z13 m. NABE 10,00 ST
00.1581.0216 HUTMANSCHETTE  40-66-10-3 3,00 ST
00.1580.4096 WELLENDICHTRING BA  40X68X10 72NBR902-SI 9,00 ST
00.2212.8036 SICHERUNGSEINSATZ   DIII, TRAEGE 58,00 ST
00.2172.7030 PE-HART-VORSCHW.BU. DA75-NW63 2,00 ST
00.1259.6402 ANLAUFSCHEIBE WTM-1224-015 F.GLEITLAGER 16,00 ST
00.1281.2191 KUPPLUNGSSTECKER Typ: KS-1/8 Nr.5366130 15,00 ST
00.1582.0274 NUTRING 16-26-8 9,00 ST
00.1584.4502 O-RING 50,0 X 3,0 19,00 ST
00.1580.2164 WELLENDICHTRING B2  25X52X10 5,00 ST
00.2508.1451 ZAHNRIEMEN 10T10/500 2,00 ST
00.1580.0656 WELLENDICHTRING BA  19X35X10 72NBR902-SI 9,00 ST
00.2171.1176 KAPPE DIN 8063 - K 40 9,00 ST
00.1281.2488 DOPPELNIPPEL E-3/8-3/8 16,00 ST
00.2172.7020 PE-HART-VORSCHW.BU. DA50-NW40 4,00 ST
00.1209.9134 SPANNELEMENT  16 X 20  RFN 8006 5,00 ST
00.1582.6018 ABSTREIFER AS  12-22-5/8 8,00 ST
00.1281.2188 FLEXO-KUPPLUNG FK-M10 1,00 ST
00.1580.4080 WELLENDICHTRING B1  40X55X7 72NBR902-SIM 4,00 ST
00.1581.8248 NUTRING 48-68-10 4,00 ST
00.1270.0500 KUGEL DW25 RB-25 26,00 ST
00.1581.6209 LIPPENRING  41/20-28-5,5 5,00 ST
00.1580.2906 WELLENDICHTRING B2  38X60X10 72NBR902-SI 8,00 ST
00.2212.5048 SICHERUNGEN-GLASROHR DIN41571  10 A 96,00 ST
00.1250.8136 RILLENKUGELLAGER 6304-2RS DIN 625 3,00 ST
00.1581.6100 NUTRING 14-20-4 5,00 ST



00.1580.0940 WELLENDICHTRING B2  22X40X9 5,00 ST
00.1520.2512 KEILRIEMEN 17 X 2160 DIN 2216 2,00 ST
00.2133.1034 MANOMETER GLYZ. 0-250 BAR  G1/4 AXIAL 1,00 ST
00.1580.0454 WELLENDICHTRING B1  16X24X6 72NBR902-SIM 7,00 ST
00.1580.0910 WELLENDICHTRING B1  22X32X7 5,00 ST
00.1259.6190 GLEITLAGER-GLYCODUR  GLY.PG  8-10-10 F 35,00 ST
00.1581.6240 NUTRING 20-28-4 6,00 ST
00.1281.3310 DOPPELGEWINDENIPPEL R1/4 X R3/8 5,00 ST
00.2171.0160 GF-PVC-RED.KURZ     D 40-20 16,00 ST
00.1582.6056 ABSTREIFER     22-30-4/7 8,00 ST
00.1581.6381 NUTRING 32-40-10 6,00 ST
00.1520.2120 KEILRIEMEN 8 X 630 DIN 2215 7,00 ST
00.1582.6036 ABSTREIFER     16-24-5/8 1,00 ST
00.1580.2598 WELLENDICHTRING B2  34X50X10 72NBR902-SI 5,00 ST
00.2531.0213 FALTENBALG NR.20050 F.KUGELFUEHRUNG 2,00 ST
00.2171.1324 GF-PVC-STOPFEN      D 3/8'' 11,00 ST
00.1259.2314 SPANNHUELSEN H 210 DIN 5415 3,00 ST
00.1584.4962 O-RING 260,0 X 5,0 7,00 ST
00.1250.2094 RILLENKUGELLAGER 624-2Z  DIN 625 7,00 ST
00.2171.1184 KAPPE DIN 8063 - K 63 5,00 ST
00.2212.5028 SICHERUNGEN-GLASROHR DIN41571 630 MA 90,00 ST
00.1580.0212 WELLENDICHTRING A   10X26X7 DIN 3760-SI 14,00 ST
00.1580.2362 WELLENDICHTRING BA  30X62X10 72NBR902-SI 4,00 ST
00.2556.0198 LAUFRAD NR.250411 15,00 ST
00.1281.3012 T-STECKANSCHLUSS NR.3104 0800 12,00 ST
00.1724.6706 DRUCKFEDER NR.101060 12,00 ST
00.2171.3008 GF-PVC-SCHN.FAENGER D 20 MM 1,00 ST
00.1580.0547 WELLENDICHTRING B1  17X35X7 72NBR902-SIM 7,00 ST
00.1250.6178 RILLENKUGELLAGER 6205-2RS1/C3 DIN 625 3,00 ST
00.1580.0920 WELLENDICHTRING BA  22X35X7 6,00 ST
00.2150.2254 EINSCHRAUBSTUTZEN GERADE EVGE 8-PLR-ED 6,00 ST
00.1580.0474 WELLENDICHTRING B1  16X30X7 5,00 ST
00.1520.2199 KEILRIEMEN 10 X 1000 DIN 2215 5,00 ST
00.1281.2080 STECKTUELLEN TYP: 21 Nr. L023.0003 16,00 ST
00.2212.8020 SICHERUNGSEINSATZ   D II, TRAEGE 80,00 ST
00.1580.2368 WELLENDICHTRING BA  30X62X7 5,00 ST
00.2505.0026 O-RING 220,0 X 4,0 VITON 2,00 ST
00.1250.4082 RILLENKUGELLAGER 6002-2RS DIN 625 4,00 ST
00.1580.4404 WELLENDICHTRING B2  45X65X12 72NBR902-SI 6,00 ST
00.1580.4450 WELLENDICHTRING B2  47X70X12 2,00 ST
00.1581.0188 HUTMANSCHETTE  32-51-15-3,5 6,00 ST
00.1581.6050 NUTRING 5-14-4,5 6,00 ST
00.2171.0148 GF-PVC-RED.KURZ      D25-20 12,00 ST
00.1250.8066 RILLENKUGELLAGER 6302     DIN 625 8,00 ST
00.1281.0106 SICHERUNGSBLECH MB 9 15,00 ST
00.1520.2264 KEILRIEMEN 13 X 710 DIN 2215 5,00 ST
00.2508.1186 ZAHNRIEMEN SYNCHROFLEX 12T5/255 2,00 ST
00.1584.4196 O-RING 21,95 X 1,78 - N - NBR70 105,00 ST
00.1250.4006 RILLENKUGELLAGER 6000-2Z  DIN 625 5,00 ST
00.1580.2028 WELLENDICHTRING BA  25X33X6 72NBR902-SIM 5,00 ST
00.1724.5028 VERSCHLUßSTOPFEN NR.11.103.1 5,00 ST
00.1520.2178 KEILRIEMEN 10 X 750 DIN 2215 4,00 ST
00.1580.2294 WELLENDICHTRING BA  30X40X7 5,00 ST



00.2533.0184 Zahnriemen 540 L 050 - 12,7x1371,6 1,00 ST
00.1520.2176 KEILRIEMEN 10 X 730 DIN 2216 4,00 ST
00.1520.2192 KEILRIEMEN 10 X 900 DIN 2215 5,00 ST
00.1520.2212 KEILRIEMEN 10 X 1270 DIN 2216 4,00 ST
00.1582.6055 ABSTREIFER AS  25-35-7/10 5,00 ST
00.1520.3052 KEILRIEMEN - SPZ 750 LW 5,00 ST
00.2508.1404 ZAHNFLACHRIEMEN 210 L 100 2,00 ST
00.1580.4401 WELLENDICHTRING BA  45X62X7 72NBR902-SIM 5,00 ST
00.1580.2720 WELLENDICHTRING B2  35X50X10 5,00 ST
00.1582.6060 ABSTREIFER     24-35-5/8 6,00 ST
00.1281.2264 SCHNELLVERSCHRAUBUNG G1/4A-8/10 16,00 ST
00.2505.0022 O-RING 100,0 X 4,5 - VITON 3,00 ST
00.2500.0936 RELAISSOCKEL OMRON     2985 VT 2,00 ST
00.1281.2202 VERSCHRAUBUNG CK-1/8-PK-4 24,00 ST
00.2171.1104 MUFFE DIN 8063-MGI32 3,00 ST
00.1582.6024 ABSTREIFER     14-22-3/4 7,00 ST
00.1520.3354 BREITKEILRIEMEN    240H100 1,00 ST
00.1582.6044 ABSTREIFER     20-30-7/10 6,00 ST
00.1584.4705 O-RING 85,0 X 3,0 50,00 ST
00.1584.4690 O-RING 84,0 X 3,0 18,00 ST
00.2170.4056 GF-PVC-UE.WINKEL    90GR.D32-1 3,00 ST
00.1286.2312 KETTENGLIED 2FACH 3/4 X 7/16 NR.10A 8,00 ST
00.2550.0014 VAKUUMFILTER VAF-PK-6  NR.133105 1,00 ST
00.1580.2036 WELLENDICHTRING A   25X35X7 DIN 3760-SI 9,00 ST
00.1281.2214 VERSCHRAUBUNG CK-1/4-PK-6 16,00 ST
00.1281.2910 EINSTECKHÜLSEN F.ROHR 4X0,85; 404603 87,00 ST
00.1520.2172 KEILRIEMEN 10 X 670 DIN 2215 4,00 ST
00.1580.2298 WELLENDICHTRING BASL30X40X8/10 72NBR902 4,00 ST
00.1580.4095 WELLENDICHTRING B2  40X62X12 72NBR902-SI 5,00 ST
00.2531.0023 PARKER-PRESSARMATUR TYP:1CA48-12-6   9,5 4,00 ST
00.1581.0189 HUTMANSCHETTE  32-63-12-2 3,00 ST
00.2508.1446 ZAHNRIEMEN synchroflex 10T5/410 5,00 ST
00.1581.8310 NUTRING 60-80-10 3,00 ST
00.1520.2282 KEILRIEMEN 13 X 900 DIN 2215 5,00 ST
00.1581.6410 NUTRING 40-50-7 6,00 ST
00.1520.2196 KEILRIEMEN 10 X 975 DIN 2216 4,00 ST
00.2212.5022 SICHERUNGEN-GLASROHR DIN41571 315 MA 70,00 ST
00.1281.2002 KUNSTSTOFF-SCHLAUCH PUN-6X1-BL 19,00 M
00.1520.2166 KEILRIEMEN 10 X 600 DIN 2215 4,00 ST
00.1581.6149 NUTRING 15-25-5 4,00 ST
00.1584.4620 O-RING 72,0 X 2,0 - N - NBR70 19,00 ST
00.2150.4112 VERSCHRAUBUNG KL 10 DIN 2353-ST-GT 4,00 ST
00.1724.6604 DRUCKFEDER NR. S-108-8A 9,00 ST
00.1580.2390 WELLENDICHTRING BA  32X50X8 4,00 ST
00.2223.2090 ENDTASTER-EINS.M.STOESSEL 3SE3000-1A 1,00 ST
00.1580.0580 WELLENDICHTRING A   18X32X27 DIN 3760-SI 5,00 ST
00.1582.5010 ABSTREIFER-PU  D=152,2 E=7,1 3,00 ST
00.1582.6212 QUAD-RING  25,00 X 3,53 9,00 ST
00.1520.2254 KEILRIEMEN 13 X 575 DIN 2216 4,00 ST
00.2212.5046 SICHERUNGEN-GLASROHR DIN41571 6,3 A 80,00 ST
00.1584.4708 O-RING 90,0 X 5,0 - N - NBR70 10,00 ST
00.1281.0102 SICHERUNGSBLECH MB 3 37,00 ST
00.2212.7016 SICHERUNG-NEOZED       D01, 16A 50,00 ST



00.1520.2263 KEILRIEMEN 13 X 690 DIN 2216 4,00 ST
00.2553.1712 BUCHSE F.LUEFTERFL. TYP: CS90/100-30 4,00 ST
00.1281.1100 SCHLAUCHVERBINDUNG RTU-PK-3/3 21,00 ST
00.1582.6526 V-RING  V-150 S 70SHORE 2,00 ST
00.1583.8110 LIPPENRING  42/30-40-7 7,00 ST
00.1584.4308 O-RING 36,0 X 2,0 64,00 ST
00.1261.0066 NADELHUELSE HK 1522 5,00 ST
00.1580.2868 WELLENDICHTRING BA  38X52X7 72NBR902-SIM 4,00 ST
00.1259.6182 GLEITLAGER-GLYCODUR  GLY.PG  6-8-10 F 26,00 ST
00.1581.6404 NUTRING 40-46-4 3,00 ST
00.1583.7990 LIPPENRING      4-12-4,5 6,00 ST
00.1520.2326 KEILRIEMEN 13 X 1775 DIN 2216 3,00 ST
00.1520.2304 KEILRIEMEN 13 X 1250 DIN 2215 3,00 ST
00.1520.3040 SCHMALKEILRIEMEN - SPZ 9,5X562 LW 5,00 ST
00.1583.8126 LIPPENRING  C1/32-42-7 5,00 ST
00.1520.3080 SCHMALKEILRIEMEN - SPZ 912 LW 3,00 ST
00.1581.6386 NUTRING 32-48-8-4  BAUREIHE 1 3,00 ST
00.1580.0304 WELLENDICHTRING BA  15X32X7 5,00 ST
00.1520.2336 KEILRIEMEN 13 X 2100 DIN 2216 2,00 ST
00.1250.2026 RILLENKUGELLAGER 608-2Z - SKF 3,00 ST
00.1582.6006 ABSTREIFER     10-18-5/7 8,00 ST
00.2508.1534 Zahnriemen-STD 200-5 8M-560, 20mm breit 1,00 ST
00.1580.0790 WELLENDICHTRING BA  20X47X10 72NBR902-SI 4,00 ST
00.1584.4144 O-RING 14,0 X 2,4 84,00 ST
00.2508.1470 ZAHNFLACHRIEMEN 187 L 100 2,00 ST
00.1584.4280 O-RING 28,0 x 3,5 - N - NBR70 52,00 ST
00.1520.2188 KEILRIEMEN 10 X 850 DIN 2215 4,00 ST
00.1584.4771 O-RING 103,0 X 6,0 - N - NBR70 7,00 ST
00.1281.3302 DOPPELSTECKNIPPEL METALL D6 9,00 ST
00.1280.8202 Verbindungsleitung NEBU-M8G4-K-5-LE4 1,00 ST
00.2553.0248 LUEFTERFLUEGEL TYP: CS 90 4,00 ST
00.1259.6140 GLEITLAGER-GLYCODUR  GLY.PG 10-12-20 F 11,00 ST
00.1281.3200 STOPFEN DURCHM. 4 28,00 ST
00.1580.2302 WELLENDICHTRING A   30X42X7 DIN 3760-SI 4,00 ST
00.1584.4186 O-RING 20,0 x 3,5 - N - NBR70 52,00 ST
00.1250.2046 RILLENKUGELLAGER 609-2Z - SKF 5,00 ST
00.1580.4820 WELLENDICHTRING BA  55X85X10 2,00 ST
00.2171.0172 GF-PVC-REDUKT.KURZ  D63-32 6,00 ST
00.1281.2346 VERSCHRAUBUNG TCK-3/8-PK-6 2,00 ST
00.2541.0732 Wellendichtring BAUMX7 30x62x7 2,00 ST
00.1250.8040 RILLENKUGELLAGER 6301-2RS DIN 625 3,00 ST
00.1584.4191 O-RING 21,0 X 2,0 - N - NBR70 50,00 ST
00.1281.2414 MUFFE QM-1/8-1/8 19,00 ST
00.1520.2280 KEILRIEMEN 13 X 875 DIN 2216 4,00 ST
00.1584.4510 O-RING 52,0 X 3,0 - N - NBR70 16,00 ST
00.2133.2020 WINK.HEIZ.THERMOMETER  1/2" 1,00 ST
00.1261.0050 NADELHUELSE HK 1312 11,00 ST
00.1584.4156 O-RING 16,0 X 3,0 75,00 ST
00.1584.4736 O-RING 100,0 X 5,0 7,00 ST
00.2212.7028 SICHERUNG-NEOZED       DO2, 35A 24,00 ST
00.1581.2208 TOPFMANSCHETTE     35-9-2,5 5,00 ST
00.1281.2195 KUPPLUNGSSTECKER TYP: KS-PK-4 6,00 ST
00.2150.2014 ERM-GER.E.SCHR.VERS GE 10-LR 8,00 ST



00.1582.6058 ABSTREIFER     22-32-7/10 5,00 ST
00.2225.0224 BEFESTIGUNGS-BAUSATZ SMBR-20 3,00 ST
00.1580.0290 WELLENDICHTRING B1  14X26X7 4,00 ST
00.1584.4086 O-RING 8,73 x 1,78 - VITON 200,00 ST
00.1580.2830 WELLENDICHTRING BA  37X52X8 4,00 ST
00.2212.5042 SICHERUNGEN-GLASROHR DIN41571 3,15 A 91,00 ST
00.1281.2926 DOPPELKEGELRING F.ROHR 10MM; NR. 410611 18,00 ST
00.1259.6143 GLEITLAGER-GLYCODUR  GLY.PG 16-18-20 F 7,00 ST
00.2508.1178 ZAHNRIEMEN SYNCHROFLEX 10T5/355 2,00 ST
00.1580.0776 WELLENDICHTRING B2  20X40X8 2,00 ST
00.1584.4202 O-RING 23,0 X 3,0 N - NBR70 64,00 ST
00.1520.2284 KEILRIEMEN 13 X 925 DIN 2216 4,00 ST
00.1257.0058 AX.RILLENKUGELLAGER DIN 711 - 511 14 2,00 ST
00.2171.1168 KAPPE DIN 8063 - K 25 10,00 ST
00.1584.4456 O-RING 45,0 X 2,0 5,00 ST
00.1584.4990 O-RING 304,1 X 7,0 5,00 ST
00.2508.1176 ZAHNRIEMEN synchroflex 8T5/340 2,00 ST
00.2171.1164 KAPPE DIN 8063 - K 20 9,00 ST
00.2508.1174 ZAHNRIEMEN SYNCHROFLEX 8T5/270 2,00 ST
00.1257.0002 AX.RILLENKUGELLAGER DIN 711 - 511 00 2,00 ST
00.1520.2321 KEILRIEMEN 13 X 1650 DIN 2216 2,00 ST
00.1584.4060 O-RING 6,0 X 2,0 90,00 ST
00.1520.2290 KEILRIEMEN 13 X 1000 DIN 2215 3,00 ST
00.2225.0146 GLEICHRICHTER          KBPC 35/08, 35 A 2,00 ST
00.2553.0456 AUSGLEICHSSCHEIBE F.BREMSE/MOT.DT132S4BM10,00 ST
00.1724.6708 DRUCKFEDER NR.111457 7,00 ST
00.2505.0024 O-RING 100,0 X 5,0 - VITON 2,00 ST
00.1281.2236 STECKNIPPEL G1/4i FÜR DN6 TYP: 520-BA 3,00 ST
00.1580.2212 WELLENDICHTRING BA  28X43X10 72NBR902-SI 3,00 ST
00.2212.8004 SICHERUNGSEINSATZ   D II, TRAEGE 46,00 ST
00.1520.2276 KEILRIEMEN 13 X 850 DIN 2215 3,00 ST
00.1281.2922 KEGELRING F.ROHR 6MM; NR. 406611 29,00 ST
00.1520.2194 KEILRIEMEN 10 X 950 DIN 2215 3,00 ST
00.2225.0148 DIODE DSI 17-14A 1,00 ST
00.1299.9522 Schwingmet.Puffer 25x14 Gew.Bolzen M6x8 6,00 ST
00.1584.4737 O-RING 100,96 X 5,33 5,00 ST
00.1259.6180 GLEITLAGER-GLYCODUR  GLY.PG  6-8-6 F 20,00 ST
00.1583.8192 LIPPENRING  32/64-80-12 2,00 ST
00.1584.4176 O-RING 18,0 X 2,5 - N - NBR70 13,00 ST
00.1584.4305 O-RING 35,0 X 3,5 29,00 ST
00.2531.6020 KETTENRAD 1/2 X 5/16 Z=12  BOHR. 20 H7 1,00 ST
00.1584.4706 O-RING 85,0 X 5,0 21,00 ST
00.1580.2866 WELLENDICHTRING BA  38X50X7 72NBR902-SIM 3,00 ST
00.1281.0091 SICHERUNGSBLECH MB 4 20,00 ST
00.2541.0508 Wellendichtring B1  25x40x6-72NBR902 2,00 ST
00.1584.4301 O-RING 30,0 X 5,0 - N - NBR70 24,00 ST
00.2502.2010 SCHWINGUNGSDAEMPFER 25.11 1,00 ST
00.1584.4630 O-RING 72,62 X 3,53 19,00 ST
00.1581.8208 NUTRING 35-45-8 2,00 ST
00.2171.1160 KAPPE DIN 8063 - K 16 9,00 ST
00.2541.0722 Wellendichtring BAUMX7 60x90x8 1,00 ST
00.1281.0110 SICHERUNGSBLECH MB10 7,00 ST
00.1580.2658 WELLENDICHTRING BABSL 35-52-6-6,5 2,00 ST



00.1584.4700 O-RING 80,0 X 2,0 - N - NBR70 21,00 ST
00.2553.1776 BUCHSE F.LUEFTERFL. TYP: B160-45 2,00 ST
00.1281.2134 SCHLAUCHTUELLE  N 1/2-P 9 4,00 ST
00.2171.1180 KAPPE DIN 8063 - K 50 3,00 ST
00.1281.0114 SICHERUNGSBLECH MB11 12,00 ST
00.1520.2484 KEILRIEMEN 17 X 1575 DIN 2216 1,00 ST
00.1580.0522 WELLENDICHTRING B1  17X30X10 3,00 ST
00.1280.7114 SPERR- U.STROMVENTIL ODER GLIED OS-PK-3 1,00 ST
00.1584.4790 O-RING 110,0 X 2,0 11,00 ST
00.1584.4554 O-RING 60,0 X 5,0 10,00 ST
00.2171.4056 GF-PVC-SCHLAUCHTUE. D 1'' 2,00 ST
00.1250.6202 RILLENKUGELLAGER 6206-2RS DIN 625 1,00 ST
00.1584.4116 O-RING 10,0 X 3,5 - N - NBR70 25,00 ST
00.1584.4188 O-RING 20,0 X 2,0 - N - NBR70 100,00 ST
00.2133.1316 HYDROMETER 1/2"        0-10 MWS ä100 1,00 ST
00.2150.2016 ERM-GER.E.SCHR.VERS GE 12-LR 3,00 ST
00.1281.2198 KUPPLUNGSDOSE  KD-1/4-A 1,00 ST
00.1584.4740 O-RING 102,0 X 3,0 - N - NBR70 10,00 ST
00.1281.3202 STOPFEN DURCHM. 6 14,00 ST
00.2212.8142 SICHERUNGSEINSATZ-NH GR.00/125A 3,00 ST
00.2171.0170 GF-PVC-REDUKT.KURZ  D50-40 4,00 ST
00.1281.2082 KUPPLUNGSSTECKER Typ: KS-N-9 4,00 ST
00.1261.0030 NADELHUELSE HK 1512 - SKF 5,00 ST
00.2212.5018 SICHERUNGEN-GLASROHR DIN41571 200 MA 60,00 ST
00.2212.5032 SICHERUNGEN-GLASROHR DIN41571   1 A 60,00 ST
00.1584.4080 O-RING 8,0 X 2,0 76,00 ST
00.1281.2210 VERSCHRAUBUNG CK-1/4-PK-4 12,00 ST
00.1584.4326 O-RING 33,0 X 3,5 27,00 ST
00.1584.4385 O-RING 40,0 X 5,5 - N - NBR70 10,00 ST
00.2171.1232 GF-PVC-DOPPELNIPPEL D 11/4'' 2,00 ST
00.1584.4580 O-RING 69,2 X 5,7 - N - NBR70 5,00 ST
00.1584.4772 O-RING 104,5 X 3,0 6,00 ST
00.1520.2324 KEILRIEMEN 13 X 1725 DIN 2216 1,00 ST
00.1584.4074 O-RING 7,5 X 2,4 45,00 ST
00.1259.6212 GLEITLAGER-GLYCODUR  GLY.PG 14-16-20 F 10,00 ST
00.1520.2286 KEILRIEMEN 13 X 950 DIN 2215 2,00 ST
00.2553.1650 LUEFTERFLUEGEL TYP: CS 71 3,00 ST
00.1584.4932 O-RING 156,0 X 2,0 4,00 ST
00.1584.4278 O-RING 28,0 X 2,0 94,00 ST
00.1281.0118 SICHERUNGSBLECH MB12 9,00 ST
00.1584.4948 O-RING 174,0 X 3,0 4,00 ST
00.1581.4520 TOPFMANSCHETTE DUO 12-60-27 1,00 ST
00.2170.0016 PVC HART-ROHR 20 X 1,5 DIN 8062 6,00 M
00.1281.0095 SICHERUNGSBLECH MB 6 7,00 ST
00.1580.0479 WELLENDICHTRING B2  16X30X10 72NBR902-SI 4,00 ST
00.1582.2230 NUTRING 110-125-10 1,00 ST
00.2212.8140 SICHERUNGSEINSATZ-NH GR.00/100A  3NA1021 3,00 ST
00.1520.2404 KEILRIEMEN 17 X 710 DIN 2215 2,00 ST
00.1520.2291 KEILRIEMEN 13 X 1041 DIN 2216 2,00 ST
00.1584.4384 O-RING 40,0 X 3,0 - N - NBR70 21,00 ST
00.1580.6468 WELLENDICHTRING BA  75X100X10 1,00 ST
00.1584.4254 O-RING 25,1 X 2,6 15,00 ST
00.1584.4796 O-RING 113,66 X 5,33 9,00 ST



00.2170.6024 ROHRVERSCHRAUBUNG DIN 8063-V2-25 PVC 1,00 ST
00.1584.4306 O-RING 36,0 X 3,0 - N - NBR70 51,00 ST
00.1724.6782 O-RING NR.61   F.WAHL-DOSIERPISTOLE HDP 6,00 ST
00.1584.4780 O-RING 106,0 X 3,0 - N - NBR70 5,00 ST
00.1520.2171 KEILRIEMEN 10 X 650 DIN 2215 2,00 ST
00.1281.3001 STECKANSCHLUSS GERADE D4 2,00 ST
00.2150.2020 VERSCHRAUBUNG DL 15 DIN 2353-ST-GT 25,00 ST
00.2171.4072 GF-PVC-SCHLAUCHTUE. D 25 MM 3,00 ST
00.1584.4590 O-RING 63,0 X 2,0 18,00 ST
00.2556.0160 STIRNRAD NR. 22 10 023 1,00 ST
00.1281.0070 SCHALLDAEMPFER TEIL 14  F. WRV 2VS 2,00 ST
00.1584.4282 O-RING 28,0 X 5,0 25,00 ST
00.1584.4042 O-RING 5,0 X 2,0 40,00 ST
00.1584.4200 O-RING 25,0 X 2,5 - N - NBR70 27,00 ST
00.1584.4520 O-RING 58,0 x 3,5 - N - NBR70 19,00 ST
00.1584.4926 O-RING 150,0 X 3,0 8,00 ST
00.1584.4512 O-RING 52,0 X 5,0 8,00 ST
00.1584.4290 O-RING 29,82 x 2,62-N-NBR70 19,00 ST
00.1584.4174 O-RING 17,17X1,78-N-NBR70 74,00 ST
00.1580.2150 WELLENDICHTRING A   25X47X7 DIN 3760-SI 2,00 ST
00.2212.8136 SICHERUNGSEINSATZ-NH GR.00/80 A  3NA1020 3,00 ST
00.1584.4550 O-RING 60,0 X 2,0 - N - NBR70 28,00 ST
00.1580.0468 WELLENDICHTRING BA  16X28X7 2,00 ST
00.1584.4172 O-RING 17,0 X 4,0 13,00 ST
00.1281.2660 VAKUUM-SCHLAUCH   NW  6 X 2,0 3,00 M
00.1584.4552 O-RING 60,0 X 4,0 - N - NBR70 23,00 ST
00.1584.4786 O-RING 107,32 X 5,33  SHORE 80 5,00 ST
00.1584.4556 O-RING 62,0 X 2,0 - N - NBR70 3,00 ST
00.1584.4820 O-RING 120,0 X 5,0 4,00 ST
00.1584.4560 O-RING 68,0 X 2,0 - N - NBR70 22,00 ST
00.2212.8008 SICHERUNGSEINSATZ   D II, TRAEGE 20,00 ST
00.1520.2158 KEILRIEMEN 10 X 500 DIN 2215 2,00 ST
00.2170.0010 PVC HART-ROHR 16 X 1,2 DIN 8062 9,00 M
00.2508.1173 ZAHNRIEMEN SYNCHROFLEX 5T10/500 1,00 ST
00.1584.4692 O-RING 84,0 X 3,5 9,00 ST
00.1584.4558 O-RING 64,0 X 3,0 - N - NBR70 6,00 ST
00.2225.0222 BEFESTIGUNGS-BAUSATZ SMBR-16 1,00 ST
00.2552.8018 ZAHNFLACHRIEMEN 187 L 050 1,00 ST
00.1584.4130 O-RING 12,0 X 1,7 - N - NBR70 32,00 ST
00.1584.4954 O-RING 190,0 X 3,0 3,00 ST
00.2212.5036 SICHERUNGEN-GLASROHR DIN41571 1,6 A 32,00 ST
00.1584.4390 O-RING 42,0 X 5,0 - N - NBR70 17,00 ST
00.1584.4302 O-RING 32,0 X 2,0 - N - NBR70 53,00 ST
00.1584.4175 O-RING 18,0 X 1,0 55,00 ST
00.1520.2296 KEILRIEMEN 13 X 1120 DIN 2215 1,00 ST
00.1281.0130 SICHERUNGSBLECH MB 2 5,00 ST
00.1584.4320 O-RING 33,0 X 1,3 8,00 ST
00.1281.2422 MUFFE QM-3/8-3/8 3,00 ST
00.1584.4800 O-RING 115,0 X 2,5 4,00 ST
00.1584.4270 O-RING 26,2 X 3,0 - N - NBR70 16,00 ST
00.1584.4920 O-RING 140,5 X 3,0 6,00 ST
00.2212.5034 SICHERUNGEN-GLASROHR DIN41571 1,25 A 30,00 ST
00.1584.4206 O-RING 23,0 X 2,0 - N - NBR70 53,00 ST



00.1584.4442 O-RING 44,0 X 4,0 - N - NBR70 19,00 ST
00.1281.0142 SICHERUNGSBLECH MB14 4,00 ST
00.1584.4784 O-RING 107,54 X 3,53 6,00 ST
00.1281.0093 SICHERUNGSBLECH MB 5 8,00 ST
00.1584.4731 O-RING 92,0 X 4,0 - N - NBR70 8,00 ST
00.1580.4624 WELLENDICHTRING BA  52X72X12 1,00 ST
00.1584.4262 O-RING 26,0 X 3,5 24,00 ST
00.1584.4604 O-RING 65,0 X 3,0 6,00 ST
00.1584.4632 O-RING 75,0 X 4,0 6,00 ST
00.1584.4860 O-RING 134,4 X 3,5 5,00 ST
00.2171.1036 MUFFE DIN 8063 - M 50 1,00 ST
00.2150.2112 ERM-GERADE VERSCHR. G  8-L 2,00 ST
00.1581.2464 TOPFMANSCHETTE     53-75-15 1,00 ST
00.1584.4830 O-RING 120,02 X 5,33 3,00 ST
00.1584.4210 O-RING 24,0 X 3,0 - N - NBR70 9,00 ST
00.1584.4380 O-RING 39,2 X 5,7 - N - NBR70 4,00 ST
00.1281.0099 SICHERUNGSBLECH MB 8 6,00 ST
00.1580.0077 WELLENDICHTRING BA   8X22X8 72NBR902-SIM 2,00 ST
00.1281.0097 SICHERUNGSBLECH MB 7 6,00 ST
00.1281.2418 MUFFE QM-1/4-1/4 3,00 ST
00.1584.4940 O-RING 158,12 X 5,33 1,00 ST
00.1259.6198 GLEITLAGER-GLYCODUR  GLY.PG 10-12-10 F 4,00 ST
00.1584.4250 O-RING 25,0 X 5,0 - N - NBR70 14,00 ST
00.1584.4362 O-RING 35,0 X 2,5 11,00 ST
00.1584.4185 O-RING 20,0 X 1,3 16,00 ST
00.2212.5040 SICHERUNGEN-GLASROHR DIN41571 2,5 A 21,00 ST
00.1584.4386 O-RING 40,0 X 2,5 - N - NBR70 12,00 ST
00.1584.4360 O-RING 35,0 X 2,0 22,00 ST
00.1584.4570 O-RING 66,0 X 4,0 2,00 ST
00.1584.4304 O-RING 35,0 X 3,0 - N - NBR70 11,00 ST
00.2121.6140 LUFTSPRUDLER           I-GEW. M22X1 2,00 ST
00.1584.4203 O-RING 25,0 X 2,0 31,00 ST
00.1281.2248 WINKELSTUECK M.DICHTUNG G-1/4 - A/I 1,00 ST
00.1583.8010 LIPPENRING  31/12-22-5 2,00 ST
00.1584.4588 O-RING 63,0 X 4,0 4,00 ST
00.1251.6046 SCHRAEGKUGELLAGER 3213 DIN 628 2,00 ST
00.1584.4204 O-RING 25,0 X 3,0 - N - NBR70 19,00 ST
00.1584.4500 O-RING 50,0 X 2,0 - N - NBR70 8,00 ST
00.1584.4514 O-RING 56,0 X 4,0 3,00 ST
00.1584.4173 O-RING 17,3 X 2,4 25,00 ST
00.1584.4382 O-RING 38,0 X 3,0 6,00 ST
00.1584.4516 O-RING 57,0 X 2,5 - N - NBR70 8,00 ST
00.1584.4410 O-RING 40,0 X 2,0 17,00 ST
00.1584.4168 O-RING 17,0 X 2,0 39,00 ST
00.1584.4099 O-RING 10,0 X 1,5 - N - NBR70 51,00 ST
00.2556.0290 DICHTUNGSGUMMI 0,50 M
00.1584.4158 O-RING 16,0 X 4,0 - N - NBR70 10,00 ST
00.1584.4624 O-RING 72,0 X 3,0 9,00 ST
00.1584.4100 O-RING 10,0 X 2,0 13,00 ST
00.1584.4187 O-RING 20,0 X 1,5 17,00 ST
00.1584.4140 O-RING 14,5 X 2,5 - N - NBR70 16,00 ST
00.2502.5042 LAMELLE (LAUFRING) NR.229 FUER VCL15VE 250,00 ST
00.1584.4548 O-RING 59,2 X 5,7 - N - NBR70 2,00 ST



00.1584.4420 O-RING 40,0 X 5,0 4,00 ST
00.2212.5038 SICHERUNGEN-GLASROHR DIN41571   2 A 13,00 ST
00.1584.4137 O-RING 12,5 X 2,0 26,00 ST


